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inleiding

Deze PDF bevat de theorie die bij de BxMO en EMC nuttig is om zo een kort overzicht te kunnen
houden van hetgeen noodzakelijk is voor die competities.

Op Olympia kan men de 2 competities bekijken om het echte problem-solving in te oefenen !!!
BxMO

EMC

Veel succes en plezier met de mooie problem-solving die te ontdekken valt.

werking

De bedoeling is dat volgende onderwerpen worden doorlopen door de theorie volledig door te
nemen.
Via de links op Olympia geeft men enkele zeer goede voorbeelden om te oefenen.
Het is belangrijk dat men de voorbeelden en theorie goed snapt en de tijd durft te nemen om lang
genoeg te proberen de oefeningen op te lossen voor de echte ervaring.
Wie oefeningen wil per onderwerp, kan de volledige bundel bekijken.
Indien een onderwerp onduidelijk is, kan men een link naar completer bestand vinden over dat
onderwerp met meer voorbeelden
( soms ook al theorie die verder in het hoofdstuk stond of een competitievraag die ook in de
vragenlijst stond, die dan natuurlijk niet zelf meer moet worden ingezonden als ze er nog niet
opgelost was).

De volgorde van de onderwerpen apart kan men kiezen en makkelijk terug vinden:

combinatoriek
algebra en analyse
getaltheorie
meetkunde

Bij raad, opmerkingen of vragen ivm de bundel,
kan men dit via melden.

De nieuwste versie van deze bundel is dan te vinden op met aanpassingen


http://olympia.problem-solving.be/archief/122
http://olympia.problem-solving.be/archief/171
 http://olympiapdf.webklik.nl/page/homepage

1  problem-solving inleiding

Problem-solving is iets meer dan gewoon uitrekenenen.
Merk trouwens op dat een vraag met identieke oplossing niet steeds even makkelijk is:

Bewijs dat 2* een veelvoud geeft dat enkel bestaat uit enen en tweeen.
Men kan hier direct een inductie op het aantal factoren 2 uitvoeren.

Bewijs dat 2F een veelvoud geeft dat geen nullen bevat.
Wanneer men dit wil bewijzen voor een getal als 24° | zit er niet direct een logica achter omdat er
heel veel mogelijkheden zijn.

Soms kan een extra voorwaarde de vraag dus zelfs vergemakkelijken en moet men zich niet laten
afschrikken door lange vragen.

Het bewijzen van een vraag wordt meestal gedaan door logische argumenten op te sommen die
leiden tot de oplossing.

Er zijn echter wat strategieen om de vragen op te lossen die we uitleggen en verschillende manieren
van bewijs,
samen met wat basistheorie die frequent toegepast wordt.

We leggen kort uit hoe men een problem-solving-vraag kan oplossen a.h.v. een strategie van een
internationaal gekend bestand dat uitgewerkt is met een eenvoudig IMO-voorbeeld.



Voorbeeld 1.1. Bewijs dat de breuk ﬁZig voor geen enkel natuurlijk getal n vereenvoudigbaar is.

stap 1: het begrijpen

Men bedoelt hier dat ﬁjﬁié een breuk is die niet vereenvoudigbaar is voor ieder natuurligk getal
dat we invullen.

Voor n =1 hebben we de breuk % dat inderdaad onvereenvoudigbaar is.

We moeten het echter bewijzen voor alle natuurlijke getallen en kunnen dus niet alle gevallen
afgaan.

stap 2: ideeen krijgen

Een breuk is onvereenvoudigbaar als de moemer en teller niet kunnen geleeld worden door een
getal > 1, wat betekent dat ze onderling priem moeten zijn.

We zullen dus bewijzen dat de noemer en teller relatief priem zijn.
stap 3: ideeen uitwerken

TB: ggd(21n+4,14n+3) =1

als |21n 4+ 4 dan is r|(21n + 4) - m waarbij m geheel is.

Zo geldt ook als r|21n + 4 dat r|(21n 4+ 4) - p waarbij p geheel is.

Het verschil van 2 veelvouden van r is zelf ook een veelvoud van r en dus kunnen we r|(21n +

4)m — (14n + 3)p uitwerken,
daar |(21n+4)m — (14n+ 3)p| > r als het verschillend van 0 is, hebben we een voorwaarde voor r.

|(21n + 4)m — (14n + 3)p| = 1 bewijst ons gevraagde.

We merken op dat m =2 en p = 3 werkt.

stap 4: controle en oplossing uitschrijven

We controleren of onze ideeen voldoende zijn om het bewijs sluitend te maken:
bewijs

g9d(21n + 4, 14n + 3)|3(14n + 3) — 2(21n + 4) = 1, waarbij we opmerken dat 14n + 3 en 21n + 4
beide verschillend van 0 zijn.
Dit betekent dat ggd(21n +4,14n 4+ 3) =1

Omdat de teller en noemer relatief priem zijn, is ﬂﬁig een onvereenvoudigbare breuk voor alle

natuurlijke getallen n.

Het echte bestand kan je vinden in het Engels in bijlage via problem-solvingstrategieen



2 combinatoriek + algemene problem-solving

2.1 Dbasis

dubbeltellen
Men kan bepaalde eigenschappen combinatorisch bekijken om eigenschappen elegant te bewijzen.

* Het is belangrijk dat men dus de klassieke formules om te tellen kent:
*k elementen in volgorde plaatsen met keuze uit n elementen kan op (nﬁi'k)' manieren,

¥ manieren om rijen te vormen

*indien elementen meerdere keren mogen voorkomen, hebben we n
van k elementen

*indien de volgorde niet belangrijk is, hebben we () = (n_”ik'),k, manieren om k elementen te
selecteren uit n waarden

*het aantal permutaties van een set {a1,as, - ,as} waarbij a; k; keer voorkomt en er in totaal n

elementen zijn, is gelijk aan ek

Deze linken op 2 manieren aan een zelfde probleem, kan leiden naar een contradictie of een
ongelijkheid.

extremaalprincipe

Men bekijkt het kleinste of grootste element van een verzameling en door naar bepaalde eigen-
schappen te kijken of bewerkingen uit te voeren,
zien we dat er een groter/ kleinere waarde is, zodat ons extremum fout is, waardoor er oo veel
elementen waarden zijn OF de vraag onmogelijk is.

We kunnen een oneindige afdaling doen bvb. om te zien dat er geen enkele waarde is die voldoet.
identiteiten

a®+ b2+ ¢ —3abe = (a+ b+ c)(a® + b2 + 2 — ab — ac — be)

n* + 4z* = (n? + 222 — 2zn)(n? + 222 + 2zn) ( identiteit van Sophie-Germaine)

ap + bg met ggd(p,q) = 1 en a,b € N kan alle waarden groter dan pg — ¢ — p aannemen, pg—p —q
is de grootste waarde die niet zo te schrijven is. (postzegelidenteit)



2.2  bedekkingen

Soms wordt in een vraag de mogelijkheid om iets te bedekken gevraagd.

Door een kleuring te gebruiken (enkele vakken in groepen verdelen) en eigenschappen zoals de
pariteit te bekijken per object,
probeert men te bewijzen dat het al dan niet kan.

Voorbeeld 2.1. Bewijs dat een m x nrechthoek enke volledig bedekt kan worden met d x 1-blokken
als dlm en/ of d|n.

Bewijs. Het is triviaal dat d|mn moet gelden.

Bekijk het rechthoek als de unie van roosterpunten, zodat (1, 1), (1,n), (m,n), (m, 1) de hoekpun-
ten zijn.

Kleur (4, j) met een kleur t =i+ j (mod d) zodat ¢t € {1,2,-,d} zit.
Het is duidelijk dat ieder d * 1 blokje nu ieder kleur exact 1 keer bedekt.
Er moet dus gelden dat ieder kleur even vaak voorkomt, wat niet zo is:

Zij m = kd+penn = dl + g, dan bevat het m x dl bord ieder kleur even vaak, alsook het
kd *x g-bord.

Het overige p * ¢ bord kan onmogelijk ieder kleur even vaak hebben.
Omdat d|pq moeten ggd(d,q) en ggd(d,p) > 1 zodat het volgende geldt:

Als p+ g < d komt het kleur d er niet voor of slechts 1 keer terwijl pg > d.
Als p+ g > d komt het kleur d er ¢ + p + 1 — d keer voor, terwijl kleur d — 1 er ¢ + p + 2 — d keer
voorkomt.
Contradictie en dus komt niet ieder kleur even vaak voor en is er geen bedekking mogelijk.



2.3 inductie

Bij inductie wordt een uitdrukking bewezen voor alle natuurlijke getallen vanaf k, dit door het te
bewijzen voor k. (inductiebasis IB)
Vervolgens als het geldt voor n, bewijst men dat het ook geldt voor n + 1.

Bij volledige inductie bewijst men bij de tweede stap dat de vraag geldt voor n + 1 als het waar
was Vi € {k,k+1--- n}

Voorbeeld 2.2. (kleine stelling van Fermat) Er geldt dat n? = n (mod p) als p priem is ¥n € N.

Bewijs. Voor n =0 en 1 is de vraag de triviaal. (IB)
Als de vraag geldt voor n, bewijzen we dat (n+ 1)P =n+ 1 (mod p).

Lemma: Er geldt dat p| (’Z’) als 0 < i < p omdat !, (p — 7)! geen factoren p bevatten.

(n+1)P=n?+1+ Y2 (")n’ =n? + 1 =n+1 (mod p) door de inductiebasis en ons lemma.
Met inductie geldt de stelling van Fermat nu voor alle getallen n € N.

O



2.4 invariantie en contradictie

Wanneer men wil bewijzen dat iets niet kan bij een combinatorische vraag, zijn er enkele manieren
die vaak werken:

I Men zegt vanuit het ongerijmde dat de vraag wel kan opgelost worden en door de eigen-
schappen van de oplossing te bekijken,
bekomt men een contradictie waardoor er geen oplossing kon zijn (het ongerijmde was fout)

IT Men bekijkt een eigenschap die invariant is in de vraag, waarbij die eigenschap bij de start
en het einde verschillend is, waaruit volgt dat we het einde nooit kunnen bereiken.

IIT Men gebruikt een eigenschap die monotoon is bij iedere stap met een minimaal verschil,
wanneer de eigenschap begrensd is, zijn er slechts een eindig aantal oplossingen.

opmerking Natuurlijk moet je opletten als je blijft proberen te bewijzen dat het niet werkt,
dat er niet gewoon wel een oplossing was.

Voorbeeld 2.3. We hebben de getallen van 1 tot 2012° in een pot gestoken.

Iedere keer als we 2 getallen x eny eruit halen, worden ze vervangen door (x—1006)(y—1006)+1006
en steken dit ene getal terug in de pot.

Welk getal kunnen we vinden als er slechts 1 getal meer in de pot zit?

Bewijs. Merk op dat het getal 1006 en x vervangen wordt door 1006 en dit getal invariant blijft
(in de pot terug wordt gestoken).

Dit getal blijft dus in de pot en zal het laatste getal 1006 zijn.

10



2.5 duivenhokprincipe (DVH-principe)

Zijn n, k € Ny.
Als men n duiven verdeelt over k£ duivenhokken, dan bestaat er een duivenhok dat minstens
| %2 ] + 1 duiven bevat.

Voorbeeld 2.4. Binnen een cirkel met straal 16 liggen 650 gegeven punten.

Definieer een ring als het vlakdeel dat begrepen is tussen twee concentrische cirkels met stralen 2
en 3 respectievelijk.

Bewijs dat men een ring kan plaatsen zodat minstens 10 van de 650 punten bedekt worden door
deze ring.

Bewzijs. Maak de cirkel met straal 16 nog iets groter tot een straal van 19.

Teken rond ieder van de 650 punten een ring.

De som van de oppervlakten van de ringen is 650 * 57 = 32507 en deze liggen allen in de cirkel
met oppervlakte 361.

Toevallig is 3250 = 9 % 361 4+ 1 zodat er wegens 't DVH-principe een punt is dat in 10 ringen ligt.
Wanneer men nu een ring legt met centrum dat punt, waren er min. 10 centra van die 650 punten
op een afstand tussen 2 en 3 zodat ze op onze geplaatste cirkel liggen.

Hiermee is het gevraagde bewezen.

11



2.6 winnende strategieen

Bij een vraag moeten we bewijzen dat iemand een winnende strategie heeft bij een spel,
dit kan door een kleuring of modulorekenen of andere elegante eigenschappen die worden uitgebuit.

stelling van Zermelo

Deze stelling zegt dat ieder spel tussen 2 personen waar toeval niet in meespeelt, geen gelijkspel
mogelijk is en de spelers elk op hun beurt een zet doen:
1 van de 2 spelers geeft dan een winnende strategie.

Voorbeeld 2.5. (QED-competitie )

ALbert en Philip bestellen een zak met 2011 frieten. Albert start met het eten van enkele frieten
en eet om zijn beurt met Philip. Ze vorken 1,2,5 frietjes op per keer. Degene die de laatste friet
opeet, betaalt de rekening. Bewijs dat Philip zign portemonnee kan laten zitten.

Bewijs. Als Albert 1 frietje neemt, neemt Philip er 2.
Nam Albert er 2 of 5 neemt Philip er 1. Op die manier is er na Philip’s beurt steeds een 3voud
opgegeten, zodat hij niet de 20119¢ friet at.

O
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2.7 meetkunde binnen de combinatoriek

Het gebeurt vaak dat er interessante vraagjes over een meetkundige constructie plaats vindt op
een grote olympiade.

Men kijkt naar specifieke eigenschappen die vaak logisch zijn en simpel te bewijzen zijn in een
lemma.

Een logische stelling is de volgende

Stelling 2.6. (tapijtenstelling)

Wanneer enkele tapijten die samen de oppervlakte van de kamer hebben gelegd worden, is de
oppervlakte die dubbel gelegd werd, gelijk aan de opperviakte die niet bedekt werd.
Indien iets m > 2 keer belegd werd, moet je wel m — 1 keer de oppervilakte rekenen.

13



2.8

veeltermen en complexe getallen gebruiken

. wortels en ontbinding;:

Een niet-constante veelterm van graad n heeft exact n complexe nulpunten (niet noodzakelijk
verschillend).

Indien P(a;) = 0 voor i als n + 1 waardenis, dus allen een wortel een wortel zijn van een
veelterm met graad P, dan is die veelterm de nulveelterm.

complexe wortels:

. 27 . — n—1
Vn € Nisw, =e™n een eenheidswortel, omdat w)) =1 en 0=1+wy, +--- +wp ' = 22—
n

rational root theorem:

Zij f(X) = ap, X™ + n_1 X" 1+ 4+ a1 X + ag een veelterm met gehele cofficinten en als
geldt dat de breuk g een wortel van f is met ggd(p, q) = 1, dan geldt dat plag en ¢lay,.

delingsalgoritme:

Zij f(X) een veelterm met domein R met R = Q, Rof C dan zijn er veeltermen p(X), ¢(X), r(X) €

R[X] zodat f(X) = p(X)q(X)+r(X) met de graad van r kleiner dan die van f, hierbij zijn
q,r uniek in functie van p.

Vieta :
f(X)=a, X"+ a, 1 X"+ -+ a1 X + agp heeft de n nulpunten z; tot z,, dan geldt dat

(_1)ian—i _ . . .
T an Zsym 2j1%52 """ Zji
veeltermvergelijkingen:

Voor alle veeltermen met gehele cofficinten geldt dat a — b|P(a) — P(b) als a, b verschillende
gehele getallen zijn.

Een veelterm construeren, kan dus veel informatie geven en eist wat oefenen.

14



2.9 irreducibiliteit

defenitie

Een veelterm f(x) € R[z] is reducibel als er niet-constante veeltermen g, h € R[X] bestaan zodat
f(z) = g(z)h(z), in het andere geval is f irreducibel.

lemma van Gauss f is irredubel over Z aesa ze irreducibel is over Q.

criterium van Eisenstein

Zij f(x) = fax™ + fn_12" "t + -+ fiz + fo een veelterm over Z.
Als er een priemgetal p bestaat zodat p|fy Vk € {0,1,--- ,n— 1}, p [ffn en p? [fo ,
dan is f(x) irreducibel over Z.

uitbegreid criterium van Eisenstein

Zij f(x) = fax™ + fn_12" "t + -+ fiz + fo een veelterm over Z.
Als er een priemgetal p bestaat zodat p|fy Vk € {0,1,--- ,t} , p [fir1 en p* [fo ,
dan geeft f(z) een irreducibele deler van graad >t + 1 over Z.

reductie mod p

Zij f(x) = fox™ + fo_12™ 1 + -+ fiz + fo een veelterm over Z en p een priemgetal. Als
() = gnx™ + gn_12" "t + -+ g1 + go de veelterm is met p|g; — f; en g; € {0,1,--- ,p—1}. Als
p ffn en g(z) is irreducibel, is f(z) dat ook.

15



2.10 grafentheorie

Een graaf bestaat uit een verzameling V' van knopen of vertices, en uit een eindige verzameling F
van zijden of edges. Alle zijden zijn paren van knopen. Twee knopen X, Y zijn verbonden als er
zijde {X,Y} (XY) is.

Hierbij geven we wat uitleg over de terminologie:

e Een propere graaf is een een graaf waarbij iedere zijde verbonden is met een andere zijde en
geen enkel punt met zichzelf verbonden is.

e Een gerichte graaf is een graaf waarbij de zijden gericht zijn.

e Een complete graaf K, is een propere graaf met n punten waarbij iedere 2 punten verbonden
zijn met 1 zijde.

e Een k-partiete graaf is een graaf waarvan de set met de punten kan worden verdeeld in k
disjuncte deelgrafen waarbij in iedere deelgraaf er geen enkele zijde is die 2 punten uit die
deelverzameling verbindt.

In een bipartite (letterlijk: ”2-delige”) graaf is de verzameling van knopen V opgesplits in
twee delen: V; en V5. De enige toegelaten zijden gaan verbinden knopen van V; met knopen
van V5. Er zijn dus geen zijden met twee knopen inVi, noch met twee knopen in V5.

e De graad van een knoop k (notatie d(k) of deg(k)) is het aantal keren dat k een eindpunt is
van een zijde, er geldt uiteraard dat > d(z) = 2|E|

e een pad is een opeenvolging van verschillende punten die met elkaar verbonden zijn via
zijden, indien het start- en eindpunt a en b zijn, is de afstand d(a,bd) gelijk aan het aatal
zijden bij het kortste pad van a naar b.

e indien bij een pad het eind- en beginpunt hetzelfde is, noemen we het een cyclus
e cen graaf is verbonden als voor ieder paar punten er een pad is, die de 2 punten verbindt

e cen verbonden graaf zonder cycels heet een boom, een boom heeft exact n — 1 zijden en
minimum 2 punten met afstand 1.

e Een Hamiltoncykel is een cykel die ieder punt exact 1 keer bevat

e cen Eulerpad is een pad waarbij alle zijden tot het pad behoren
Een Eulercycel is een cycel die alle zijden aandoet.

e een planaire graaf is een graaf waarbij de zijden met lijnen kunnen worden getekend die
elkaar niet snijden, zo'n graaf met n punten heeft maximaal 3n — 6 punten

16



stellingen van Euler

Een simpele, samenhangende graaf bevat een Euler-cykel dan en slechts dan als de graad van alle
knopen even is.

Een verbonden, planaire graaf met v knopen, e zijden en f gebieden (gebeid= deel van het vlak
omringd door zijden), houdt zich aan de regel v + f = e + 2, dat geldt dan ook voor de convexe
veelvlakken, waarbij f voor het aantal vlakken staat.

stelling van Turan

Als een simpele graaf met n =t(p — 1) + r punten met 0 < r < p — 1 meer dan

(p—2)n*—r(p—1-r)
2(p—1)

zijden heeft, bestaat er een K, die een subgraaf is.

stelling van Hall Neem een bipartiete graaf met X,Y de subgrafen die inwendig geen zijden
bevatten:

indien voor elke deelverzameling S van X, de elementen van S samen met minimum |S| elementen
van Y verbonden zijn, dan is er een matching die alle elementen van X matcht.

Hierbij is | X| > |Y| en bedoelen we met een matching dat ieder punt van X met een uniek punt
van Y verbonden is met een zijde ( een punt in Y is maximaal 1 keer verbonden).

stelling van Kuratowskil
Een graaf is planair aesa het K5 en k3 3 niet bevat.
stelling van Ramsey

Deze stelling zegt dat een complete graaf met minimum R(ny,--- ,n.) waarvan de zijden in c
kleuren 1,2--- ¢ gekleurd worden, dan bestaat er een complete subgraaf met n; punten waarvan
alle zijden in kleur ¢ gekleurd zijn.

Gekende voorbeelden zijn R(3,3) = 6,R(3,3,3) = 17 en in het algemeen is de bovengrens ;
R(3,3,---,3) < |kle] +1
—_———
k

Zij die dit te kort uitgelegd vonden of er meer over willen weten, kunnen deze bijlage doornemen

17



3 algebra

3.1 ongelijkheden

Stelling 3.1. (extremaaltechniek)

Als een functie f convex of lineair is in alle variabelen x1, - , T, ,
geldt dat het mazimum optreedt wanneer alle variabelen gelijk zijn aan het minimum of mazximum.

Stelling 3.2. (AM-GM-HM) Voor n € N aq, ..., a,, > 0 geldt:

a1 +as+---+an n

> Yaiao - Qp > —m8
n = 142 =1, g

1
al Qn

hints:

* Kwadraten zijn positief
* ontbindingen
* maximum/minimum beschouwen van de variabelen
* zorgen dat de gelijkheidsgevallen niet verdwenen zijn en in die gevallen nog gelijkheid blijft
gelden
( men mag dus de vraag niet te veel vereenvoudigen dat de laatste stappen niet waar meer zijn)
* homogeniseren; zorgen dat de graad van iedere veelterm gelijk is
om zo passende voorwaarden te mogen stellen en de gewone stellingen te kunnen toepassen
* substituties: vervangen van de variabelen door een combinatie van nieuwe variabelen om de
ongelijkheid te vereenvoudigen

Stelling 3.3. (Cauchy-Schwarz [CS] )
Voor ay,--- ,an,b1, -+ ,b, € R geldt:
(a3 +a3+...+a2) (b + b3+ ... +b2) > (arby + ... +anby)>.

Geligkheid treedt op als en slechts als p (Zl ZQ Z”) <1.
1 by -+ by,

a;

( de waarde §* constant is voor alle i)
k3
Dit kan witeraard worden vervormd in andere vormen zoals:

(Cauchy-Schwarz in Engelvorm) Voor aq,...,a, € R en by, ...,b, > 0 geldt:

ﬁ+$§+'-'+ﬁ > (a1+a2+--~+an)2.
bi = by bn by + bz + .. + by

Stelling 3.4. (Orde-ongelijkheid ) Zija; > ... > an >0 en by > ... > b, > 0.

Dan s

H(ai + bn+1—i) > H(ai + bj) > H(al + bz)

en

Zaibi > Zaibj > Zaibn+1—i
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Stelling 3.5. (Holder)

Zij Py,pa,- - ,pr € RT > 0 en neem k rijen van n positieve, rele getallen met a;; het element
van de i% rij en j% kolom en s = ﬁ Dan geldt er dat
Pr1 Pk

n
v [ 4Pi Pi : S 48 ...pS
H Vag +-tay > ¢ E aj;as; - ag;
i=1 j=1

Stelling 3.6. (Minkowski) Zij p >r € R™ >0 en neem k rijen van n positieve, rele getallen met
ai; het element van de i% rij en j9° kolom. Dan geldt er dat

Stelling 3.7. (Gewogen Jensen) Zij I een interval, a; € I, k; € Ry en f tweemaal afleidbaar.
Als f convex is op I, dan is

kl'f(a1)+"'+kn'f(an) >f<k1a1+"'+knan>
i+ 4k, - i+ 4k, ’

Als f concaaf is op I, dan is

k- fla1) + -+ kn - f(an) <f<k1a1+"'+knan>
ki +-+ky - ko4t kn )

Gelijkheid treedt op als en slechts als ofwel alle a; geligk zijn, ofwel de functie een rechte is.

gevolgen

Stelling 3.8. (gewogen AM-GM) Voor alle a;, k; > 0 geldt dat

kiay + keas + - - - + knan > k1+...+kn/a]1€1al2€2 . aifln.
ki+ke+---+ky

Stelling 3.9. (gewogen QM-AM) Voor alle a;, k; > 0 geldt dat

k1a§+k2a%+~~+knai k1a1+k2a2+~~+knan
i+t kn T kitket+k,

Stelling 3.10. (gewogen GM-HM) Voor alle a;, k; > 0 geldt dat

frtotby | Ky ko ko ki+---+kn
al a2 cee Ay Z T T .
a_i'_g_l’_..._i'_i

an

Stelling 3.11. (Gewogen Power-Mean Ongelijkheid) Als i > j dan is:

fl(kma am) 2 fj(kmv am)7

geligkheid als en slechts als alle a,, gelijk zign. Hierbij staat

f_jh%+m+m%
! ki+ko+ - +kn

met fo het gewogen GM, en fio gewoon minimum en mazimum Tesp.
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3.2 functievergelijkingen

te doen
*aantonen dat de andere mogelijkheden niet voldoen

* bewijzen dat de gevonden functies altijd voldoen aan de vergelijking of gelijkheid

Het is vooral creatief zijn en volgende middelen kunnen helpen:

* waarden zoeken die de functievergelijking reduceren tot iets dat gemakkelijk aantoont dat

bepaalde oplossingen niet kunnen voldoen/ met kleine waarden op ideen komen,

transformaties uitvoeren die de voorwaarden behouden maar de vergelijking behouden en eventueel
een goed gevalsonderscheid

* kijken naar sur-,bi- of injectiviteit:

injectieve functies beelden alle originelen op verschillende functiewaarden af, dus a # b = f(a) #

f(b)
surjectieve functies: er is geen enkele waarde uit het codomein die geen functiewaarde is

bijectiviteit: injectiviteit en surjectiviteit ineen
* f(x) = g(x) + h(z) stellen, dit kan helpen als er slechts 1 functie g is die voldoet, bij het invullen
van g(z) + h(x) kan men men proberen aan te tonen dat h(z) de nulfunctie is.
* dek- of fixpunten zoeken, dit zijn waarden die gelijk zijn aan hun functiewaarden: f(z) = x
Dit is vooral handig bij functies waar het aantal fixpunten klein is, aangezien anders niet veel te
concluderen valt.
* fr+l(z) op meerdere manieren opvatten, waardoor bepaalde dingen duidelijk komen: f(f"(x)) =
fr(f (@)
* eventueel in een bepaalde basis kijken naar de getallen en voorwaarden in functie van die repre-
sentatie te bekomen.
* de waarden zoeken waarvoor geldt dat f(z) = 0, indien dit slechts 1 waarde is, helpt het vaak
deze waarde elders in te vullen om de vergelijking te verkorten.
* bij polynoomvergelijkingen de hoogstegraadsterm vinden om de algemene formule kort te kun-
nen gebruiken.
* de Cauchy-vgl’en:

flx+y) = f(x) + f(y) geeft enkel de opl. f(x) = cx
fley) = f(x) + f(y) 7f(z) = clnlz]
flay) = f(2)f(y) " f(x) = ¢ of = 0.
fle+y)=f@)fly) "flz)=c"

met z,y € R
als er geweten is dat de functie 1 van volgende eigenschappen geeft:

monotoom/continu/stijgend of dalend/begrensd
* kijk eventueel ook naar de moduloresten in het domein/codomein
polynoomvergelijkingen

Bij veeltermvergelijkingen geeft men het voordeel dat men de hoogstegraadsterm kan bekijken
en hieruit conclusies trekken en als dit begrensd is, de volledige polynoom te kunnen invullen.
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4 getaltheorie

4.1 Dbasis

De basis bij getaltheorie bestaat uit o.a. de eenduidige priemontbinding, kgv, ggd, aantal delers
en dergelijke kennen en toepassen.

De stelling van Bezout-Bachet zegt dat Va,b € N er n,m € N bestaan zodat ggd(a,b) =
an + bm.

kleine stelling van Fermat p|a? — a

De stelling van Euler zegt dat n®™ =1 (mod m) als ggd(n,m) = 1.
Als m = [[p¥ is ¢(m) = [1(pi — 1)p¥i L.

Herbij is a = b (mod m) aesa m|a — b

chinese reststelling (CRS) Als m; tot my gehele getallen die paarsgewijs relatief priem zijn
en a; tot ay zijn gehele getallen.
Dan bestaat er 1 oplossing  modulo [[m; zodat z = a; (mod m;) Vi € {1,2--- ,k}.

stelling van Wilson Voor ieder priemgetal geldt (p — 1)! = —1 (mod p).

Indien er nog vragen waren over de basis, is volgende bestand altijd handig om te helpen in dit
getaltheorie-hoofdstuk (voor dit deel vooral de eerste 2 pagina’s : getallenleer )
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4.2 priemgetalstellingen

stelling van Euclides

Er zijn oneindig veel priemgetallen.
postulaat van Bertrand

Voor iedere n € Ny is er een priemgetal tussen n en 2n
stelling van Dirichlet

Als ggd(a,b) = 1 bestaan er oneindig veel priemgetallen van de vorm an + b met n € N.
stelling van Green-Tao

Er bestaan rekenkundige rijen van iedere lengte die bestaan uit enkel priemgetallen.

In formulevorm bestaan er a,b,n € N zodat a,a 4+ b,a + 2b,--+ ,a+ (n — 1)b allen priem zijn.

Stelling 4.1. ( LTE: Lifting The Exponent Lemma)

Er zijn enkele gevallen die we hier opsommen, die samen het totale LTE geven. Hierbij wordt
met het symbool v,(x) het (exacte) aantal factoren p bedoeld in het getal x. bvb. v3(63) = 2.

Zij p een priemgetal number en x,y € Z die geen veelvoud zijn van p. Dan geldt dat
a) Vn € N als
ep+£2enp|x—y, dan
0p(@™ = y") = vyl —y) + vp(n).
ep=2en2|x—y, dan

va(z™ — y") = va(x — y) + va(z + y) + v2(n) — 1.

b) Vn € N die oneven zijn en zodat p | © + vy, geldt er dat
up(z" +y") = vp(x +y) + vp(n).

Stelling 4.2. (stelling van Zsigmondy)

De stelling van Zsigmondy voor verschillen, zegt dat als a > b > 0 natuurlijke getallen zijn die
relatief priem zijn en zei f(n) = a™ — b™ met n € N > 0. Dan heeft f(n) een priemfactor die niet
voorkomt in f(k) voor iedere k € {1,2,--+ ,n — 1} uitgezonderd in enkele speciale gevallen:

a+b=2% enn =2, want a®> —b?> = (a — b)(a +b) en de factor 2 zit in a —b.

a=2,b=1 enn =06 want 63 bevat enkel priemfactoren 2> —1=7,22 —1=3

de stelling van Zsigmondy voor sommen:

op analoge wijze geeft a™ + b™ namelijk een priemfactor die voor geen enkele kleinere k € N in
ak +b* zit, met witzondering van a = 2,b=1,n = 3.
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LTE completer vind je via LiftingTheExponent.
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4.3 kwadratische stellingen

Fermat’s kerstmisstelling: Voor ieder priemgetal = 1 (mod 4) bestaat er 1 en slechts 1 oplossing
a > b e N zodat p = a? + b2

Teder getal waarvor geldt dat de priemfactoren =1 (mod 4) een even aantal keer voorkomt, kan
geschreven worden als de som van 2 volkomen kwadraten a? + b2.

Er zijn exact [[,cp(vp(n) + 1) verschillende oplossing voor a,b waarbij enkel p € P als p = 1
(mod 4).

Ieder getal die niet van de vorm 4"k met k = 7 (mod 8) is, kan worden geschreven als de som
van 3 volkomen kwadraten.

De vierkwadratenstelling toont dat alle getallen kunnen worden geschreven als de som van 4
volkomen kwadraten.

Teder getal groter dan 100 tot slot kan worden geschreven als de som van exact 5 volkomen
kwadraten (waarmee we bedoelen dat er geen 0 wordt gebruikt zoals bij de anderegevallen kan
zijn)

som-van-n-machtenfeit

Zij p een priemgetal, dan geldt voor ieder geheel getal a dat de congruentie 7 + 25 + ... + 27 =
a(mod p) een oplossing geeft als s > n.

lemma in kwadratische vergelijking mod p Als a, b onderling priem zijn met p

* als er geldt dat pla® — D - b%, dan geldt dat D een kwadraatrest is modulo p.

* az? 4+ bx +c =0 (mod p) heeft 1+ (%) oplossingen modulo p
Stelling 4.3. (Pellvergelijkingen)

De vergelijking 2% — dy? = 1 heeft oneindig veel oplossingen als d € N en geen volkomen kwadraat
is. Deze oplossingen zijn van de vorm (x,,yn) met

2y = EUVD @ VD" gy @0 VI e )

uitgebreide pellvgl:

als 22 — ky? = —1 een oplossing heeft ( dit kan als k =1 (mod 4))

Dan noemen we de primitieve oplossing (g, o) zoals bij de normale pellvgl.

We hebben dat z,, + ymVk = (zo + yO\/E)%"“‘1 voor m > 1.

Bij 22 — ky? = n noteren we (ag, by) als primitieve oplossing van deze vergelijking,

en (2, ym) de m?® oplossing van 22 — ky? =1,

dan moeten we a,, + by Vk = (ag £ boVE) (2 £ ymVk) uitwerken voor de andere oplossingen

van de eerste pellvergelijking: a,,, by, .
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4.4 Vieta-jumping

De methode van Vieta-jumping (vaak root-flipping genoemd) is toepasbaar op een zeer herken-
bare klasse van problemen, die vaak van een bijzonder hoge moeilijkheidsgraad zijn. De problemen
waarop deze methode werkt zijn meestal gekarakteriseerd door het concept van deelbaarheid van
natuurlijke getallen en het veelvuldig voorkomen van kwadraten.

Het basisidee is geworteld in Fermat’s methode van de oneindige afdaling. Er wordt een fictieve
oplossing gekozen die een bepaalde grootheid minimaliseert, maar waarvoor de te bewijzen eigen-
schap niet geldt. De gegeven relatie wordt dan als een kwadratische vergelijking in een van de
variabelen herschreven. Met behulp van de formules van Vieta wordt vervolgens een oplossing
geconstrueerd die de grootheid nog kleiner maakt. De methode algemeen omschrijven is weinig
nuttig, ze laat het duidelijkst haar kracht zien wanneer we ze leren kennen in de context van con-
crete problemen. De problemen die met deze methode oplosbaar zijn, zijn naast zeer herkenbaar
ook zeer dun gezaaid. We beginnen met het klassieke voorbeeld, waar overigens een verhaal aan
verbonden is.

Voorbeeld 4.4. Zijn z en y natuurlijke getallen zodat xy een deler is van z2 + y* + 1.
Bewigs dat

2+ y%+1 _

Ty B

3.

Oplossing. Stel ﬁ%";ﬂ = k. Fixeer nu k en beschouw de verzameling

2 2
.A:{(a:,y)eNQ | x—i—y+1:k}.

Ty

Neem nu de het koppel (X,Y) in A dat de minimale waarde van x + y oplevert. Als er meerdere
koppels zijn neem er dan willekeurig een van.

Veronderstel dat X > Y en beschouw nu de volgende vergelijking in ¢:

24+Y%2+1
%:k e 2RVt Y241 =0

We weten dat t = X een oplossing is van deze vergelijking, en uit de formules van Vieta halen we
dat

Y2 +1
Ty = kY — X = X
ook een oplossing is. Uit x93 = kY — X halen we dat x5 een geheel getal is. Verder leiden we
2
af dat x9 = % < X en dat bovendien x5 positief is. Uit al deze informatie besluiten we dat

(z2,Y) € A, en dat bovendien z2 +Y < X + Y, hetgeen een contradictie is.

Uit het voorgaande leiden we af dat de oplossing die x + y minimaliseert noodzakelijk =z = y
2
moet hebben. We krijgen dat k = 2)2(72“ en dus dat X = 1. Hieruit volgt het gestelde. 0
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4.5 orde en kleinste elementen

De orde van een bewerking is het kleinste aantal keer dat je het moet gebruiken om tot het
eenheidelement te komen.

Bij machten zeggen we dat de orde o het kleinste natuurlijke getal is zodat a® = (mod b)
(99d(a,0) =1)

Kijken naar ordes en de kleinste priemdelers, kan vele vragen helpen op te lossen.
Primitieve wortels ¢ mod m zijn getallen die orde ¢m hebben.
Een getal m geeft enkel een primitieve wortels als m v.d. vorm 2p*, p¥,2 of 4 met p priem.

Als a een primitieve wortel is mod. p, dan is a of a + p de primitieve wortel voor p* met k > 2.

4.6 kwadraatresten

Het legendresymbool werkt als volgt:

0 als p|n
% = ¢ 1 als n een kwadraatrest is van p, nl. er bestaat een x € N bestaat zodat 22> = n (mod p)
-1 als n geen kwadraatrest is modulo p

Euler’s criterium zegt dat (%) = n"% waardoor (%) (%) = (%) direct een gevolg is.

Wegens p|(j—1)(j+1i) zien we dat slechts de helft van de getallen tussen 1 en p—1 een kwadraatrest
kunnen zijn.

De kwadratische receprociteitswet zegt dat (%) (%) = (—1)(’”*1)(”*1) als m,n priem zijn.

i=m oy

Met de Chinese reststelling is het gemakkelijk te bewijzen dat voor n = [[,Z]" p;" a een kwa-
draatrest is, als en slechts als het een kwadraatrest is van iedere P;.
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5 meetkunde

basis

Die is als gekend genomen en te vinden bij de lesbrief voor JEMC (bvb. machtpunt en koorden-
vierhoeken).

5.1 nuttige dingen en enkele eigenschappen

e isometrieen zoals homotheties, verschuivingen, verdraaiingen
e gelijkvormigheid en congruentie

e de eigenschappen van koordenvierhoeken en omtrekshoeken
e vectoren.

e angle-chasing: hoekjagen, vaak start men met hoekjagen om hieruit de conclusies i.v.m.
cirkelbogen te kunnen trekken

e constructie van interessante punten die helpen het probleem op te lossen.
Wanneer men iets moet bewijzen dat niet direct meetkundig te interpreteren is, kan een
constructie van een nieuw punt vaak helpen, bvb. als de som van 2 lengtes gelijk moet zijn
aan 1 lengte.
Bij collineairiteit, kan het helpen, wanneer men een nieuw punt P beschouwt, als P, A, B en
P, A, C collineair zijn, zijn A, B, C ook collineair.

e Als het niet duidelijk is, hoe iets te bewijzen valt, moet men het goede idee/ oplossing soms
zien van het meetkundig probleem en dan bewijzen dat die oplossing idd voldoet.

e (De rechte van Simson)

Drie punten zijn collineair als en slechts als de driehoek gevormd door deze drie punten een
oppervlakte heeft die nul is. Ga nu zelf met behulp van eigenschap 3 uit de vorige paragraaf
de volgende stelling na:

De projecties van een punt P op de zijden van ABC' zijn dan en slechts dan collineair als P
op de omgeschreven cirkel van ABC ligt.

De rechte die de drie projecties van het punt P bevat noemt men de rechte van Simson
van punt P t.o.v. ABC.

Deze stelling zal je soms van pas komen wanneer je een probleem te lijf gaat. Tracht
ook als oefening eens een rechtstreeks bewijs te vinden, dus zonder de uitdrukking voor
de oppervlakte van een voetpuntsdriehoek te gebruiken.

e de Steinerlijn is de lijn [ gevormd door een punt P op de omgeschreven cirkel te spiegelen
over AB, BC, AC en gaat door H.
Het is de homothetie met center in P van de Simsonlijn met een factor 2.
Het punt P wordt het antiSteinerpunt van [ tov AABC genoemd

Wie het toch nodig vindt, kan de uitgebreide bijlage basis meetkunde eerst eens doornemen.
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In deze paragraaf bekijken we enkele lemma’s van dichterbij die ongewoon vaak hun intrede deden
in problem-solving-problemen de voorbije jaren.

Figuur 1: De raakomtrekshoek

Lemma 1 (Raakomtrekshoek) Beschouw een cirkel w die de punten A en B bevat. De raaklijn
aan w in A sluit een hoek in met AB die in grootte gelijk is aan een van beide omtrekshoeken op
AB in w.

Lemma 2 De reflecties van het hoogtepunt H van ABC' ten opzichte van de zijden liggen op de
omgeschreven cirkel van ABC'.

Figuur 2: Lemma 2
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Lemma 3 In drichoek ABC noemen we I het middelpunt van de ingeschreven cirkel, en I, het
middelpunt van de aangeschreven cirkel tegenover A.

e De binnen(resp. buiten)bissectrice van A snijdt de middelloodlijn van BC in het punt D
(resp. het punt E) op de omgeschreven cirkel.

e De cirkel met diameter 11, bevat B en C en heeft D als middelpunt.

e De cirkel door B,C, I, I}, geeft E als middelpunt

Dit lemma is allicht het belangrijkste uit deze hele paragraaf, en een van de vaakst terugkerende

lemmata(zelfs bij IMO-problemen).
Het bewijs is een goede oefening angle-chasing, maar het is ook een gevolg van het feit dat ABC
de negenpuntscirkel is van I,11..

Figuur 3: Lemma 3

Lemma 4 In driehoek ABC zijn O en H isogonaal verwant
Bewijs. met angle-chasing: /BAH = ZCAO = 90 — « en analoog O

Lemma 5 In een driehoek AABC met omgeschreven cirkel ©O snijden de raaklijnen in B en
C in D, dan geldt dat AD een symmediaan is in de driehoek

De symmediaan is de zwaartelijn gespiegeld in de bissectrice, of de isogonale van de zwaartelijn.
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Lemma 6 In een driehoek AABC met ingeschreven cirkel ©I die [BC] raakt in D, is DE de
diameter van ©I.

De lijn AE snijdt [BC] in F. Dan geldt dat |BD| = |CF)|.
Bewijs. Merk op dat een homothetie uit A die ®I naar ©1, afbeeldt, ook E op F afbeeldt. O

lemma 7 [AB] en [CD] zijn 2 lijnstukken. Er bestaat dan een spiral similarity (samenstelling
van rotatie met een draating) die het ene lijnstuk op het andere afbeeldt.
Zij X = ACUBD , dan is O = ©ABX U®CDX het centrum van die spiral silmilarity.

lemma 8A In een driehoek ANABC met incenter I construeren we de mixtilineaire incirkel die
raakt aan [AB],[AC] in X,Y en aan de omcirkel ©O in P.
Dan is I het midden van [XY].

lemma 8B In een driehoek AABC met incenterl I en D € [BC| construeren we de cirkel die
raakt aan [AD],[DC] in X,Y en aan de omcirkel ®O in P.
Dan is I € [XY].

lemma 9a De incirkel ©I raakt de zijden [AB),[AC], [BC] in F,E, D resp.
Als M het midden is van [BC| geldt dat EF, DI, AM concurrent zijn

lemma 9b De incirkel ©I raakt de zijden [AB],[AC], [BC] in F,E,D resp.
Als M het midden is van [BC| en T = CIU EF, geldt dat B, D, I, T, F cyclisch zijn

lemma 10 2 cirkels ©I, ©0 raken elkaar inwendig in P, waarbij ©I de kleinste cirkel is.
A, B € ®0 wverschillend van P, AA', BB’ zijn raaklijnen aan ©I met A, B’ € ®I. Dan geldt dat
AA BB’

||AP\| = ||BP||

Voor zij die meer lemma’s ivim meetkunde willen kennen :

meetkundelemma’s
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5.2 de projectieve stellingen

De bissectricestelling

Figuur 4: De bissectricestelling

Een eigenschap van de bissectrices van een driehoek ABC die in talloze problemen als een zeer
fundamentele stelling opduikt is de volgende:

De binnen- en buitenbissectrice van hoek o snijdt BC' in D en E respectievelijk.
Er geldt dat

AB BD BE

AC  CD CE

Reim’s stelling

Zij ABCD een koordenvierhoek en X,Y op de rechten AC, BD zodat XY//BC, dan is ADXY
cyclisch.
Merk op dat dit ook geldt voor X,Y op AB,CD met XY//BC dat ADXY ook cyclisch is en
dit ook geldt in omgekeerde zin ( 2 koordenvierhoeken, rechte door snijpunten snijdt in 4 punten,
waarvan er 2 bij 2 evenwijdig zijn).

Stelling 5.1. ( Menelaos)

Zij D, E, F punten die resp. op AB, AC, BC liggen, dan geldt dat D, E, F' collineair zijn a.e.s.a.
AD-BF-CE _ _
DB-FC-EA

Stelling 5.2. ( Ceva)

Zij D, E, F punten die resp. op AB, AC, BC liggen, dan geldt dat D, E, F' collineair zijn a.e.s.a.
AD-BF-CE _
DB-FC-EA
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Stelling 5.3. (stelling van Desargues)

Twee driehoeken, ABC en XY Z, noemen we puntperspectief als AX, BY en CZ door 1 punt
gaan en we noemen ze lijnperspectief als de snijpunten van AB en XY , BC enYZ, en CA en
ZX op 1 lign liggen. De stelling van Desarques zegt dat twee driehoeken lijnperspectief zijn dan
en slechts als ze puntperspectief zijn.

Stelling 5.4. (De vlinderstelling) Laat M het midden zijn van een koorde PQ van een cirkel en
AB en CD twee andere koorden door M. Noem X het snijpunt zijn van AD en PQ en'Y van BC
en PQ. Dan is M het midden van XY .

Stelling 5.5. (stelling van Pappos)

Deze stelling luidt: Liggen Ay, By en C1 op een rechte dy en liggen Az, Bo en Co op een rechte
ds , dan zign de punten A : snijpunt van B1Cy en ByCq, B : snijpunt van A1Cs en AsCy en C :
snigpunt van A1 Bs en As By collineair.

Stelling 5.6. (stelling van Pascal)

Neem zes willekeurige punten op een cirkel of andere kegelsnede, zeq A, B,C, D, EenF. Het snij-
punt van delijnen AB en DE noemen we P, het snijpunt van BC en EF noemen we Q) en het
snigpunt van CD en FA noemen we R. Dan liggen P,Q en R op 1 lijn.

Stelling 5.7. (stelling van Brianchon)

Neem een zeshoek ABCDEF van zes raaklijnen aan een kegelsnede. Dan zijn de lijnenAD, BE
en C'F concurrent.

Uitgebreidere projectieve meetkunde via projectieve meetkunde

Wie nog meer meetkundestellingen denkt nodig te hebben, kan het volledige bestand raadplegen
(normaal niet nodig bij de lokalere olympiades).
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5.3 inversie en affiene meetkunde

Stelling 5.8. (inversie)

Bij inversie wordt een punt O als centrum gekozen en ieder punt X wordt getransformeerd naar
een punt Y zodat O, X,Y op de zelfde halfrechte liggen en |OX||OY| = ¢ waarbij ¢ een reel getal
18.

Indien f de inverterende functie is binnen deze meetkunde, geldt f(X) =Y, f(Y) = X in dit
voorbeeld, wat algemeen logisch f(f(X)) = X heeft voor ieder voorwerp.

We zullen vanaf nu voor ieder punt A f(A) = A’ noteren om de eigenschappen op te sommen:
1. een lijn door O wordt op zichzelf afgebeeld
2. een cirkel door O wordt geprojecteerd op een lijn die 0 niet bevat

3. een cirkel die niet door O gaat, wordt geprojecteerd op een andere cirkel die niet door O
gaat.

4. hoeken worden behouden, maar er geldt wel dat /OAB = ZOB'A’

5. lengtes van lijnstukken veranderen in volgende verhouding: |A’B’| = %

Met deze eigenschappen kunnen problemen vanuit een heel andere hoek worden opgelost en op
een zeer ingenieuze manier opgelost worden.

voor meet info

Er is nog een andere transformatie om bepaalde gevallen simpeler te maken (opgelet met zo’n
transformaties te combineren!!!)

Stelling 5.9. (affiene meetkunde)
Een affiene transformatie bestaat wit een afbeelding (x,y) — (ax + by + ¢, dz + ey + f).

Binnen de affiene meetkunde kunnen we met zo’n afbeelding 3 niet-collineaire punten vervangen
door 3 andere niet-collineaire punten op een manier zoals je ze zelf kiest.

De affiene transformaties behouden

o cvenwijdigheid van lijnen
e collineairiteit van punten
e concurrentie van lijnen

e verhouding oppervlakten

De hoeken als ook verhouding van lijnen zign niet strikt noodzakelijk behouden.

Deze transformatie kan dus enkel helpen wanneer 1 van de andere 4 punten te bewijzen valt of te
gebruiken is.

33



6 bijlages en bronnen

Hier staan PDF’s die uitgebreid handelen over een specifiek deel.
Er staan nog enkele nieuwe dingen tussen ter volledigheid.
Naar de interessante stukken wordt op het juiste moment verwezen doorheen de echte bundel.
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6.1

problem-solvingstrategieen
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Polya’s Problem Solving Techniques

In 1945 George Polya published the book How To Solve It which quickly became
his most prized publication. It sold over one million copies and has been translated
into 17 languages. In this book he identifies four basic principles of problem solving.

Polya’s First Principle: Understand the problem

This seems so obvious that it is often not even mentioned, yet studens are often
stymied in their efforts to solve problems simply because they don’t understand it
fully, or even in part. Polya taught teachers to ask students questions such as:

e What are you asked to find or show?

Do you understand all the words used in stating the problem?

e Can you restate the problem in your own words?

problem?

Polya’s Second Principle: Devise a plan

Can you think of a picture or diagram that might help you understand the

Is there enough information to enable you to find a solution?

Polya mentions that there are many reasonable ways to solve problems. The skill
at choosing an appropriate strategy is best learned by solving many problems. You
will find choosing a strategy increasingly easy. A partial list of strategies is included:

Guess and check
Make an orderly list
Eliminate possibilities
Use symmetry
Consider special cases
Use direct reasoning
Solve an equation

Look for a pattern
Draw a picture

Solve a simpler problem
Use a model

Work backwards

Use a formula

Be ingenious



Polya’s Third Principle: Carry out the plan

This step is usually easier than devising the plan. In general, all you need is
care and patience, given that you have the necessary skills. Persist with the plan that
you have chosen. If it continues not to work discard it and choose another. Don’t be
misled, this is how mathematics is done, even by professionals.

Polya’s Fourth Principle: Look back

Polya mentions that much can be gained by taking the time to reflect and look
back at what you have done, what worked, and what didn’t. Doing this will enable
you to predict what strategy to use to solve future problems.

So starting on the next page, here is a summary, in the master’s own words, on
strategies for attacking problems in mathematics class. This is taken from the book,
How To Solve It, by George Polya, 2nd ed., Princeton University Press, 1957, ISBN
0-691-08097-6.



1. UNDERSTAND THE PROBLEM

First. You have to understand the problem.

What is the unknown? What are the data? What is the condition?

Is it possible to satisfy the condition? Is the condition sufficient to deter-
mine the unknown? Or is it insufficient? Or redundant? Or contradictory?

Draw a figure. Introduce suitable notation.

Separate the various parts of the condition. Can you write them down?
2. DEVISING A PLAN

e Second. Find the connection between the data and the unknown. You
may be obliged to consider auxiliary problems if an immediate connection
cannot be found. You should obtain eventually a plan of the solution.

e Have you seen it before? Or have you seen the same problem in a slightly
different form?

e Do you know a related problem? Do you know a theorem that could be
useful?

e Look at the unknown! Try to think of a familiar problem having the same
or a similar unknown.

e Here is a problem related to yours and solved before. Could you use it?
Could you use its result? Could you use its method? Should you introduce
some auxiliary element in order to make its use possible?

e Could you restate the problem? Could you restate it still differently? Go
back to definitions.

e If you cannot solve the proposed problem, try to solve first some related
problem. Could you imagine a more accessible related problem? A more
general problem? A more special problem? An analogous problem? Could
you solve a part of the problem? Keep only a part of the condition, drop
the other part; how far is the unknown then determined, how can it vary?
Could you derive something useful from the data? Could you think of
other data appropriate to determine the unknown? Could you change the
unknown or data, or both if necessary, so that the new unknown and the
new data are nearer to each other?

e Did you use all the data? Did you use the whole condition? Have you
taken into account all essential notions involved in the problem?



3. CARRYING OUT THE PLAN

e Third. Carry out your plan.
e Carrying out your plan of the solution, check each step. Can you see clearly
that the step is correct? Can you prove that it is correct?

4. LOOKING BACK

e Fourth. Framine the solution obtained.
e Can you check the result? Can you check the argument?
e Can you derive the solution differently? Can you see it at a glance?

e Can you use the result, or the method, for some other problem?



terug naar echt bestand
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1 Deelbaarheid en priemgetallen

We beginnen met een herhaling van de belangrijkste definities en eigenschappen. We laten de bewijzen daarbij achterwege,
maar het is uiteraard een goed idee om te proberen om die bewijzen zelf te geven. . .

Definities

(1) Als m,n € Z, dan zeggen we dat m een deler is van n (notatie: m | n) als er een a € Z bestaat zodat n = am.
(2) Een natuurlijk getal p is priem als p precies twee positieve delers heeft.

(3) Gegeven a € Z en b € Ny, dan bestaan er twee (unieke) gehele getallen g en r zodanig dat a = gb + r met 0 < r < b.
We noemen ¢ en r respectievelijk het quotiént en de rest bij deling van a door b.

(4) Zijn m,n € Z. De grootste gemene deler van m en n is het (unieke) natuurlijk getal d dat voldoet aan d | m, d | n en
de volgende voorwaarde: als e een geheel getal is met e | m en e | n, dan is e | d. Het kleinste gemene veelvoud van m
en n is het (unieke) natuurlijk getal a dat voldoet aan m | a, n | a en de volgende voorwaarde: als b een geheel getal is
metm | benn | b,danis a | b. We noteren d = ggd(m, n) en a = kgv(m, n). Op analoge wijze kunnen we de grootste
gemene deler en het kleinste gemene veelvoud van meer dan twee gehele getallen definiéren.

(5) Twee gehele getallen zijn onderling ondeelbaar als hun grootste gemene deler gelijk is aan 1.

Eigenschappen

(1) Als m en n gehele getallen zijn met m | n, dan is |m| < |n|.

(2) Elk natuurlijk getal kan op unieke wijze worden geschreven als een product van priemgetallen: gegeven een natuurlijk
getal n, dan bestaan er priemgetallen pq, pa, - - - , p, en natuurlijke getallen ay, az, - - - ,a, > 1zodatn = p{*p5? - - - por,

en deze schrijfwijze is uniek op permutatie van de factoren na.

(3) (Euclides) Er bestaat oneindig veel priemgetallen. Sterker nog (postulaat van Bertrand): voor elke n € Ny bestaat er
een priemgetal p met n < p < 2n. Een ander nuttig resultaat (stelling van Dirichlet): als a en b onderling ondeelbaar
zijn, dan bestaan er oneindig veel priemgetallen van de vorm an + b.

(4) Alsm en n natuurlijke getallen zijn, dan is ggd(m, n)-kgv(m, n) = mn. De grootste gemene deler van twee natuurlijke

getallen kan worden berekend met het algoritme van Euclides. Als m = p{'p3?---pfr enn = plil pgz -+ p% met

p1,P2,- -+ ,pr verschillende priemgetallen en a1, as, - - - ,a, > 0, dan is

min(a1,b1) min(az,bs) min(a,,b
P2 o Pr (ar 7">7

ggd(m,n) = p;

max(ai,b1) max(az,bz2) max(a,,by
I Py - ppextante),

kgv(m,n) = p



(5) Alsa,b,c € Z,a|bcen ggd(a,b) =1,dana | c. Dus als m,n € Z, als p priem is en p | mn, danis p | m of p | n.

(6) Alsa,b,c € Zzodata |c,b|cenggd(a,b) =1,danisab | c.

(7) (Bézout) Zijn a1, a9, - ,an € Z. Dan bestaan er my, ma, -+ ,my, € Zmetaymy + -+ + apmy, = ggd(ar, -+, an).
(8) Alsd,m,n € Zmetd | mend | n,dan geldt ook dat d | am + bn voor alle a,b € Z. Met andere woorden: een deler

van twee gehele getallen is ook een deler van elke lineaire combinatie van deze twee getallen. Deze eigenschap kan

makkelijk worden veralgemeend naar een gemeenschappelijke deler van drie of meer gehele getallen.
(9) Zij n een geheel getal met n = p{*p5? - - - p?r als unieke ontbinding in priemfactoren. Zij 7(n) het aantal positieve

delers van n en zij o(n) de som van de positieve delers van n. Dan hebben we de volgende gelijkheden:

7(n) = (a1 + D(az + 1) -+ (ay + 1), o(n) = (piwl _1> (pgﬁl _1> <pgr+1 _1>.

p1—1 p2—1 pr—1

(10) Zij n een natuurlijk getal en p een priemgetal. De exponent van p in de priemfactorenontbinding van n! is gelijk aan

FRERER

met |z | het grootste geheel getal kleiner dan of gelijk aan x.

Voorbeelden

Voorbeeld 1. Bepaal alle natuurlijke getallen n zodat 7 | 9" — 1.

Oplossing. Merk op dat 9" — 1 = (3™ — 1)(3"™ + 1). Nuis ggd(3™ — 1,3 + 1) = 2, en daaruit volgt dat 7* | 3" — 1 of
7" | 3" + 1 (waarom?). Maar 7" > 3™ + 1 > 3" — 1 voor n > 1, dus de enige oplossing is n = 0.

Voorbeeld 2. Zij a,m,n € Nmet a > 2. Danis ggd(a™ — 1,a" — 1) = q2d(mn) 1,

Bewijs. Zij d = ggd(m,n). Het is duidelijk dat a® — 1 | a™ —1ena® — 1| a™ — 1,dus a? — 1 | ggd(a™ — 1,a™ — 1). Kies
nu gehele getallen p en ¢ met pm + gn = d. Veronderstel - zonder verlies van de algemeenheid - datp > Oen ¢ < 0. Zij s
een gemeenschappelijke deler van a™ — 1 en a” — 1. We moeten nagaan dat s | a® — 1. Maar s | @™ — lens | ™% — 1,
dus s | (a?™ — 1) — (a~9" — 1), of nog, s | a~ 9" (aP™*9" — 1). Maar ggd(s,a) = 1 (waarom?), dus s | a? — 1. O

Voorbeeld 3. (IMO 1994) Bepaal alle koppels (m, n) van natuurlijke getallen m en n zodat mn — 1 | m3 + 1.

Oplossing. Merk op dat mn — 1 | n(m3 + 1) — m2?(mn — 1), dus mn — 1 | m? + n. Stel m? +n = a(mn — 1). Dan
geldt m? — amn + n + a = 0. Bekijk de vierkantsvergelijking 2 — anx + a + n = 0. Dan is m zeker een oplossing van
de vergelijking - zij p de andere oplossing (het is mogelijk dat p = m). Dan geldter m +p = anen mp = a + n. Als
a,m,n,p > 2,dan geldt mp > m+p = an > a+n = mp. Bijgevolg moet er gelijkheid optreden, dusm =n =a =p = 2.

Veronderstel dus dat één van de getallen a, m,n, p gelijk is aan 1. Stel eersta = 1. Danismp =n+ 1 enm + p = n, dus
mp=m+p+1,of nog, (m—1)(p—1) = 2. Bijgevolg is (m, p) = (2, 3) of (m,p) = (3,2), enn = 5. Wegens symmetrie
geeft de veronderstelling n = 1 dezelfde oplossingen voor (m, p). Veronderstel nu dat p = 1. Dan is analoog (a,n) = (2, 3)
of (a,n) = (3,2), en m = 5. Wegens symmetrie geeft de veronderstelling m = 1 dezelfde oplossingen voor (a,n).

Samenvattend: de mogelijke oplossingen zijn (m, n) € {(2,2), (2,5),(3,5), (5,2), (5,3),(1,2),(1,3),(2,1),(3,1)}, en een
eenvoudige controle leert ons dat elk van deze koppels inderdaad een oplossing is. [

Voorbeeld 4. (IMO 2002) Zij n > 2 een natuurlijk getal met positieve delers 1 = d; < dy < -+ < di = n. Toon aan dat
dldg + d2d3 + -+ dkfldk- < TL2. Wanneer geldt d1d2 + d2d3 + -+ dkfldk ‘ TL2?

Oplossing. Merk op dat d;dj;—1 = n. We moeten dus bewijzen dat

1 1
didy ~ dads d—1dy,

< 1.



Maar d; > i, dus

LR
d1d2 d2d3 dk—ldk

I SRS SV SR SRS B U S S & WU (N0 SN & TS R
1-2 2.3 (k—1)-k 2 2 3 k-1 k) ~ k7

Nu is dy = p priem (waarom?). Dan is dy_1 = n/p, dus dids + dads + - - - + di,_1dy > dj,_1dy = n?/p. Maar de grootste
echte deler van n? is n?/p. Dus dydg + dads + - - - di,_1dj, deelt n? a.s.a. k = 2, m.a.w. als n = p een priemgetal is.

Opgaven

(1) Zijn x en y gehele getallen. Bewijs dat 17 | 22 4 3y als en slechts als 17 | 92 + 5y.

(2) Bewijs dat het product van n opeenvolgende natuurlijke getallen steeds deelbaar is door n!.

(3) Zij n > 5 een natuurlijk getal. Bewijs: n is niet priem <= n | (n — 1)\

(4) Zijn a,b,m,n € N zodat a™ — 1 en b” + 1 priem zijn. Geef zoveel mogelijk informatie over a, b, m en n.
(5) Zijn € N zodat 24 | n + 1. Bewijs dat de som van de positieve delers van n ook deelbaar is door 24.

(6) (IMO 1972) Bewijs dat de volgende uitdrukking een natuurlijk getal is voor alle m,n € Ny:

(2m)!(2n)!
min!(m +n)!’

(7) Bewijs dat de volgende uitdrukking een natuurlijk getal is voor alle m,n € Npy:

ggd(;m n) (Z) .

(8) (IMO 1992) Bepaal alle natuurlijke getallen 1 < a < b < czodat (a — 1)(b— 1)(¢ — 1) | abe — 1.

(9) IMO 2009) Zij n een natuurlijk getal. Zijn a1, as, - ,ar (met k > 2) verschillende elementen van de verzameling
{1,2, -+ ,n} zodanig dat n | a;(a;41 — 1) voori =1,2,--- 'k — 1. Bewijs dat n geen deler is van a;(a; — 1).

(10) (IMO 1998) Bepaal alle natuurlijke getallen a en b zodat ab? + b+ 7 | a®b + a + b.

2 Modulo-rekenen

Gegeven gehele getallen a, b en m met m > 2, dan zeggen we dat a en b congruent zijn modulo m - of nog, a = b
(mod m) - indien m | a — b, of nog, indien a en b dezelfde rest geven bij deling door m. Op deze manier krijgen we een
equivalentierelatie (een transitieve, symmetrische en reflexieve relatie) op de verzameling Z van gehele getallen die ons toelaat
om met “restklassen modulo m” te rekenen in plaats van met alle gehele getallen. Het grote voordeel van deze operatie is
natuurlijk dat er slechts eindig veel restklassen modulo m zijn. . . De restklassen modulo m vormen een algebraische structuur
die we de ring 7Z/mZ noemen. Optelling en vermenigvuldiging zijn in deze ring gedefinieerd op de evidente manier: als a = b
(mod m) enc=d (mod m),dan geldt a + ¢ = b+ d (mod m) en ac = bd (mod m). (Ga dat na!)

Voor een gegeven a € Z en m > 2 zeggen we dat 2 een inverse is voor ¢ modulo m als ax = 1 (mod m).
Bewering. Er bestaat een inverse voor a modulo m als en slechts als ggd(a, m) = 1.

Bewijs. Stel dat x een inverse is voor a. Dan is az = 1 (mod m), m.a.w er bestaat een p € Z met az = 1 + pm. Dus
ax —pm = 1. Maar ggd(a, m) deelt ax — pm, dus ggd(a, m) = 1. Omgekeerd, als ggd(a, m) = 1, dan bestaat er volgens de
stelling van Bézout een geheel getal p zodat ax — pm = 1, dus az =1 (mod m). O



Het aantal restklassen modulo m die een inverse hebben kan dus worden geidentificeerd met de verzameling van natuurlijke
getallen a met 0 < a < m en ggd(a, m) = 1. We noteren ¢(m) voor het aantal natuurlijke getallen a met die eigenschappen

(p is de Euler-functie). Indien m = py'p3? - - - p* de unieke ontbinding van m in priemfactoren is, dan geldt er

a;—1

o(m) = (pr — D)pP* (2 — p3* "+ (pr — L)p

a,—1
- .

(Oefening: probeer deze gelijkheid zelf af te leiden!)

Eigenschappen

(1) Zij m > 2 een natuurlijk getal en zij a € Z met ggd(a, m) = 1. Er bestaat een kleinste natuurlijk getal ¢ # 0 met
de eigenschap dat a? = 1 (mod m). Dit getal g heet de orde van a modulo m en is een deler van ¢(m). Als r een
willekeurig natuurlijk getal is zodanig dat a” = 1 (mod m), dan geldt ¢ | r.

(2) (Fermat) Als p priem is en ¢ € N is niet deelbaar door p, dan is a?~! = 1 (mod p). (Dit is een speciaal geval van (1)!)
(3) (Wilson) Als p priem is, danis (p — 1)! = —1 (mod p).

(4) (Primitieve wortels) Zij m > 2. Een natuurlijk getal a waarvan de orde modulo m gelijk is ¢(m) noemen we een
primitieve wortel modulo m. Een primitieve wortel bestaat als en slechts als m = 2, m = 4, m = p* of m = 2p* met
p priem. Als a een primitieve wortel is modulo p en a?~! # 1 (mod p?), dan is a 0ok een primitieve wortel modulo
p?; indien a?~! = 1 (mod p?), dan is a + p een primitieve wortel modulo p?. Als a een primitieve wortel is modulo
p* met k > 2, dan is a ook een primitieve wortel modulo p’ voor alle £ > k.

(5) (Chinese reststelling) Zijn my,ma, - - - ,m gehele getallen die paarsgewijs onderling ondeelbaar zijn, m.a.w. zodat
ggd(m;, m;) = lalsi # j. Zijn a1, ag,-- - ,ai € Z willekeurig. Dan bestaat er een natuurlijk getal x zodat x = a4
(mod mq), z = az (mod mg), -+, x = ar (mod my). Dat getal x is bovendien uniek modulo myms - - - my,.

(6) (Kwadraten) Volkomen kwadraten zijn congruent met 0 of 1 modulo 4, congruent met 0 of 1 modulo 3, congruent met
0,1 of 4modulo 8, ... Inhet algemeen geldt: als p een oneven priemgetal is, dan bestaan er precies %(p—i— 1) restklassen
modulo p (inclusief 0) die een volkomen kwadraat zijn modulo p. Als p een willekeurig priemgetal is, dan is —1 een
kwadraat modulo p als en slechts als p = 2 of p = 1 (mod 4), en 2 is een kwadraat modulo p als en slechts als p = 2
of p= 41 (mod 8). Dus elke priemdeler van een natuurlijk getal van de vorm n2 + 1 is gelijk aan 2 of congruent met
1 modulo 4, en elke priemdeler van een getal van de vorm n? — 2 is gelijk aan 2 of congruent met +1 modulo 8.

Voorbeelden
Voorbeeld 1. Bestaat er een rij van 2011 opeenvolgende natuurlijke getallen zodanig dat elk van deze getallen deelbaar is door
de 2011-de macht van een natuurlijk getal?

Oplossing. Het antwoord is ja. Zijn 2 = p; < py < - -- < pao11 de eerste 2011 priemgetallen. Volgens de Chinese reststelling
bestaat er een natuurlijk getal n zodanig dat n = —1 (mod p?°''), n = —2 (mod p3°'t), ---, n = —2011 (mod p3)i}).
Danisn+1,n+2,--- ,n + 2011 de gevraagde rij. [J

Voorbeeld 2. Bepaal alle oplossingen (in gehele getallen) van de vergelijking 22 = y° — 4.

Oplossing. Een klein beetje rekenwerk leert ons dat een kwadraat steeds congruent is met 0, 1, 3, 4, 5 of 9 modulo 11, en dat
een vijfdemacht steeds congruent is met —1, 0 of 1 modulo 11." Dus y° — 4 is steeds congruent met 6, 7 of 8 modulo 11.
Daaruit volgt dat er geen oplossingen zijn. [

Voorbeeld 3. Bepaal alle natuurlijke getallen x, y en z zodat 3* + 4Y = 5%.

!Trucje voor de vijfdemachten: als y niet deelbaar is door 11, dan is y'© = 1 (mod 11), dus 11 | 30 — 1 = (y® — 1)(y® + 1), dus y° = +1
(mod 11).



Oplossing. Modulo 4 wordt de vergelijking (—1)* = 1 (mod 4). Bijgevolg is = even. Modulo 3 wordt de vergelijking
1= (—1)* (mod 3). Bijgevolg is ook z even. Dus 4¥ = 22V = (52/2 —3%/2)(5%/2 4-3%/2), Bijgevolg geldt 57/2 —3%/2 = 2k
en 57/243%/2 = 28 met k < Len k+¢ = 2y. Dus 2-5%/2 = 2F4-2¢ = 2%(14-2%). Daaruit volgtdat k = 1. Dus 5/2 = 14+2¢~1
en 3*/2 = —1 4+ 2¢~1. Nu geldt dat machten van 3 steeds congruent zijn met 1 of 3 modulo 8 - het rechterlid van de laatste
gelijkheid is echter congruent met —1 modulo 8 tenzij ¢ < 3. Nu geeft { = 3datx = y = z = 2, en { = 2 geeft geen
oplossing. Bijgevolg is de enige oplossing (z,y, z) = (2,2, 2).

Voorbeeld 4. (IMO 1999) Bepaal alle paren (n, p) van natuurlijke getallen n en p waarvoor geldt: p is een priemgetal, n < 2p
en (p — 1)" + 1 is deelbaar door nP~*.

Oplossing. Zij q de kleinste priemdeler van n. Danis ¢ | n?~! | (p —1)" 4+ 1, dus (p — 1) = —1 (mod q). Bijgevolg is
p — 1 niet deelbaar door q. Zij « de orde van p — 1 modulo ¢. Danis « | ¢ — 1 omdat (p — 1)7~! = 1 (mod ¢) (Fermat).
Verder is 0ok (p —1)2" = 1 (mod ¢q), dus « | 2n. Dus « | ggd(q — 1,2n). Maar elke deler van g — 1 is kleiner dan ¢, en dus
geen deler van n - want q is de kleinste priemdeler van n. Dus @ = 1 (als n even is) of & = 2 (als n oneven is). Als a = 1,
dan is ¢ = 2 (want n is even), maar dan moet natuurlijk ook p = 2, en dus n = 2. Als o« = 2, dan is (p — 1)2 =1 (mod q),
dus ¢ | p(p —2). Maar p £ 2 (mod ¢) (anders zou o = 1), dus ¢ | pen ¢ = p. Omdat n < 2p volgt daaruit dat n = p. Het is
duidelijk dat n = p = 3 ook een oplossing is. Veronderstel nu dat p > 5. Dan geldt dat p~! - en dus ook p® - een deler is van
(p — 1)? + 1. Maar met het binomium van Newton zien we dat deze uitdrukking gelijk is aan p? modulo p3, contradictie! [J

Voorbeeld 5. Zijn m en n gehele getallen. Bewijs dat 4mn — m — n geen volkomen kwadraat is.

Oplossing. Stel dat 4mn — m — n = a®. Dan is 4a®> + 1 = (4m — 1)(4n — 1). Daaruit volgt dat 4a®> + 1 minstens één
priemdeler heeft die congruent is met 3 modulo 4 - immers, niet alle priemdelers van 4m — 1 kunnen congruent zijn met 1
modulo 4. Maar uit eigenschap (6) hierboven volgt dat dat niet kan. [

Voorbeeld 6. Zij m # 0 een veelvoud van 8. Hoeveel oplossingen (modulo m) heeft de kwadratische vergelijking 2% = 1
(mod m) dan? Druk je antwoord uit in functie van het aantal priemdelers van m.

=1 (mod m)
is volgens de Chinese reststelling equivalent met het stelsel van congruenties z* = 1 (mod pj’) voor 1 < ¢ < r. Dus
pl |22 — 1= (z — 1)(z + 1) voor alle i. Alsi > 2 (m.a.w. als p; > 3) dan volgt daaruit dat z = +1 (mod p{*), want p{"
kan slechts één van de factoren 2z — 1 en x + 1 delen. Verder moet dus 2% | (z — 1)(z +1). Nuzal ggd(x — 1,2+ 1) = 2,en
dus moet  congruent zijn met 1, —1, 1 + 29171 of —1 + 291~! modulo 2%*. Volgens de Chinese reststelling kunnen we nu
de aantallen oplossingen modulo elke factor p;’ gewoon vermenigvuldigen om het aantal oplossingen modulo m te bekomen
- denk daar even over na! - en we zien dus dat het aantal oplossingen gelijk is aan 2" ~! - 4 = 271, [

Oplossing. Zij m = p{'p5? ---p® de ontbinding van m, met dus p; = 2 en a; > 3. De congruentie x>
2 —

Opgaven

(1) Bepaal alle natuurlijke getallen n zodat 2™ | 3™ — 1.
(2) Zij p > 5 een priemgetal. Bewijs dat 77 — 67 — 1 deelbaar is door 43.

(3) Zij m een geheel getal zodat er een primitieve wortel @ modulo m bestaat. Bewijs: a¥(™)/2 = —1 (mod m).

(4) Toon aan dat 923" = + 3" (mod 3"+1) voor alle n en dat 2 een primitieve wortel is modulo 3™, voor n > 1.

13

(5) Bepaal de grootste gemene deler van alle getallen van de vorm n"> — n, voor n € Z.

(6) Zijn > 2 een natuurlijk getal. Bewijs dat 2" — 1 niet deelbaar is door n.

(7) (IMO 2006) Beschouw de rij (ay),>1 gegeven door a,, = 2" + 3™ 4+ 6™ — 1. Bepaal alle natuurlijke getallen die
onderling ondeelbaar zijn met elke term van deze rij.

22()01

(8) Bepaal de drie laatste cijfers van het getal 2003200

(9) (IMO 1976) Wanneer 4444**4* in decimale schrijfwijze wordt geschreven, dan is de som van de cijfers gelijk aan A.
Zij B de som de cijfers van A. Wat is de som van de cijfers van B?



(10) Zij n een natuurlijk getal en zij p = 2" + 1. Veronderstel dat p | 3(P~1/2 + 1. Bewijs dat p dan een priemgetal is.
(11) (LIMO 2007) Zij n een natuurlijk getal, p een priemgetal en d een deler van (n + 1)? — n?. Bewijsdatd =1 (mod p).

(12) Zij n een natuurlijk getal en zij p een priemgetal met p < n. Bewijs dat

()=L] min

(13) (IMO 1996) Zijn a en b natuurlijke getallen (verschillend van 0) zodat 15a + 16b en 16a — 15b volkomen kwadraten
zijn. Bepaal de kleinst mogelijke waarde van het kleinste van deze twee kwadraten.

(14) Zijn > 3 een oneven getal. Beschouw de verzameling S van gehele getallen x zodat 1 < & < nenzodatxenz + 1
allebei onderling ondeelbaar zijn met n. Bewijs dat het product van de elementen van S congruent is met 1 modulo n.

(15) (IMO 1990) Bepaal alle natuurlijke getallen n zodat n? | 2" + 1. (Hint: 2 een primitieve wortel is modulo 3%)

3 Uitsmijter: meer over kwadraatresten

Voor diegenen die de bovenstaande theorie al hebben gezien, een “uitsmijter”’: kwadratische reciprociteit in een notendop. . .
Zij p een oneven priemgetal en zij n een geheel getal. Als p | n, dan stellen we (%) = 0. Als p geen deler is van n, dan

noteren we () = 1 indien n een kwadraat is modulo p en () = —1 als n geen kwadraat is modulo p. We noemen () het
Légendre-symbool. Bewijs eerst zelf de volgende eigenschappen:

Er geldt (%) = nP=1/2 (mod p).

o).

1

e Voor alle m,n € Zis (%) = (
)+ -+ 4 (E=2) = 0 - er zijn dus evenveel kwadraten modulo p als niet-kwadraten modulo p.

SE

Er geldt () + (2) + (3

S|

Er geldt (%) = (=1)P=1D/2¢n (%) = (1)@ =18,
De volgende stelling moet je niet proberen te bewijzen:

Stelling. (Kwadratische reciprociteit) Voor oneven priemgetallen p en g geldt dat

(£))-comrse

Voorbeeld 1. Zij n > 3 oneven en zij p een priemdeler van 2" — 1. Bewijs dat p = £1 (mod 8).

Oplossing. Stel n = 2m + 1. Danis 2 - (2™)2 = 1 (mod p). Daaruit volgt dat (%) = 1 (mod p) - immers, stel « is de
inverse van 2" modulo p, dan is «® = 2 (mod p). Uit de bovenstaande eigenschappen volgt dan dat p = +1 (mod 8). O

Voorbeeld 2. Voor welke priemgetallen p heeft de congruentie 72 = —3 (mod p) een oplossing?

Oplossing. VYoor p = 2 en p = 3 is er uiteraard een oplossing. Stel p > 5. We moeten alle p vinden zodat (’73) =1, m.a.w.
zodat (=1)(2) = 1. Maar (2) = (2) - (—=1)»~1/2 wegens de kwadratische reciprociteitswet, en (=£) = (—=1)P=1/2, dus
p/\p P P

we besluiten dat (’73) = (8)(=1)*=! = (%). Bijgevolg voldoen alle p met p = 1 (mod 3). O

Voorbeeld 3. Voor welke natuurlijke getallen n bestaat er een natuurlijk getal m zodat 2" — 1 | m? + 9?2



Oplossing. We bewijzen dat m bestaat als en slechts als n = 2* (met k > 0). Stel eerst dat n geen macht van 2 is. Kies dus
een oneven priemdeler p van n: dan geldt 27 — 1 | m? + 9. Kies een priemfactor ¢ van 2” — 1 met ¢ = 3 (mod 4) en q # 3
(ga na dat ¢ bestaat!). Dan 1 = (’79) = (%)(’Tl) = (’71) = —1 (omdat ¢ = 3 (mod 4)), contradictie. Bijgevolg bestaat m
niet. Stel nu dat n = 2. Stel T}, = 22" + 1, danis 2" — 1 = ToTy T - - - Ty—1. Merk nu op dat ged(T;,T;) = lalsi # j (ga
dat na als oefening!). Kies een natuurlijk getal m zodat m = 2 (mod T}), m = 22 (mod T3), ..., m = 227 (mod Ty—1)
(Chinese reststelling). Dan is m? + 1 deelbaar door Ty T - - - T),_1, en dus is (Sm)2 + 9 deelbaar door 2™ — 1. [

Opgaven

(1) Bewijs dat 16 een volkomen achtste macht is modulo p, voor elk priemgetal p.

(2) Zijn a, b, c paarsgewijs onderling ondeelbare natuurlijke getallen met ¢> = a? — ab + b?. Zij p een priemdeler van c.
Bewijs datp =1 (mod 6).

(3) Zij F, het n-de Fibonacci-getal. Bewijs dat voor elk priemgetal p > 7 geldt dat I, = (£) (mod p).

4 Meer oefenmateriaal!

Hierna volgt nog een lijst van 35 leuke problemen die kan dienen als extra oefenmateriaal. Voor sommige opgaven zal de
theorie die hierboven werd aangehaald erg nuttig zijn, maar er zitten ook opgaven bij die niet rechtstreeks aansluiten op de
theorie. Ik heb de opgaven gerangschikt op moeilijkheidsgraad, maar die rangschikking is natuurlijk subjectief. . .

(1) Drie Amerikaanse wiskundigen gaven een tegenvoorbeeld voor een bekend vermoeden van Euler (in de jaren 1980)
door aan te tonen dat er een natuurlijk getal n bestaat zodat n° = 133° + 110° + 84° + 27°. Wat is de waarde van n?

(2) Het getal 21982145917308330487013369 is de dertiende macht van een natuurlijk getal. Welk getal?

(3) Stel 34! = 95232799¢d96041408476186096435ab000000. Bepaal de cijfers a, b, c en d.

3 oneindig veel gehele oplossingen heeft met , y, z # 0.

(4) Laat zien dat de vergelijking 22 + ¢° = 2
(5) Zijn a en b natuurlijke getallen zodat 2" a + b een volkomen kwadraat is voor alle natuurlijke getallen n. Bewijs: a = 0.
(6) Toon aan dat oneindig veel natuurlijke getallen niet kunnen worden geschreven als 2% + y> + 27, met z, y, z € N.

(7) Zij n een natuurlijk getal zodat N = 2 + 21/28n2 + 1 een natuurlijk getal is. Bewijs dat N een volkomen kwadraat is.
(8) Bepaal alle a,b € N zodat (a + 196)'8 + (a + b)'8 + (19a + b)'® een volkomen kwadraat is.

(9) Bewijs dat voor alle natuurlijke getallen n geldt: 7 | n® + 3" <= 7| n33" + 1.

(10) Definieer voor elk natuurlijk getal n het getal p(n) als de grootste oneven deler van n. Bewijs:

(11) (IMO 1986) Zij d een natuurlijk getal met d ¢ {0,2,5,13}. Bewijs dat er in de verzameling {2, 5, 13, d} steeds twee
getallen a en b zitten zodanig dat het getal ab — 1 geen volkomen kwadraat is.

(12) Zijn n en ¢ natuurlijke getallen met n > 5 en 2 < ¢ < n. Bewijs dat ¢ — 1 een deler is van L@J

(13) Bepaal alle natuurlijke oplossingen van de vergelijking a! - b! = a! + b! + c!.



(14) Toon aan dat elk geheel getal de som is van vijf volkomen derdemachten.

(15) We noemen n € N machtig als n de volgende eigenschap heeft: als n | a™ — 1 voor een zekere @ € N, dan geldt
n? | a™ — 1. Bewijs dat priemgetallen machtig zijn, en dat oneindig veel niet-priemgetallen machtig zijn.

(16) Bepaal alle natuurlijke getallen a en b zodat (/a + /b — 1)% = 49 + 20/6.

(17) Bepaal alle rekenkundige rijtjes van drie natuurlijke getallen met de eigenschap dat het product van de drie termen van
het rijtje geen priemfactor heeft die strikt groter is dan 3.

1788 | deelbaar zijn door 17.

1988J

(18) Zij a de grootste wortel van de vergelijking 3 — 322 + 1 = 0. Bewijs dat |« en |«

(19) Bewijs dat voor elk natuurlijk getal n geldt dat | /n + ¢/n + 1| = | ¥/8n + 3].

(20) Zij N een natuurlijk getal. Bewijs dat er een rij van N opeenvolgende natuurlijke getallen bestaat zodanig dat de j-de
term van deze rij de som is van j verschillende volkomen kwadraten.

(21) Definieer ag = 0, a; = 1 en a2 = 2a,41 + a, voor n > 0. Bewijs: 2% | a,, <= 2* | n.

(22) Defininieer een rij van natuurlijke getallen door ug = 1 en u,41 = au, + b, waarbij a en b willekeurige natuurlijke
getallen zijn. Bewijs dat deze rij (voor elke keuze van a en b) oneindig veel termen heeft die niet priem zijn.

(23) Bewijs dat er oneindig veel natuurlijke getallen n bestaan met n? + 1 | n!.

(24) Definieer yo = 1 en yn41 = 3(3yn + /5y2 — 4). Bewijs dat y,, € N voor alle n.

(25) (IMO 2006) Bepaal alle natuurlijke getallen x en y zodat y? = 1 4 2% + 22%+1,

(26) (IMO 1997) Bepaal alle gehele getallen a en b zodat a® = pe.

(27) (IMO 2003) Bepaal alle gehele getallen a en b zodat a?/(2ab® — b3 + 1) een natuurlijk getal is.

(28) Een deelnemer aan het IMO-stageweekend die niet goed heeft opgelet herinnert zich de kleine stelling van Fermat als
volgt: als p een priemgetal is en a een natuurlijk getal, dan is a?*! = a (mod p). Dat slaat natuurlijk nergens op,
en iedereen die opgelet heeft weet dat de juiste congruentie de volgende is: a? = a (mod p). Maar toch de volgende
vraag: welke natuurlijke getallen p hebben de eigenschap dat aP*! = a (mod p) voor alle natuurlijke getallen a?

(29) Zijnpy,po,--- ,pr > b verschillende priemgetallen. Bewijs dat 7(2P1P2" Pk 4 1) > 4F,

(30) Zijn x en y natuurlijke getallen zodat xy een deler is van 2% 4 y2 + 1. Bewijs dat 22 + 4% 4+ 1 = 3zy.
(31) (IMO 2007) Zijn a en b natuurlijke getallen zodat 4ab — 1 | (4a® — 1)2. Bewijs dat a = b.

(32) Bestaat er een natuurlijk getal m zodanig dat de vergelijking

1+1+1+1_ m
a b ¢ abc a+b+c

oneindig veel natuurlijke oplossingen heeft?
(33) (IMO 1988) Zijn a en b natuurlijke getallen zodat ab + 1 een deler is van a? + b%. Bewijs dat

a’® +b?
ab+1

een volkomen kwadraat is.
(34) (IMO 2000) Bestaat er een natuurlijk getal n met precies 2000 priemdelers zodat n een deler is van 2™ + 1?

(35) (IMO 1998) Voor welke natuurlijke getallen k bestaat er een natuurlijk getal k zodat 7(n?) = k7(n)?



terug naar echt bestand
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Lifting The Exponent Lemma is a powerful method for solving exponential
Diophantine equations. It is pretty well-known in the Olympiad folklore (see,
e.g., [3]) though its origins are hard to trace. Mathematically, it is a close
relative of the classical Hensel’s lemma (see [2]) in number theory (in both the
statement and the idea of the proof). In this article we analyze this method
and present some of its applications.

We can use the Lifting The Exponent Lemma (this is a long name, let’s call
it LTE!) in lots of problems involving exponential equations, especially when
we have some prime numbers (and actually in some cases it “explodes” the
problems). This lemma shows how to find the greatest power of a prime p —
which is often > 3 — that divides a™ £ ™ for some positive integers a and b. The
proofs of theorems and lemmas in this article have nothing difficult and all of
them use elementary mathematics. Understanding the theorem’s usage and its
meaning is more important to you than remembering its detailed proof.

I have to thank Fedja, darij grinberg(Darij Grinberg), makar and ZetaX (Daniel)
for their notifications about the article. And I specially appreciate JBL(Joel)
and Fedja helps about TeX issues.

1 Definitions and Notation

For two integers a and b we say a is divisible by b and write b | a if and only if
there exists some integer ¢ such that a = qb.

We define v,(x) to be the greatest power in which a prime p divides x;
in particular, if v,(z) = a then p® | z but p**! { z. We also write p®||z, if
and only if v,(z) = a. So we have vy(zy) = vp(z) + vp(y) and vy(z +y) >
min {v,(z), v, (y)}.

Example. The greatest power of 3 that divides 63 is 3. because 32 = 9 | 63
but 3% = 271 63. in particular, 32||63 or v3(63) = 2.

Example. Clearly we see that if p and ¢ are two different prime numbers, then
vp(p*4”) = a, or p*[p*¢”.

Note. We have v,(0) = oo for all primes p.



2 Two Important and Useful Lemmas

Lemma 1. Let  and y be (not necessary positive) integers and let n be a
positive integer. Given an arbitrary prime p (in particular, we can have p = 2)
such that ged(n,p) = 1, p | * — y and neither z, nor y is divisible by p (i.e.,
pta and pty). We have

vp(” —y") = vp(z —y).
Proof. We use the fact that
" yn _ ({,C _ y)(xnfl =+ xn72y + xn73y2 N ynfl)'

Now if we show that p{ 2"~ + 2" 2y + 2" 3y? + ... + 9"~ then we are done.
In order to show this, we use the assumption p | ¢ — y. So we have z —y = 0
(mod p), or z =y (mod p). Thus

xn71+xn72y =+ xn73y2 N ynfl

=" 4" gt 2"

=pa" !

#Z0 (mod p).
This completes the proof. O

Lemma 2. Let x and y be (not necessary positive) integers and let n be an odd
positive integer. Given an arbitrary prime p (in particular, we can have p =2)
such that ged(n,p) = 1, p | x +y and neither z, nor y is divisible by p, we have

vp(z™ +y") = vp(z +y).
Proof. Since x and y can be negative, using Lemma 1 we obtain
vp(a" = (=y)") = vp(x = (=y)) = vp(a” +y") = vp(z +y).

Note that since n is an odd positive integer we can replace (—y)™ with —y”. O

3 Lifting The Exponent Lemma (LTE)

Theorem 1 (First Form of LTE). Let x and y be (not necessary positive)
integers, let n be a positive integer, and let p be an odd prime such thatp |z —vy
and none of x and y 1is divisible by p (i.e., ptx and pty). We have

vp(z™ —y") = vp(x — y) + vp(n).

Proof. We may use induction on v,(n). First, let us prove the following state-
ment:

vp(af —yP) = vp(z —y) + 1. (1)



In order to prove this, we will show that
plaP™t Py b P P (2)
and
PP ralTh e Py by Ty (3)
For (2), we note that
P42 Py by Py = paP T =0 (mod p).
Now, let y = x4 kp, where k is an integer. For an integer 1 < ¢ < p we have
ytaP~ 17t = (2 + kp)taP—1—t
t(t

= o (e + L gt 4 )
=P (2 + t(kp)(2*71))
= 2P +thpeP?  (mod p?).
This means
ylaeP 717 = 2P 4 tkpaP™?  (mod p?), t=1,2,3,4,...,p— 1.
Using this fact, we have
2PN gP Ry PR g
=aP 4 (2P FhpaPT?) 4 (2P 4 2kpaP ) 4+ (2P (p — 1)kpaPT?)
=prP 4+ (1+2+4- +p— 1)kpa? 2

-1
prp—l 4 (%) kpxp_2

—1
=paPt + <pT) kp2aP~!

=peP 1 £0 (mod p?).

So we proved (3) and the proof of (1) is complete. Now let us return to our
problem. We want to show that

opla™ = y") = vy = y) + vy ().
Suppose that n = p®b where ged(p,b) = 1. Then
vp(@" = y") = wp((@”")" = (v7°)")

(a4

a—1 a—1

= up(a?” =) = up (@) = "))
=up(a? =)+ L= up(@TP - () 1
=0, (2" =y ) 42



Note that we used the fact that if p |  —y, then we have p | ¥ —y*, because
we have x — y | #¥ — y* for all positive integers k. The proof is complete. O

Theorem 2 (Second Form of LTE). Let z,y be two integers, n be an odd
positive integer, and p be an odd prime such that p | x +y and none of x and y
is divisible by p. We have

vp(a" +y") = vp(z +y) + vp(n).

Proof. This is obvious using Theorem 1. See the trick we used in proof of
Lemma 2. O

4 What about p = 27

Question. Why did we assume that p is an odd prime, i.e., p # 27 Why can’t
we assume that p = 2 in our proofs?

Hint. Note that p—;l is an integer only for p > 2.

Theorem 3 (LTE for the case p = 2). Let x and y be two odd integers such
that 4 | © —y. Then

va(z" —y") = va(x — y) + va2(n).

Proof. We showed that for any prime p such that ged(p,n) = 1,p | * — y and
none of z and y is divisible by p, we have

up(z" —y") = vp(z —y)

So it suffices to show that
1}2(952n — y2n) =va(x — y) + n.

Factorization gives

2n71 27171 27172 27172
+

- = (@ ) (@2 + )@+ y) @ — )

Now since = y = +1 (mod 4) then we have 2=y =1 (mod 4) for all
positive integers k and so z2° + 2 =2 (mod 4),k = 1,2,3,.... Also, since z
and y are odd and 4 | z — y, we have x +y = 2 (mod 4). This means the power
of 2 in all of the factors in the above product (except x — y) is one. We are

done. O

Theorem 4. Let x and y be two odd integers and let n be an even positive
integer. Then

va(z™ —y") = va(x — y) + va(x + y) + v2(n) — 1.



Proof. We know that the square of an odd integer is of the form 4k + 1. So
for odd = and y we have 4 | 22 — y2. Now let m be an odd integer and k be a
positive integer such that n = m - 2¥. Then

m-2F m~2k)

va(x" —y") = va(x™T —y

=vo(2? —y?) + k-1
v2(z —y) +va(x +y) + v2(n) — L.

5 Summary

Let p be a prime number and let  and y be two (not necessary positive) integers
that are not divisible by p. Then:
a) For a positive integer n

o if p#£2andp|x—y, then
vp(a” = y") = vp(z — y) + vp(n).
e ifp=2and 4|z —y, then
v2(a"™ — ") = va(x — y) + v2(n).
e if p=2 niseven, and 2 | z —y, then
va(z™ — y") = ve(x — y) + va(x + y) + v2(n) — 1.
b) For an odd positive integer n, if p | z + y, then
up(z" +y") = vp(x +y) + vp(n).
¢) For a positive integer n with ged(p,n) =1, if p |  — y, we have
vp(a” —y") = vp(z —y).
If n is odd, ged(p,n) = 1, and p | 4+ y, then we have
op(z" +y") = vp(z +y).

Note. The most common mistake in using LTE is when you don’t check the
p | £ y condition, so always remember to check it. Otherwise your solution
will be completely wrong.



6 Problems with Solutions

Problem 1 (Russia 1996). Find all positive integers n for which there exist
positive integers x,y and k such that ged(z,y) = 1,k > 1 and 3" = z* + y*.

Solution. k should be an odd integer (otherwise, if k is even, then z* and y*
are perfect squares, and it is well known that for integers a, b we have 3 | a? + b?
if and only if 3 | @ and 3 | b, which is in contradiction with ged(z,y) = 1.).
Suppose that there exists a prime p such that p |  + y. This prime should
be odd. So v,(3") = v,(z* + y*), and using Theorem 2 we have v,(3") =
vp(xF + y*) = v,(k) + vp(z + y). But p | x + y means that vy(x +y) > 1 >0
and so v,(3") = vp(k) + vp(z +y) > 0 and so p | 3™. Thus p = 3. This means
2 +y = 3™ for some positive integer m. Note that n = vs(k) + m. There are
two cases:

e m > 1. We can prove by induction that 3% > a + 2 for all integers
a > 1, and so we have v3(k) < k — 2 (why?). Let M = max(z,y). Since
x+y=3"2>9, we have M > 5. Then

b >ME = M M 3m 5t

> 3771 . 5/672 > 3m+k72 > 3m+v3(k) — 3n
which is a contradiction.

em =1 Thenz+y =3, s02z =1,y =2 (or x = 2,y = 1). Thus
31tvs(k) = 1 4 2%, But note that 3“3 | k so 3v3(®) < k. Thus

142k =gusth)+l — 3. 3uvs(h) < 3k — 2k 4 1 < 3k,
——"
<k

And one can check that the only odd value of k > 1 that satlsﬁes the
above inequality is K = 3. So (z,y,n, k) = (1,2,2,3),(2,1,2,3) in this
case.

Thus, the final answer is n = 2.

Problem 2 (Balkan 1993). Let p be a prime number and m > 1 be a positive
integer. Show that if for some positive integers x > 1,y > 1 we have

2 +y? (rty "
2\ 2 ’

Solution. One can prove by induction on p that wp;”’p > (%)p for all positive
Ip+yp _ (’I‘_—‘ry ) m
2~ \72 J

then m = p.

integers p. Now since we should have m > p. Let d =
ged(z, y), so there exist positive integers x1,y1 with ged(z1,y1) = 1 such that
x =dwy, y=dy; and 2™ (2] + y}) = d™"P(x1 + y1)™. There are two cases:



Assume that p is odd. Take any prime divisor ¢ of z1+y; and let v = vg (21 +
y1). If ¢ is odd, we see that vy (2] +y}) = v+v,(p) and vy (d™ P (z1+y1)™) > mo
(because ¢ may also be a factor of d). Thus m < 2 and p < 2, giving an
immediate contradiction. If ¢ = 2, then m — 1+ v > mwv, so v < 1 and
T1 + Y1 = 2, i.e.,, x = y, which immediately implies m = p.

Assume that p = 2. We notice that for z+y > 4 we have Ig—gﬁ <2 (%9)2

3 . .
m) , so m = 2. It remains to check that the remaining cases (x,y) =

(1,2),(2,1) are impossible.
Problem 3. Find all positive integers a,b that are greater than 1 and satisfy
b%|a® — 1.

Solution. Let p be the least prime divisor of b. Let m be the least positive
integer for which pla™ — 1. Then m|b and m | p — 1, so any prime divisor
of m divides b and is less than p. Thus, not to run into a contradiction, we
must have m = 1. Now, if p is odd, we have av,(b) < vy(a — 1) + v, (D), so
a—1<(a—1)vy(b) < wp(a—1), which is impossible. Thus p =2, b is even, a is
odd and avs(b) < va(a—1)+wve(a+1)+wv(b) —1 whence a < (a—1)va(b) +1 <
va(a — 1) + va(a + 1), which is possible only if a = 3, v2(b) = 1. Put b = 2B
with odd B and rewrite the condition as 23B% | 328 — 1. Let ¢ be the least
prime divisor of B (now, surely, odd). Let n be the least positive integer such
that ¢ | 3" — 1. Then n | 2B and n | ¢ — 1 whence n must be 1 or 2 (or B has
a smaller prime divisor), so ¢ |3 —1=2or q | 32 — 1 = 8, which is impossible.
Thus B =1 and b= 2.

Problem 4. Find all positive integer solutions of the equation x?°%9 42009 = 72
Solution. Factor 2009. We have 2009 = 72 - 41. Since z +y | 22°%9 + 42999 and
x+y > 1, we must have 7 |  + y. Removing the highest possible power of 7
from x,y, we get vr (2299 + y2909) = v7(z + y) + v7(2009) = v7(z + y) + 2, so
22009 4 42009 — 49 . k. (z + y) where 7 1 k. But we have 22009 4 32009 — 72
which means the only prime factor of x2909 4 2009 is 7. so k = 1). Thus
22009 4 92009 — 49(z 4+ 5). But in this equation the left hand side is much larger
than the right hand one if max(z,y) > 1, and, clearly, (z,y) = (1,1) is not
a solution. Thus the given equation does not have any solutions in the set of
positive integers.



7 Challenge Problems

1. Let k be a positive integer. Find all positive integers n such that 3% | 2" — 1.

2 (UNESCO Competition 1995). Let a,n be two positive integers and let p be
an odd prime number such that

a? =1 (mod p").

Prove that

a=1 (modp" ).

3 (Iran Second Round 2008). Show that the only positive integer value of a for
which 4(a™ + 1) is a perfect cube for all positive integers n, is 1.

4. Let £ > 1 be an integer. Show that there exists infinitely many positive
integers n such that
1™ +2" +3" + -+ k™

5 (Ireland 1996). Let p be a prime number, and a and n positive integers. Prove
that if
2P 43P =qa"

then n = 1.

6 (Russia 1996). Let z,y,p,n,k be positive integers such that n is odd and p
is an odd prime. Prove that if 2" + ™ = p*, then n is a power of p.

7. Find the sum of all the divisors d of N = 198 — 1 which are of the form
d = 293" with a,b € N.

8. Let p be a prime number. Solve the equation a? —1 = p* in the set of positive
integers.

9. Find all solutions of the equation
(n-D!'+1=n"
in positive integers.

10 (Bulgaria 1997). For some positive integer n, the number 3" — 2" is a perfect
power of a prime. Prove that n is a prime.

11. Let m,n,b be three positive integers with m # n and b > 1. Show that if
prime divisors of the numbers 6™ — 1 and b — 1 be the same, then b+ 1 is a
perfect power of 2.

12 (IMO ShortList 1991). Find the highest degree k of 1991 for which 1991%
divides the number L002 100
1990™91 7 4 19921991

13. Prove that the number a®~! — 1 is never square-free for all integers a > 2.



14 (Czech Slovakia 1996). Find all positive integers x, y such that p* —y? =1,
where p is a prime.

15. Let « and y be two positive rational numbers such that for infinitely many
positive integers n, the number " — y” is a positive integer. Show that z and
y are both positive integers.

16 (IMO 2000). Does there exist a positive integer n such that n has exactly
2000 prime divisors and n divides 2™ 4 17

17 (China Western Mathematical Olympiad 2010). Suppose that m and k are
non-negative integers, and p = 22" + 1 is a prime number. Prove that

e 227" =1 (mod pFtl);

e 2T 1pk is the smallest positive integer n satisfying the congruence equa-
tion 2" =1 (mod pF+t!).

18. Let p > 5 be a prime. Find the maximum value of positive integer k such
that

pHl(p =27 — (p— 4P
19. Let a, b be distinct real numbers such that the numbers
a—b, a® =% a® -3, ...
are all integers. Prove that a,b are both integers.

20 (MOSP 2001). Find all quadruples of positive integers (z,7,p,n) such that
p is a prime number, n,r > 1 and 2" — 1 = p".

21 (China TST 2009). Let a > b > 1 be positive integers and b be an odd
number, let n be a positive integer. If b | a™ — 1, then show that a® > 37

22 (Romanian Junior Balkan TST 2008). Let p be a prime number, p # 3,
and integers a,b such that p | a + b and p? | a® + b3. Prove that p* | a + b or
| a® + b3

23. Let m and n be positive integers. Prove that for each odd positive integer b
there are infinitely many primes p such that p™ =1 (mod b™) implies b~ | n.

24 (IMO 1990). Determine all integers n > 1 such that

2" +1
2

n
is an integer.
25. Find all positive integers n such that
2" +1
n

is an integer.



(5 —27)(5¢ = 29)
bq

26. Find all primes p, g such that is an integer.

27. For some natural number n let a be the greatest natural number for which
5™ — 3" is divisible by 2%. Also let b be the greatest natural number such that
2b < n. Prove that a < b+ 3.

28. Determine all sets of non-negative integers x,y and z which satisfy the
equation
2% 4 3V = 22,

29 (IMO ShortList 2007). Find all surjective functions f : N — N such that for
every m,n € N and every prime p, the number f(m + n) is divisible by p if and
only if f(m) + f(n) is divisible by p.

30 (Romania TST 1994). Let n be an odd positive integer. Prove that ((n —
)™ +1)2 divides n(n — 1)(»=D"+1 4 p,
31. Find all positive integers n such that 3 — 1 is divisible by 2™.

32 (Romania TST 2009). Let a,n > 2 be two integers, which have the following
property: there exists an integer k > 2, such that n divides (a — 1)*. Prove that
n also divides a" ' +a" 24 ---+a+ 1.

541
3u

33. Find all the positive integers a such that is a positive integer.

10



8 Hints and Answers to Selected Problems

1. Answer: n = 2-3%1s for some s € N.
2. Show that vp(a — 1) =vp(a? —1) —1>n—1.

3. If a > 1, a®>+1 is not a power of 2 (because it is > 2 and either 1 or 2 modulo
4). Choose some odd prime p|a? + 1. Now, take some n = 2m with odd m and
notice that v,(4(a"™ + 1)) = v,(a® + 1) + v,(m) but vy(m) can be anything we
want modulo 3.

5. 2P + 37 is not a square, and use the fact that vs(2P + 37) = 1+ v5(p) < 2.
8. Consider two cases : p =2 and p is an odd prime. The latter does not give

any solutions.

9. (n,m) = (2,1) is a solution. In other cases, show that n is an odd prime and
m is even. The other solution is (n,m) = (5, 2).

12. Answer: max(k) = 1991.

13. Take any odd prime p such that p | @ — 1. It’s clear that p? | a®~! — 1.

14. Answer: (p,z,y) = (2,1,1),(3,2,1).

18. Let p — 1 = 2%m and show that v,(257*m) = 0. The maximum of k is 1.
19. Try to prove Problem 15 first.

20. Show that p =2 and r is an even positive integer.

22. If p | a,p | b, then p? | a® + b3. Otherwise LTE applies and v,(a + b) =
vp(ad +b%) > 2.

24. The answer isn =1or n = 3.

26. Answer: (p,q) = (3,3),(3,13).

27. If n is odd, then a = 1. If n is even, then a = v3(5" — 3") = v2(5 — 3) +
v2(5 4+ 3) +v2(n) — 1 =3 4+ v2(n). But, clearly, b > va(n).

30. n|(n—1)" 41, so for every p | (n —1)" + 1, we have

vp((n = 1)@V 4 1) =g (= 1) +1) + v, (W)

= 2u,((n — 1)" + 1) — ()

which completes the proof.
31. n <wvy(3" —1) <34 wy(n), son < 4.
33. amust be odd (otherwise the numerator is 2 mod 3). Thena < v3(5%+1) =

1+ v3(a) giving a = 1 as the only solution.

11
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Het Duivenhokprincipe

Arne Smeets

1 Duivenhok, zn., onz. (-ken), hok waarin men duiven houdt

Dit is alles wat de “Dikke Van Dale” ons weet te vertellen over het woord duivenhok. Een saai
begrip, nee? Zeker niet interessant genoeg om een hele lesbrief te vullen... maar wanneer we het
hebben over het duivenhokprincipe, dan worden de zaken al direct veel interessanter, en dan weet
de Van Dale plots van toeten noch blazen. Deze lesbrief gaat dus over het duivenhokprincipe, ook
wel het ladenprincipe van Dirichlet genoemd. In het Frans spreekt men over le principe des tiroirs
en in het Engels heeft men het over the pigeonhole principle, dat we zullen afkorten als “PHP”.
Met behulp van een drietal eenvoudige stellingen (die we PHP1, PHP2 en PHP3 zullen noemen)
kunnen we een aantal zeer leuke en uiteenlopende problemen oplossen: hoofdzakelijk opgaven uit de
combinatoriek, maar soms ook algebraische, getaltheoretische en zelfs meetkundige problemen. Vaak
zijn dit moeilijke vragen: het duivenhokprincipe mag dan wel zeer eenvoudig zijn, in veel gevallen
is het verre van evident om het op de juiste manier toe te passen. Je bent gewaarschuwd... Succes!

2 Lang geleden waren er eens n duiven en k duivenhokken...

Veel theorie valt er hier niet te bespreken: ik presenteer hier drie eenvoudige stellingen, die door
sommigen misschien zelfs als “vanzelfsprekend” en logisch zullen worden beschouwd. Men gebruikt
dikwijls duiven en duivenhokken (of laden en voorwerpen) om deze stellingen te formuleren, maar
in feite handelen deze stellingen over verzamelingen en functies. Na elke stelling vermeld ik dus
ook de “formele” (wiskundig correcte) versie van de stelling. We zullen in dit hoofdstukje het aantal
elementen van een verzameling S voorstellen door |S|. Met [x] bedoel ik natuurlijk de entier van z,
met andere woorden, het grootste geheel getal, kleiner dan of gelijk aan z.

Stelling. (PHP1) Zij n € Ny. Als men meer dan n duiven over n duivenhokken verdeelt, dan
bestaat er duivenhok dat minstens twee duiven bevat.

Bewijs. Als elk duivenhok ten hoogste één duif zou bevatten, dan zou het totaal aantal duiven
(in alle n duivenhokken samen) niet groter zijn dan n. Dit is een contradictie, dus er bestaat een
duivenhok dat minstens twee duiven bevat. [

We herformuleren deze stelling: als A en B eindige verzamelingen zodat |A| > |Bl,enals f: A — B
een afbeelding is, dan kan f niet injectief zijn. Zie je waarom dit precies dezelfde stelling is?

Stelling. (PHP2) Als men oneindig veel duiven over een eindig aantal duivenhokken verdeelt, dan
bestaat er een duivenhok dat oneindig veel duiven bevat.

Bewijs. Als elk duivenhok een eindig aantal duiven zou bevatten, dan zou het aantal duiven in alle
duivenhokken samen eindig zijn (omdat er slechts een eindig aantal duivenhokken is). Dit is een
contradictie, dus een van de duivenhokken bevat oneindig veel duiven. [

Als je “professioneel” wil klinken dan kan je de stelling ook als volgt formuleren: als A een oneindige
verzameling is, als B een eindige verzameling is en als f : A — B een afbeelding is, dan bestaat er
een oneindige verzameling C' C A zodat alle elementen van C' hetzelfde beeld hebben onder f.

De meest algemene vorm van het duivenhokprincipe (en de meeste krachtige) is de volgende:

Stelling. (PHPS3) Zijn n,k € Ng. Als men n duiven verdeelt over k duivenhokken, dan bestaat er
een duivenhok dat minstens [”771] + 1 duiven bevat.

(Of nog: als m en n natuurlijk getallen zijn, en men verdeelt meer dan mn duiven over n duiven-
hokken, dan bestaat er een duivenhok dat minstens m + 1 duiven bevat.)

Bewijs. Als elk duivenhok minder dan [”T’l] + 1 duiven zou bevatten, dan zou het totaal aantal

duiven in alle duivenhokken samen niet groter zijn dan % [”T_l] . Nu is het duidelijk dat [x] < 2 voor



alle reéle getallen x. Bijgevolg is & - ["T_l] < n—1. Het totaal aantal duiven zou dus niet groter zijn
dan n — 1, maar dat is onmogelijk aangezien er n duiven zijn. Bijgevolg bestaat er een duivenhok

dat minstens [%} + 1 duiven bevat. OJ

De herformulering van de vraag laat ik deze keer aan jou over.

3 Minstens twee Vlamingen hebben evenveel hoofdharen!

In dit hoofdstukje presenteer ik een aantal mooie (en soms moeilijke) toepassingen van het duiven-
hokprincipe. Het eerste voorbeeldje is echter verre van moeilijk...

Voorbeeld 0. Er bestaan twee Vlamingen die evenveel hoofdharen hebben.

Bewijs. Een mens heeft niet niet meer dan 200.000 hoofdharen (een bekend biologisch feit). Omdat
er veel meer dan 200.000 niet-kale Vlamingen zijn, moeten minstens twee Vlamingen evenveel haren
op hun hoofd hebben, volgens PHP1. [J

Voila, tijd voor de serieuze voorbeelden...

Voorbeeld 1. (VWO 1989) Bewijs dat elke deelverzameling met 55 elementen van de verzameling
S ={1,2,3,...,100} twee getallen bevat waarvan het (positieve) verschil gelijk is aan 9.
Oplossing. Zij A een deelverzameling van S met |A| = 55 en zijn a; < ag < ... < as5 de elementen
van A. Definieer b; = a; + 9 voor i = 1,2,3,...,55. Dan geldt bs5 = as5 + 9 < 109. We hebben dus
110 natuurlijke getallen a;, b;, allen kleiner dan 110 en verschillend van 0. Volgens PHP1 moeten
twee van deze getallen gelijk zijn, zodat a; = b; voor zekere indices 7 en j, en a; —a; = 9. O

Er bestaan verschillende alternatieve oplossingen voor deze vraag; je kan bijvoorbeeld restklassen
modulo 9 beschouwen. Volgens PHP3 moeten minstens 7 elementen van A tot dezelfde restklasse
behoren; noem deze getallen b; < by < ... < by. We veronderstellen dat er geen indices 7 en j bestaan
zodat a; —a; = 9. Omdat de zeven getallen b; tot dezelfde restklasse behoren (mod 9) zal b; —b; > 18,
waarbij 1 < i< j <7. Danis by — by = (by — bg) + (b — b5) + ... + (ba — b1) > 6- 18 = 108. Dat is
natuurlijk onmogelijk voor twee getallen die tot S behoren; de veronderstelling was dus foutief. O

Soms kan het duivenhokprincipe in een meetkundige context worden toegepast:

Voorbeeld 2. In een vierkant waarvan de zijde lengte 1 heeft liggen 51 punten. Bewijs dat er een
cirkelschijf met straal % bestaat die minstens 3 van de gegeven punten bedekt.

Oplossing. Verdeel het vierkant in 25 congruente vierkantjes met zijden van lengte % Volgens

PHP3 bestaan er dan 3 punten die in hetzelfde vierkant liggen. Noem dit vierkant V' en noem O het

middelpunt van dit vierkant. De omgeschreven cirkel van V' heeft middelpunt O en straal ﬁ < %
1

De cirkel met middelpunt O en straal = zal het vierkant V' bijgevolg volledig bedekken, en bijgevolg
zullen ook alle punten binnen V' (dit zijn er minstens 3) bedekt worden door deze cirkel. O

Het volgende voorbeeldje is een schitterende toepassing van het duivenhokprincipe:
Voorbeeld 3. Bewijs dat elke verzameling van 13 reéle getallen twee getallen a en b bevat zodat

bb§2—\/§.

0< 2

Oplossing. Zij S = {s1, s2, ..., s13} de gegeven verzameling en stel ¢; = bgtan s; voor i = 1,2, ..., 13.
Dan geldt voor ¢ = 1,2,...,13 dat ¢; € [-7/2,7/2]. We verdelen het interval [—7/2,7/2] in twaalf
deelintervallen van gelijke lengte, namelijk de intervallen [k7/12, (k 4+ 1)7/12] voor k = —6, -5, ..., 5.
Omdat er 13 getallen ¢; gegeven zijn zullen twee getallen tot hetzelfde interval behoren (PHP1),
met andere woorden, er bestaan indices p en ¢ zodat 0 < ¢, —t, < 7/12. Omdat de tangensfunctie
stijgend is op het interval |—m/2,7/2[ geldt er dat 0 < tan (¢, — t4) < tan(7/12). Merk nu op dat
tan (7/12) = 2 — v/3 en dat

_ tant, — tant, _ Sp— 84
~ 1l+tant,-tant, 1+sps,

tan (tp — tq)

Stel s, = a en s, = b: we zijn nu klaar. [



Soms moet je een opgave veralgemenen om die te kunnen oplossen:

Voorbeeld 4. (Servié-Montenegro 2002) Toon aan dat er een natuurlijk getal k # 0 bestaat zodat
de cijfers 3, 4, 5 en 6 niet voorkomen in de decimale voorstelling van het getal & - 2002!.
Oplossing. We bewijzen een veel mooiere stelling: alle natuurlijke getallen n hebben een veelvoud
van de vorm 11...100...0. (In dit geval is natuurlijk n = 2002!) Zij ar = 11...11 het getal dat uit
k cijfers 1 bestaat. Natuurlijk bestaan er oneindig veel dergelijke getallen, maar er zijn slechts eindig
veel restklassen modulo n. Volgens PHP2 bestaan er dus indices p en ¢ zodat a, = a4 (mod n).
Bijgevolg is n|a, — a4, en a, — a4 is van de vorm 11...100...0, dus we zijn klaar. O

De volgende drie voorbeelden zijn zeer moeilijke opgaven. Je zal zien dat de toepassing van het
duivenhokprincipe vaak slechts een klein stukje is van de volledige oplossing van een opgave.

Voorbeeld 5. Gegeven is een rechthoekig rooster van punten met 13 rijen en 13 kolommen. Men
kleurt 53 van de 169 gegeven punten rood. Bewijs dat er een rechthoek bestaat waarvan de zijden
evenwijdig zijn aan de randen van het rooster en waarvan alle hoekpunten rode roosterpunten zijn.
Oplossing. Noem a4, asg, ..., a1z het aantal rode punten in de eerste, tweede, ..., dertiende rij
respectievelijk. Natuurlijk is a3 4+ a3 + ... + a13 = 53. Na enig nadenken zien we dan dat er een

dergelijke rechthoek bestaat als
13
af 13 _
Z<2> > <2> =78. (%)

k=1

a;

2) mogelijke koppels van rode punten in die rij. Beschouw nu de 13
kolommen van het rooster. Er zijn (123) = 78 mogelijke combinaties van twee kolommen. Als nu (x)
geldt, dan zal een zekere combinatie van twee kolommen minstens twee maal bereikt worden door
twee paren van punten (PHP1), waarbij de twee punten van elk paar in dezelfde rij liggen en waarbij
de twee paren onderling in verschillende rijen gelegen zijn. (Dit klinkt moeilijk maar dat is het niet.)

Het volstaat dus om te bewijzen dat (*) geldt. Welnu,

Inderdaad, voor rij i zijn er (

13 13

> la L ag(a, — 1 1 9 1
(1)t St S

k=1 k=1 k=1 k=1
Nu is a1 + ag + ... + a;3 = 53 dus geldt volgens de ongelijkheid van Cauchy dat

13
(af+a3+...+afy) (P+12+..+1%) > (a1 + a2 + ... + a13)° = Za% >
k=1

5
13°

Bijgevolg geldt inderdaad dat

13
1 1 1 (532
g 2y k22‘<1353>>78

dus moet er een dergelijke rechthoek bestaan. [J

Voorbeeld 6. (IMO 1987 Vraag 3) Zijn x1, T2, ..., T, reéle getallen zodat 23 + 23 + ... + 22 = 1.
Bewijs dat, Vk € N zodat k > 2, er gehele getallen aq, aso, ..., a, bestaan, niet allen gelijk aan 0,
zodat |a;| < k — 1 voor alle i en zodat

(k= 1)y

et apx,| <
larz1 + agza + ... + anzy| < 1

Oplossing. Zonder verlies van de algemeenheid mogen we veronderstellen dat x1 > xo > ... > x,.
Zij m de unieke index waarvoor geldt dat x1, z2, ..., Ty, > 0 en Tpmi1, ..., T < 0. (Als alle getallen
x; strikt negatief zijn, dan stellen we m = 0; als alle getallen x; positief zijn dan stellen we m = n.)
Zij C de verzameling van alle vectoren (c1,ca, ..., ¢,) € R™ zodat ¢; € {0,1, ...,k — 1}. Beschouw alle



mogelijke waarden van de som S = c121 + coxa + ... + ¢y, voOI (C1,C2,...,¢n) € C. De kleinst en
grootst mogelijke waarden van S worden respectievelijk bereikt voor

(c1,¢2, ) = (0,...,0,k — 1, ...k — 1);
—_—— —————

m n—m

(c1,¢2yycn) = (k—1,..,k—1,0,...,0).
——————— ——

Noem deze extreme waarden A en B respectievelijk, dan geldt er dat
B—A=(k—1)(|z1] + |z2| + ... + |2n])-
Omdat 22 + 23 + ... + 22 = 1 geldt volgens de ongelijkheid van Cauchy dat
(@ as+ .+ 22) A+ 14+ 1) > (o] + |o2] + o+ |2])? = 21|+ 22| + o+ |2n] < V0

Bijgevolg is B — A < (k — 1)y/n. Nu liggen alle waarden die S kan aannemen in het interval
[A, B]. We verdelen dit interval in N = k™ — 1 deelintervallen van gelijke lengte, namelijk van
lengte (B — A)/N. Omdat de verzameling C precies k™ vectoren bevat, bestaan er volgens PHP1

/!

twee vectoren (cf,ch,...,c,) en (¢f,cf,...,cr) waarvoor de corresponderende sommen S’ en S” in

hetzelfde deelinterval liggen, waarbij
S'=dm + e+ ...+, S =dr+ A+ .. =dx,.

Dan geldt dus |S" — S| < (B — A)/N. Neem nu a1 = ¢, — ¢} voor i = 1,2,....,n. Op die manier
verkrijgen we een vector (ai,as,...,ay), verschillend van de nulvector in R™, waarvoor geldt dat
la;] <k —1voori=1,2,..,nen

B-A _(k=1)vn
N = k-1

la1z1 + aowo + ... + apz,| = |9 = 9" <

dus we hebben gehele getallen a4, asg, ..., a,, gevonden die voldoen aan het te bewijzen. [J

Voorbeeld 7. (IMO 2001 Vraag 3) Aan een wiskundecompetitie namen 21 jongens en 21 meisjes
deel. Achteraf bleek dat geen enkele deelnemer meer dan 6 problemen oploste, en dat er voor elke
jongen en voor elk meisje minstens één probleem bestaat dat door zowel die jongen als door dat
meisje opgelost werd. Bewijs dat er een probleem bestaat dat opgelost werd door minstens 3 jongens
en minstens 3 meisjes.

Oplossing. Om te beginnen voeren we een paar notaties in. Noem J de verzameling van de jongens,
M de verzameling van de meisjes, P de verzameling van de problemen. Dan is |M| = |J| = 21.
Noem P(m) de verzameling van de problemen die opgelost werden door een meisje m € M en P(j)
de verzameling van de problemen die opgelost werden door j € J. Tenslotte noemen we J(p) en
M (p) respectievelijk de verzamelingen van de jongens en meisjes die het probleem p € P oplossen.
Nu kunnen we aan de slag. We willen bewijzen dat er een probleem p € P bestaat waarvoor geldt dat
|J(p)| > 3en |[M(p)| > 3. We veronderstellen dat dit niet het geval is. We zullen op twee verschillende
manieren het aantal elementen tellen van de verzameling T = {(p,m,j) | p € P(m) N P(j)}.
Natuurlijk is |T| > 212 = 441, omdat er 212 koppels (j, m) bestaan van een jongen en een meisje en
omdat er voor elk koppel (j,m) een probleem bestaat dat zowel door j als door m opgelost werd.
Veronderstel dus dat er geen p € P bestaat zodat |M(p)| > 3 en |J(p)| > 3. We merken op dat

Do IPm) =" [M(p)l <6[M| =126, Y |P(j)l =Y |J(p)| <6]J| =126

meM peP JjeJ peP

omdat geen enkele deelnemer meer dan 6 problemen oplost. (De gelijkheden hierboven kan men
eenvoudig aantonen en zijn eigenlijk niet meer dan logisch.) We definiéren nu

Py ={peP| |[M(p)>3}); P-={peP||Mp)| <2}



We zullen bewijzen dat

S IM@) =M, Y T@)] =[] (%)

peEP_ pEP;
Zij m € M een willekeurig meisje. Volgens het duivenhokprincipe lost m een probleem p op dat door
minstens [%] + 1 = 4 jongens opgelost wordt. Wegens onze veronderstelling volgt uit |J(p)| > 4
dat p € P_, dus elk meisje lost minstens één probleem uit P_ op. Op analoge wijze toont men aan
dat elke jongen minstens één probleem uit Py oplost. Daarmee is (x) bewezen. Dan geldt ook

DM =Y [Mp) - Y M) <5|M[, Y [J(p)]<5]]].
peEPL peP peP_ peP_

Nu is
T =Y IM®)|-[J(p) = Y M- 1J@)]+ Y M) [J(p)

en bijgevolg geldt volgens onze veronderstelling dat

T <2 [M@p)|+2 Y |[J(p)| <10|M]|+10]J| = 420.

pEPL peEP_

We bewezen echter dat |T'| > 441. Onze veronderstelling was dus foutief; we zijn dus klaar. O

4 Al doende leert men!

De eerste opgaven zijn zeer eenvoudig, de laatste opgaven zijn aan de moeilijke kant (maar natuurlijk
niet zo moeilijk als Voorbeeld 7.) De laatste opgave is vraag 6 van IMO 2005: normaalgezien is zo'n
vraag onoplosbaar voor een Belg, maar in 2005 was vraag 6 iets gemakkelijker dan gewoonlijk, en
maar liefst 2 van de 3 Vlaamse IMO-deelnemers losten deze vraag op! Succes!

1. Bewijs dat er een getal N van de vorm 20042004...2004 bestaat waarvoor geldt:
e N is deelbaar door 2003, en

e N heeft niet meer dan 10.000 cijfers in decimale voorstelling.

2. (IMO 1972 Vraag 1) Bewijs: elke verzameling van 10 natuurlijke getallen kleiner dan 100,
heeft twee disjuncte deelverzamelingen waarvan de sommen van de elementen gelijk zijn.

3. Bewijs: elk veelvlak heeft twee zijvlakken die begrensd worden door een gelijk aantal zijden.

4. (British Mathematical Olympiad 2000) Bestaat er een verzameling van elf gehele getallen zodat
geen zes van deze gehele getallen een zesvoud als som hebben?

5. Een basketbalteam speelde 45 wedstrijden in een maand met 30 dagen. Elke dag speelde het
team minstens één wedstrijd. Bewijs dat er een periode van een bepaald aantal dagen bestaat
zodat het team gedurende die periode precies 14 wedstrijden speelde.

6. (Rusland 1961) Men plaatst 120 vierkantjes met zijden van lengte 1 binnen een rechthoek met
afmetingen 20 x 25, en dat op willekeurige wijze. Bewijs dat men een cirkel met diameter 1
binnen deze rechthoek kan plaatsen zodat deze cirkel geen enkel vierkantje snijdt.

7. (Bulgarian Mathematical Olympiad 2003) Bart en Ria spelen het volgende spel. Bart schrijft
n verschillende natuurlijke getallen op een papier, met n een natuurlijk getal. Ria mag enkele
van deze getallen wegstrepen (ze mag er ook geen enkel wegstrepen, maar ze mag ze zeker niet
allemaal wegstrepen). Daarna mag Ria voor elk van de overblijvende getallen een + of een —
zetten en de som bepalen van de getallen die ze op deze manier bekomt. Als deze som deelbaar
is door 2003 dan wint Ria. In het andere geval wint Bart. Voor welke waarden van n heeft
Bart een winnende strategie, en voor welke waarden van n heeft Ria een winnende strategie?



10.

11.

(IMO 1988 Longlist) Zijn a1, as,...,a11 € Z. Bewijs dat er by, ba,...,b11 € {—1,0,1} bestaan
(niet allen gelijk aan 0) zodat 21161:1 ayby deelbaar is door 2005.

(China 1990) Bepaal het kleinste natuurlijk getal n zodat er voor elke verzameling {a1, as, ..., a, }
van n verschillende reéle getallen, gekozen uit het interval [1, 1000], indices ¢ en j bestaan waar-

voor geldt dat 0 < a; — a; < 1+ 3 ¥ya;a;.

Binnen een cirkel met straal 16 liggen 650 gegeven punten. Definieer een ring als het vlakdeel
dat begrepen is tussen twee concentrische cirkels met stralen 2 en 3 respectievelijk. Bewijs dat
men een ring kan plaatsen zodat minstens 10 van de 650 punten bedekt worden door deze ring.

(IMO 2005 Vraag 6) Bij een wiskundewedstrijd kregen de deelnemers 6 opgaven voorgelegd.
Teder tweetal van deze opgaven werd door meer dan % van het aantal deelnemers opgelost.
Niemand loste alle 6 de opgaven op. Laat zien dat minstens 2 deelnemers ieder precies 5

opgaven hebben opgelost.



terug naar echt bestand

6.4
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Geometry for the Olympiad Enthusiast

Bruce Merry

A booklet in this series was last published in 1996, and the series has been some-
what dormant since. Geometry has long been a gap in this series, and eventually |
decided to address this gap. | started writing this booklet in December 2000. It was
then put aside for three years, while | focused on my studies. In December 2003 |
finally returned to finish the rather delayed project.

This booklet is primarily about classical, or Euclidean, geometry. Trigonometry is
used as a tool, but is not explored in great depth, and coordinate geometry barely puts
in an appearance. While tackling the exercises and geometry problems in general,
one should remember that trigonometry and coordinate geometry are powerful tools.
| simply did not have much to say about them.

The booklet assumes a knowledge of high-school geometry. If you have not com-
pleted the high-school syllabus, it would be a good idea to first find a textbook and
work through both the theory and the exercises. The proofs included here are some-
what terse and you may need to fill in a few details yourself.

Some important results are left as problems, so you should at the very least read
the problems (although you really should attempt to solve them, as well). The po-
sitioning of problems in the book is a good indicator of how you are expected to
tackle them, although of course there are usually other solutions. There are two types
of problems: exercises that deal very specifically with the topic in hand, and real
olympiad problems. The olympiad problems are labelled with a star (x). The exer-
cises are generally easier than the olympiad problems, but some of them are quite
challenging.

I would like to thank Dirk Laurie for writing his Geomplex diagram drawing
package. This book would not have been possible without it. | would also like to
thank Mark Berman, whose flair for geometry has always inspired me to find elegant
solutions.
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1 Techniques

Geometry is unlike many of the other areas of olympiad mathematics, requiring more
intuition and less algebra. Nevertheless, it is important to do the basic groundwork as
otherwise your intuition has nothing with which to work.

Here are some suggestions on ways to approach a geometry problem.

Draw a quick diagram so that you can visualise the problem.

Draw a neat and accurate diagram — this will often reveal additional facts
which you could then try to prove.

Draw a deliberately incorrect diagram (this could be your initial diagram), so
that you don’t accidentally assume the result because you referred to your ac-
curate diagram (this is particularly important if you are proving concurrency or
collinearity).

It is very important to do as much investigation as you can. Try to relate as
many angles and line segments as you can, even if you have several variables.
Then look for similar or congruent triangles, parallel lines and so on. This on
its own can be enough to solve some easier problems without even having to
think.

There are many approaches to attack geometry problems e.g. Euclidean geom-
etry, coordinate geometry, complex numbers, vectors and trigonometry. Think
about applying all the ones that you know to the problem and deciding which
ones are most likely to work. Be guided by what you are asked to prove: for
example, if you are asked to prove that two lines are parallel then coordinate
geometry might work well, but if the problem involves lots of related angles
then trigonometry may be a better approach.

Don’t be afraid to get your hands dirty with trigonometry, coordinate geometry
or algebra. While such solutions might not be as “cool” as solutions that require
an inspired construction, they are often easier to find and score the same num-
ber of points. However, doing as much as possible with Euclidean geometry
first can make the equations simpler.

Look for constructions that will give you similar triangles, special angles or
allow you to restate the problem in a simpler way. For example, if you are asked
to prove something about the sum of two lengths, try making a construction
that places the two lengths end to end so that you only have to prove something
about the length of a single line.

o Assume that the result is true, and see what follows from this. This may lead
you to intermediate results which you can then try to prove.

e Always check that you haven’t omitted any cases such as obtuse angles or
constructions that are impossible in certain cases (for example, you can’t take
the intersection point of two lines if they are parallel). This booklet does a
terrible job of this, because the special cases are almost always trivial. I’'m
lazy, the duplication costs of this booklet are high, the rainforests are dying,
and this is not a competition. In a competition, you can expect to lose marks if
your proof does not work in all cases.

2 Terminology and notation

There is some basic terminology for things that share some property. Concurrent lines
pass through a common point, and collinear points lie on a common line. Concyclic
points lie on a common circle; note that “A, B, C and D are concyclic” does not have
the same meaning as “ABCD is a cyclic quadrilateral”, since the latter implies that the
points lie in a particular order around the circle. Concentric circles have a common
centre.

The humble triangle has possibly the richest terminology and notation. There are
numerous “centres”, generally the point of concurrency of certain lines, and a few
have corresponding circles.

incentre The centre of the incircle (inscribed circle); the point of concurrency of the
internal angle bisectors

circumcentre The centre of the circumcircle (circumscribed circle); the point of con-
currency of the perpendicular bisectors

excircle The centre of an excircle (escribed circle); the point of concurrency of two
external and one internal angle bisector

orthocentre The point of concurrency of the altitudes

centroid The point of concurrency of the medians (lines from a vertex to the mid-
point of the opposite side)

Most of these terms should be familiar from high-school geometry. An unfamiliar
term is a cevian: this is any line joining a vertex to the opposite side.

2



For this booklet (particularly section 6), we also introduce a lot of notation for
triangles. Some of this is standard or mostly standard while some is not; you are
advised to define any of these quantities in proofs, particularly K, x, y and z.

| the incentre

Ia the excentre opposite A

O the circumcentre

G the centroid

H the orthocentre

a the side opposite vertex A (similarly for B and C)

s the semiperimeter, &+5+¢

X the tangent from A to the incircle, %M =s—a(similarly fory and z)
R the radius of the circumcircle (circumradius)

r the radius of the incircle (inradius)

ra the radius of the excircle opposite A
ha the height of the altitude from A to BC
a the angle at A (similarly for B and y)

K the area of the triangle

We also use the notation | AABC| (or just |ABC|) to indicate the area of AABC.

3 Directed angles, line segments and area

In classical geometry, most quantities are undirected. That means that if you measure
them in the opposite direction, they have the same value (AB = BA, ZABC = ZCBA,
and |AABC| = | ACBA|). Most of the time this is a reasonable way of doing things.
However, it occasionally has disadvantages. For example, if you know that A, B and
C are collinear, and AB = 5, BC = 3, then what is AC? It could be either 2 or 8,
depending on which way round they are on the line. The same problem arises when
adding angles or areas.

A C B
A B C

Normally these situations are not important, because it is clear from a diagram
which is correct. However, sometimes there are many different ways to draw the
diagram, leading to a proof with many different cases. Another way to solve the
problem is to treat the quantities as having a sign, indicating the direction. So now
if you are told that AB = 5, BC = 3 then you can be sure that AC = AB+ BC = 8.
This is because both have the same sign, and hence are in the same direction. If C
lay between A and B, then AB =5, BC = —3 and so AC = AB+BC = 2. It could
also be that AB = —5, BC = 3; the positive direction is generally arbitrary but must
be consistent. What is important is that no matter in what order A, B and C lie, the
equation AC = AB -+ BC holds.

Directed line segments have somewhat limited use, because it only makes sense
to compare lines that are parallel. Generally they are used when dealing with ratios
or products of collinear line segments (see Menelaus’ Theorem (6.3), for example).
Directed angles and directed area are more often used.

A directed angle ZABC is really a measure of the angle between the two lines AB
and BC. Conventionally, it is the amount by which AB must be rotated anti-clockwise
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to line up with BC. One effect of this is that while normal angles have a range of 360°,
directed angles only have a range of 180°! This is because rotating a line by 180°
leaves it back where it started, so 180° is equivalent to 0°. To indicate this, equivalent
angles are sometimes written ZABC = ZDEF rather than Z/ABC = ZDEF. This
limitation occasionally has disadvantages, and in particular it is not generally possible
to combine trigonometry with directed angles (since the sin and cos functions only
repeat every 360°). This is made up for by the special properties that directed angles
do have:

1. ZAMC = ZAMB + /BMC;

2. ZAXY = ZAXZ iff X,Y,Z are collinear

3. ZXYZ =0°iff X,Y,Z are collinear

4. /ABC+ /BCA+ ZCAB = 0;

5. ZPQS = ZPRS iff P,Q,R and S are concyclic.

Property 1 is simply the basis of directedness: the relative positions don’t matter.
Property 2 is trivial if Y and Z lie on the same side of X, and the fact that adjacent
angles add up to 180° if not. Property 3 just restates the fact that rotating a line onto
itself leads to no rotation. Property 4 is the result that angles in a triangle add up to
180°, but also brings in the fact that the three angles are either all clockwise or all
anti-clockwise. Property 5 is the really interesting one: it is simultaneously the same
segment theorem and the alternate segment theorem, depending on the ordering of
the points on the circle. The problem below illustrates why having a single theorem
can be so important.

Directed areas are used even less often than directed angles and line segments,
but are sometimes useful when adding areas to compute the area of a more complex
shape. Conventionally, a triangle ABC has positive area if A, B and C are arranged in
anti-clockwise order, and negative if they are arranged in clockwise order.

Exercise 3.1. Three circles, I'1, ' and "z intersect at a common point O. 1 and '
intersect again at X, ', and I3 intersect again at Y, and '3 and "1 intersect against
at Z. Ais a point on I'; which does not lie on ', or 3. AX intersects ', again at B,
and BY intersects '3 again at C. Prove that A, Z and C are collinear.

Exercise 3.2 (Simpson Line). Perpendiculars are dropped from a point P to the
sides of AABC to meet BC,CA,AB at D, E, F respectively. Show that D, E and F are
collinear if and only if P lies on the circumcircle of AABC.

5

You will find that directed angles in particular play a large role in the theorems in
this book, and they are introduced early on for this purpose. Do not be led to believe
that directed angles are so wonderful that they should be used for all problems: theo-
rems try to make very general statements and use directed angles for generality, but
most problems are constrained so that normal angles are adequate (e.g. points inside
triangles or acute angles). Normal angles are easier to work with simply because one
does not need to think about whether to write ZABC or ZCBA.

4 Trigonometry

Trigonometry is seldom required to solve a problem. After all, trigonometry is really
just a way of reasoning about similar triangles. However, it is a very powerful rea-
soning tool, and if applied correctly can replace a page full of unlikely and ungainly
constructions with a few lines of algebra. If applied incorrectly, however, it can have
the opposite effect.

The first thing to do before applying any trigonometry is to reduce the number
of variables to the minimum. Then choose the variables that you want to keep very
carefully. The compound angle formulae below make it easy to expand out many
trig expressions, but if you have chosen the wrong variables to start with the task is
almost impossible.

The following angle formulae are invaluable in manipulating trigonometric ex-
pressions. In the formulae below, a F indicates a sign that is opposite to the sign
chosenina =+.

sin(A£B) = sinAcosB £ cosAsinB (4.1)
cos(A+£B) = cosAcosB FsinAsinB 4.2)
tanA+tanB
tan(A+B) = —— 4.3
an(A+B) =1 AtnB “3)
CcotACotBF 1
Cot(A+B) = COtA +cotB (@4
sinAsinB = [cos(A — B) —cos(A+B)] /2 (4.5)
sinAcosB = [sin(A —B) +sin(A+ B)] /2 (4.6)
cosAcosB = [cos(A —B) + cos(A+B)] /2 4.7)
sinA+sinB = 2sin (A:ZEB) cos (AIB (4.8)
cosA+ cosB = 2cos (A;—B) cos (? (4.9)
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cosA — cosB = 2sin (#) sin (?) (4.10)

You don’t need to memorise any of these other than the first three, because all the
others can be obtained from these with simple substitutions. You should be aware
that these transformations exist and know how to derive them, so that you can do so
in an olympiad if necessary (see the exercises).

You can also use these to derive other formulae; for example, you can calculate
sinn® and cosnB in terms of sin® and cos8 fairly easily (for small, known values of
n).

Exercise 4.1. Prove equations (4.4) to (4.10).
Exercise 4.2. In a AABC (which is not right-angled), prove that

tanA +tanB +tanC = tanAtanBtanC.

4.1 The extended sine rule

The standard Sine Rule says that
a _ b _c
sina sinB siny’
Theorem 4.1 (Extended Sine Rule). In a triangle ABC,

a b c
—=——=—=2R,
sina sinf3  siny
where R is the radius of the circumcircle.

Proof. Construct point D diametrically opposite B in the circumcircle of AABC.

Then a = Z/CDB or 180° — ZCDB and /BCD = 90°. It follows that g = g&gs =

2R, and similarly for S.—ﬁﬁ and §%/

O

Exercise 4.3. In a circle with centre O, AB and CD are diameters. From a point
P on the circumference, perpendiculars PQ and PR are dropped onto AB and CD
respectively. Prove that the length of QR is independent of the position of P.

5 Circles

5.1 Cyclic quadrilaterals

A cyclic quadrilateral is a quadrilateral that can be inscribed in a circle. There are
several results related to the angles of a cyclic quadrilateral that are covered in high
school mathematics and which will not be repeated here. These results are still very
important, and cyclic quadrilaterals appear in many unexpected places in olympiad
problems.

Exercise 5.1 (x). Let AABC have orthocentre H and let P be a point on its circum-
circle. Let E be the foot of the altitude BH, let PAQB and PARC be parallelograms,
and let AQ meet HR in X.

(a) Show that H is the orthocentre of AAQR.
(b) Hence, or otherwise, show that EX is parallel to AP.

A result that is not normally taught in school is Ptolemy’s Theorem. It is mainly
useful if you have only one or two cyclic quadrilaterals, and lengths play a major role
in the problem. It is also very useful when some more is known about the lengths.
Equal lengths are particularly helpful as they can divide out of the equation.

Theorem 5.1 (Ptolemy’s Theorem). If ABCD is a cyclic quadrilateral, then
AB-CD+BC:AD =AC-BD

Proof.



B

D/

Choose an arbitrary constant K and construct B/, C’ and D’ on AB, AC and AD respec-
tively such that AB- AB’ = AC-AC’ = AD-AD’ =K.

Now consider AABC and AAC’B’. The angle at A is common and % = }f(//’ig =
AC and therefore the triangles are similar. 1t follows similarly that AABD ||| AAD'B/
and AACD||| AAD'C’. Hence /B'C'D' = ZABC + Z/ADC = 180° i.e. B'C'D’ is a
straight line. From the similar triangles, we have BC = B'C’ - % = B'C"%"’C, and
similarly for CD and BD. Therefore

AC-BD = B2(AB-AC-AD)
(BE 1 SP')(AB-AC-AD)
=AB-CD+AD-BC

This result relies on the fact that B'C’D’ is a straight line. If we had used a non-
cyclic quadrilateral, this would not have been the case. This shows that the converse
of Ptolemy’s Theorem is also true. In fact the triangle inequality in AB’C’'D’ leads to
Ptolemy’s Inequality, which says that AC-BD < AB-CD +AD -BC for any quadrilat-
eral ABCD, with equality precisely for cyclic quadrilaterals. O

Exercise 5.2. Triangle ABC is equilateral. For any point P, show that AP +BP > CP
and determine when equality occurs.

5.2 The Simpson line

The Simpson line was covered as exercise 3.2, but to emphasise its importance the
statement is repeated here. A handy corollary is that the feet of perpendiculars from
a point on the circumcircle cannot all meet the sides internally — which can limit the
number of cases you need to consider.

Theorem 5.2 (The Simpson line). Perpendiculars are dropped from a point P to the
sides of AABC to meet BC,CA,AB at D, E, F respectively. Show that D, E and F are
collinear if and only if P lies on the circumcircle of AABC.

This was exercise 3.2, so no proof is provided here.

Exercise 5.3. From a point E on a median AD of AABC the perpendicular EF is
dropped to BC, and a point P is chosen on EF. Then perpendiculars PM and PN are
drawn to the sides AB and AC.

Now, it is most unlikely that M, E and N will lie in a straight line, but in the event
that they do, prove that AP bisects ZA.

5.3 Power of a point

This section is based on the fact that if chords AB and CD of a circle intersect at a
point P, then PA-PB = PC-PD (even if P lies outside the circle). This is easily shown
using similar triangles.

Consider fixing a point P and circle " and considering all possible chords AB that
pass through P. Since PA-PB is equal for every pair of chords AB, it is equal for
all such chords. This value is said to be the power of P with respect to . The line
segments are considered to be directed (see section 3), so P is negative inside the
circle and positive outside of it. In fact by considering the chord that passes through
O, the centre of I', it can be seen that the power of P is d2—r2, where d = OP and
r is the radius of I". If P lies outside the circle then this also equals the square of the
length of the tangent from P to I".

It is sometimes useful to know that the converse of the above result is true i.e. if
PA-PB = PC-PD, where AB and CD pass through P, then A, B, C and D are concyclic
(but only if using directed line segments).

5.3.1 The radical axis

Consider having two circles instead of one. What is the set of points which have the
same power with respect to both circles? If the circles are concentric then no point
will have the same power (since d will be the same and r different for every point),
but the situation is less clear in general.
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Consider two circles I'1 and ' with centres O3 and O with radii rq and ry respec-
tively. Let P be a point which has equal powers with respect to "1 and ', and let H
be the foot of the perpendicular from P onto O10,. Then

01P?— 12 =0,P?—13 (5.2)
< OiH?+HP?—r}=0,H?+HP?*—r3 (5.2)
— O1H?—rf=0yH2 13 (5.3)
— O1H?—r? = (0,01 — HO1)? — 13 (5.4)
< 2.HO;1-0201 = 0,012+ 12— 13 (5.5)

We have eliminated P from the equation! In fact (5.3) shows that P has equal powers
with respect to the circles iff H does. If 010, # 0 then we have a linear equation
in HO1 and so there is exactly one possibility for H (we are using directed line seg-
ments, so HO4 uniquely determines H). Thus the locus of P is the line through H
perpendicular to O10,. This line is known as the radical axis of ' and I",.

If the two circles intersect, the radical axis is easy to construct. The points of
intersection both have zero power with respect to both circles, so both points lie on
the radical axis. So the radical axis is simply the line through them.

Exercise 5.4. Two circles are given. They do not intersect and neither lies inside the
other. Show that the midpoints of the four common tangents are collinear.

5.3.2 Radical centre

What happens when we consider three circles (say I'1, [2 and I'3) instead of two?
Firstly consider the case where the centres are not collinear. Then the radical axis of
I"1 and "> will meet the radical axis of ', and '3 at some point, say X (they will not
be parallel because a radical axis is perpendicular to the line between the centres of
the circles). Then from the definition of a radical axis, X has the same power with
respect to all three circles and so it also lies on the radical axis of I'1 and I'>. The fact
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that the three radical axes are concurrent at a point (known as the radical centre) can
be used to solve concurrency problems.

If, however, the three centres are collinear, then all three radical axes are parallel.
If they all coincide then all points on the common axis have equals powers with
respect to the three circles; if not then no points do.

Exercise 5.5. Show how to construct, using ruler and compass, the radical axis of
two non-intersecting circles.

Exercise 5.6 (x). Let A, B, C and D be four distinct points on a line, in that order.
The circles with diameters AC and BD intersect at the points X and Y. The line XY
meets BC at the point Z. Let P be a point on the line XY different from Z. The line
CP intersects the circle with diameter AC at the points C and M, and the line BP
intersects the circle with diameter BD at the points B and N. Prove that the lines AM,
DN and XY are concurrent.

6 Triangles

6.1 Introduction

A triangle would seem to be almost the simplest possible object in geometry, second
only to the circle. It has only has two true degrees of freedom, since scaling a tri-
angle up or down does not affect its properties. Yet the humble triangle contains an
enormous amount of mathematics — in fact too much to fully explore here.

6.2 Tangents to the incircle

Let the lengths of the tangents to the incircle from A, B and C be x, y and z. Since
a=y+z,b=z+xandc=x+y, we can solve for x, y and z and get

—a+b+c a—b+c atb-c
X = 3 , Y= 5 7= 5

This is the same notation that is introducted in section 2.

Exercise 6.1. Determine the lengths of the tangents from B and C to the excircle
opposite A.
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6.3 Triangles within triangles

There are specific names given to certain triangles formed from points of the original
triangle:

o The medial triangle has the midpoints of the original sides as its vertices.
e The orthic triangle has the feet of the altitudes as its vertices.

e A pedal triangle is the triangle formed by the feet of perpendiculars dropped
from some point onto the three sides. If the point is the orthocentre, then this
is the orthic triangle (and in fact some people use the term “pedal triangle” to
refer to the orthic triangle).

6.4 Points on the circumcircle

Apart from the vertices, there are a few other points that are known to lie on the
circumcircle. The first is the intersection point of a perpendicular bisector and the
corresponding angle bisector. This is easily shown by taking the intersection of the
perpendicular bisector and the circumcircle, which divides an arc (say BC) into two
equal parts which subtend equal angles at A. This is also true (although less well
known) in the case where the external angle bisector is used.

A A/X

The second group of points that are known to lie on the circumcircle are the
reflections of H (the orthocentre) in each of the three sides. This is an exercise in
angle chasing, using the known results about the angles in cyclic quadrilaterals.
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H’

Exercise 6.2. A rectangle HOMF has HO = 23 and OM = 7. Triangle ABC has
orthocentre H and circumcentre O. The midpoint of BC is M and F is the foot of the
altitude from A. Determine the length of side BC.

6.5 The nine-point circle

A rather interesting circle that arises in a triangle is the so-called nine-point circle.
Let us examine the circumcircle of the triangle whose vertices are the midpoints of
AABC (the medial triangle). Firstly, what is its radius? The medial triangle is a
half sized version of the original triangle (because of the midpoint theorem), so its
circumradius will also be half that of the large triangle, i.e. it will be %.

A

B P D C

Now let us see what other points this circle passes through. From the diagram it
appears that it passes through the feet of the altitudes, so let us prove this. Since
F is the midpoint of the hypotenuse of AAPB, we have /FPA = /FAP = 90° — 3.
Similarly ZEPA = 90° —yand so ZFPE = a = ZFDE (since AABC ||| ADEF). It
follows that P lies on the circle. Similarly Q and R also lie on the circle.
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Point X is the midpoint of HC, and it also appears to lie on the circle. HC is
the diameter of the circle passing through H, Q, C and P, so X is the centre of this
circle. It follows that /PXQ = 2/PCQ = 2y. But /PEQ = /PEF + ZFEQ =
/PDF + ZFEQ =y+Y, so ZPEQ = ZPXQ and so X lies on the circle. Similarly
the midpoints of HA and HC lie on the circle.

Because there are nine well-defined points which lie on this circle, it is known as
the nine-point circle.

6.6 Another circle

Consider that ZIaBl = ZIACI = 90°; this shows that 114 is the diameter of a circle
passing through I, 15, B and C. Where is the centre of this circle? Well, any circle
passing through B and C must have its centre on the perpendicular bisector of BC,
and for 11 to be the diameter, the centre must also lie on the internal bisector of
ZA. Hence the centre is the intersection of these two lines. As shown above, the
intersection also lies on the circumcircle of AABC.

A

Exercise 6.3 (). In acute-angled triangle ABC the internal bisector of angle A meets
the circumcircle of the triangle again at A;. Points B; and C1 are defined similarly.
Let Ag be the point of intersection of the line AA1 with the external bisectors of angles
B and C. Points By and Co are defined similarly. Prove that

(i) the area of the triangle AgBoCo is twice the area of the hexagon AC1BA1CBy;

(ii) the area of the triangle AgBoCy is at least four times the area of the triangle
ABC.
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6.7 Theorems

Angle bisectors can be fairly tricky to deal with. The angle bisector theorem provides
a way to compute the segments which the base is divided into.

Theorem 6.1 (Angle bisector theorem). If D is the point of intersection of BC with

an angle bisector of ZA, then 38 = 2B,

Proof. Construct E on AD such that ZAEC = ZBDA. Then AABD ||| AACE (two
angles) and so 28 = 48. But AECD is isosceles, so CE = CD and therefore B2 = 22
as required.

A

O

Exercise 6.4. In the right-hand diagram for the angle-bisector theorem, find a for-
mula for the length BD in terms of the side lengths a, b and c.

Exercise 6.5. Given a line segment AB and a real number r > 0, find the locus of
points P such that 55 =r.

The theorems of Ceva and Menelaus are handy results when proving concurrency
and collinearity respectively. They are particularly powerful because their converses
are true, provided that the directions are taken into account. The converses are quite
easy to prove by assuming them to be false, and then constructing two different points
with the same uniquely defining properties.

Theorem 6.2 (Ceva’s Theorem). If AD, BE and CF are concurrent cevians of AABC

then
BD CE AF

DC EA FB

16



Proof.

B D C

Let G be the point of concurrency.

}iﬁgg} = % (common height)
A

\lgggg‘\ = % (common height)
|AAGB| _ BD

|ACGA| ~ DC

We can show similar things for €& and £5. Therefore

BD CE AF _|AAGB| |ABGC| |ACGA|

DC EA FB_ |ACGA| |AAGB| |ABGC|

This proof has not explicitly invoked directed areas or line-segments, but if they
are used it can be seen that the result will hold even if G lies outside of the triangle.
O

Theorem 6.3 (Menelaus’ Theorem). If X, Y and Z and collinear and lie on sides
BC, CA and AB (or their extensions) of AABC respectively, then

AZ BX CY

ZB XC YA
(Note that the sign on the result is due to directed line segments, and indicates that
the line cuts the sides themselves either twice or not at all.

Proof.
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Drop perpendiculars from A, B and C to meet XYZ at A’, B’ and C’. From alternate
angles, we have AAA'Z ||| ABB'Z and thus 52 = &% Similarly 8X = B8 and ¥ =

, xc =ccand g
SC. Therefore

AZ BX CY AA BB CC’

ZB XC YA BB CC AA

Exercise 6.6. Use Menelaus’ Theorem to prove Ceva’s Theorem.

Exercise 6.7 (x). ABC is an isosceles triangle with AB = AC. Suppose that
(i) M is the midpoint of BC and O is the point on the line AM such that OB L AB;
(ii) Q is an arbitrary point on the segment BC different from B and C;

(i) E lies on the line AB and F lies on the line AC such that E, Q and F are distinct
and collinear.

Prove that OQ is perpendicular to EF if and only if QE = QF.

Stewart’s Theorem is a handy tool for dealing with the length of a cevian, which
is otherwise difficult to work with.

Theorem 6.4 (Stewart’s Theorem). Suppose AD is a cevian in AABC. Let p = AD,
m = BD and n =CD. Then

a(p?+mn) = b2m +c2n.
Proof.

18



Use the cosine rule in AABD:

¢ =m?+ p?—2mpcos
¢2n = m?n+ p?n — 2mnpcos6
Do the same in AACD, noting that cos(180° — 8) = —cos®:
b% = n?+ p?+ 2npcos
b%m = n®m + p?m + 2mnpcos O

Now add (6.1) and (6.2):
b%m -+ ¢2n = m?n+n?m+ p®n+ p?m
= (m+n)(p?+mn)
= a(p?+mn)

6.1)

(6.2)

(6.3)
(6.4)
(6.5)

O

In the special case that AD is a median, Stewart’s Theorem reduces to 4p2+a2 =

2(b?+c?), which is known as Apollonius’ Theorem.

Exercise 6.8. In AABC, angle A is twice angle B. Prove that a? = b(b 4-c).

Theorem 6.5 (Euler’s Formula).
O12=R(R—2r)
As a corollary, we have Euler’s Inequality:

R>2r.
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Proof. Extend the angle bisector from A to meet the circumcircle again at D. Also
construct X diametrically opposite D on the circumcircle and construct Y as the foot
of the perpendicular from I onto AC. We calculate the power of | with respect to the
circumcircle (see section 5.3), which is equal to 012 —R2 and also to —Al - 1D. From
section 6.6, we have ID =CD.

D

Now we note that ADXC||| AIAY, and so & = 2 <= Al-ID = 2rR. Since OI2—

RZ= —Al .ID, it follows that 012 = R(R — 2r) as required. O

Euler’s Theorem provides a measure of the distance between the incentre and
circumcentre. However it is most often invoked as Euler’s Inequality.

Exercise 6.9 (x). Let r be the inradius and R the circumradius of ABC and let p be
the inradius of the orthic triangle of triangle ABC. Prove that

6.8 Area

There are numerous formulae for the area of a triangle, and in many cases things can
be discovered by equating them.

Theorem 6.6 (Heron’s Formula).
K = /sxyz
20



Proof. This is probably the ugliest proof in this booklet. Here goes:

16K? = 4(absiny)?
= 4a%h%(1 — cos?y)

2
= 4a%p? {17 (%) }

= 42202 — (a2 1 b2 — ¢2)?

= (2ab— a2 — b2+ c?)(2ab+a? 4 b?—c?)
=[c*~ (a-b)?|[(a+b)*~c?
=(c—a+b)(c+a—b)(a+b+c)(a+b—c)

= 16sxyz.

O
Theorem 6.7 (Triangle area formulae).
K = Jaha = 3bhp = che (6.6)
= labsiny = Jbcsina = Jcasinp 6.7)
abc

=R (6.8)
= 2R%sinassinBsiny (6.9)
= 1R(acosa +bcosP -+ ceosy) (6.10)
= R(acosBcosy+ bcosycosa +ccosacosf) (6.11)
=rs (6.12)
=TIaX=TIpy =r¢Z (6.13)
= ,/5Xyz (Heron’s Formula) (6.14)

Proof. The first is the standard formula for the area of a triangle. The second is really
the same formula, since siny = Ug. The third is obtained using the extended sine
rule (siny = 5z). The fourth is similarly obtained using the extended sine rule by
converting all side lengths to sines.

Equation 6.9 is obtained by adding the areas of the isosceles triangles ABOC,
ACOA and AAOB. The base of ABOC is a and ZBOC = 2/BAC = 2a, so the
height is OC cosa = Rcosa. Adding up the areas gives the result.
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Rcosa
B a/z c

The following equation is obtained from 6.9 by replacing a by bcosy+ ccos3
and similarly for b and c.

Equation 6.12 is obtained similarly to 6.9, but using | instead of O. The three
triangles all have height r, so the area is %(ra+ rb+rc) = rs. Equation 6.13 uses
the excentre | instead; in this case one adds triangles ABI, and ACI, and subtracts
triangle BCl,.

Heron’s Formula was covered earlier. 0

Exercise 6.10. An equilateral triangle has sides of length 44/3. A point Q is located
inside the triangle so that its perpendicular distances from two sides of the triangle
are 1 and 2. What is the perpendicular distance to the third side?

Exercise 6.11. Prove that
1 1 1 1

r ra rp rc
There is one area more formula that is used with coordinate geometry.

Theorem 6.8. If one vertex of a triangle is at the origin and the other two are at
(x1,y1) and (xz,yz), then

K = |xay2 — xay1|-
If the absolute value operator is removed, one gets a formula for directed area®.
Proof. The proof below uses trigonometry. It is also possible to compute the area of

the triangle by starting with a rectangle that bounds it, and subtracting right triangles.
However, that approach requires several cases to be considered.

The sign is used in computer graphics to determine whether three points are wound clockwise or anti-clockwise.
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C(bcos@, bsing)

Assume without loss of generality that C makes a larger angle from the x-axis than B
(swapping B and C simply negates the term inside the absolute value). Then (x1,y1) =
(ccosB,csinB), (x2,y2) = (bcos@,bsing) and the area is

3besina = Jbesin(e—0)
= %bc(sin(pcose—cosesinq)
2(xay2— Xay1).

6.9 Inequalities

Inequalities in triangles are often best solved by first expressing all the quantities in
terms of as few variables as possible (ideally, only two or three) and then using in-
equality techniques discussed in Inequalities for the Olympiad Enthusiast to finish the
problem algebraically. Jensen’s Inequality is particularly powerful when combined
with trigonometric functions.

Theorem 6.9 (Jensen’s Inequality). A function f is said to be convex on an interval
[a,b] if {EI0) > £ (X4¥) for all x,y € [a,b]. If f is convex? on [a,b] then for any
X1,X2;. .., Xn in [a,b] we have

f<><1+---+xn><f(xl)+---+f(xn)
n - n

The statement also holds if all inequality signs are reversed, in which case the func-
tion is termed concave.

2If you are familiar with calculus, a convex function is one that satisfies f"(x) > 0 for all x € [a, b].
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Proof. Refer to page 18 of Inequalities for the Olympiad Enthusiast, by Graeme
West. O

Exercise 6.12. If a,f,y are the angles of a triangle, then show that sina + sinf+
siny< 33,

One thing to keep in mind is the triangle inequality: if you reduce the problem
to an inequality in a, b and c then it is possible (although not necessarily the case)
that you will need to use the fact that the sum of any two is greater than the third. A
technique that sometimes simplifies this to substitutinga =x+y,b=y+z,¢c=z+x
in which case the triangle inequality is equivalent to x,y,z > 0. In some circles this
has become known as the Ravi Substitution, after a Canadian IMO contestant (and
later coach) Ravi Vakil. Although he did not invent the technique, he successfully
applied it to an IMO problem.

There are a few other useful inequalities that are specific to triangles. The first is
Euler’s Inequality, mentioned above. The others are listed below.

Theorem 6.10. In a triangle ABC,
%R >s  $2>3V3K K >3v3r2
In each case, equality occurs iff AABC is equilateral.

Proof. We first prove that L‘ZER > s. From the extended sine rule, %{ =sina and so
S . . .
R =sina+sinp+siny

< 3sin <%B+V) (Jensen’s Inequality)

= 3sin60°

Y
8

For the remaining inequalities, we express everything in terms of x, y and z. Thus
2=s¥2/5
=4/s(x+y+z)3
> \/27sxyz (AM-GM)
=3v3K  (Heron’s Formula).
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_ r2g2

K
2
23\/§KrK

=3V3r2

(from the previous step)

O

Theorem 6.11 (Erd&s-Mordell). Let P be a point inside triangle AABC, and let the
feet of the perpendiculars from P to BC,CA, AB be D,E,F respectively. Then

AP 4 BP++CP > 2(DP +EP 4 FP).

Proof. Extend AP to meet the circumcircle of AABC at A’. Let /BAP = 8 and
Z/CAP = @. Note that FP = APsin® and EP = APsin¢, so % = %g = %. Also
note that a-AA’ =b-BA’+c-CA’ (from Ptolemy’s Theorem in the cyclic quadrilateral
ACA'B), s0 AA' = 2.BA’ 1+ C.CA’. Now

Fp
P=—
sin@
_ FP-2R
T BA
. !
FF[;/_CA (AA is less than the diameter)
_ FP(b-BA'+c-CA)
- a-BA
b c CA
a P aE
D epiCep
a a

(Extended Sine Rule)

FP

A
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Now we can establish similar inequalities for BP and CP, and adding these gives

PAtPB4PC> (248 PD+(9+9)PE+ 3, bpp
c b a ¢ b a

>2(PD+PE+PF).  (AM-GM)
o

Exercise 6.13. Let ABC be a triangle and P be an interior point in ABC. Show that
at least one of the angles PAB, PBC, PCA is less than or equal to 30 degrees.

7 Transformations

A very powerful idea in geometry is that of a transformation. A transformation maps
every point in space to some other point in space. Structures like lines or circles
are transformed by applying the transformation to every point on them. They do not
necessary maintain their shapes; in fact there is a transformation (inversion) which
generally maps lines to circles! Each transformation will preserve certain properties
of a diagram, and by translating the properties of the original into the transformed
diagram one can obtain new information. Here a diagram is really just a set of points.

7.1 Affine transformations

The transformations we discuss here are all affine. That means that straight lines
are mapped to straight lines, and lengths are scaled uniformly. The transformations
presented here all preserve angles as well. These transformations can in fact be built
up by combining reflections and scale changes, although this is not necessarily the
best way to think about them.

7.2 Translations, rotations and reflections

The simplest transformation is a translation: every point simply moves a constant
distance in a constant direction; this is like picking up a piece of paper and moving it,
without rotating it. Rotations rotate all the points by some angle around a particular
point; this is like sticking a pin in a piece of paper and then turning it. Reflections
take all points and reflect them in a particular line; this is like picking up the piece
of paper and putting it down upside-down (the paper would of course need to be thin
enough for the diagram to be seen through the back).
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While these are all quite straightforward, they can also be very powerful because
they preserve so much. They are also closely related, as shown by the next problem.

Exercise 7.1. In each of the following, show that the transformations exist using a
concrete construction.

(a) Show that any rotation or translation can be expressed as the combination of a
pair of reflections, or vice versa.

(b) Show that two rotations, two translations or a translation and rotation can always
be combined to produce a single translation or rotation.

(c) Show that any combination of translations, reflections and rotations yields either
a rotation, a translation, or a translation followed by a reflection.

Exercise 7.2. In acute-angled triangle ABC, a point P is given on side BC. Show how
to find Q on CA and R on AB such that APQR has the minimum perimeter.

Exercise 7.3 (x). The point O is situated inside the parallelogram ABCD so that
/AOB + Z/COD = 180°. Prove that ZOBC = Z0ODC.

7.3 Homothetisms

So far we have discussed only rigid transforms, namely those that can be illustrated
with a piece of paper. We now move on to scaling. Imagine drawing a diagram on a
new T-shirt, and then letting the T-shirt shrink in the wash. Assume the ink doesn’t
run and that the T-shirt doesn’t warp, you will have the same diagram, only smaller.
All the angles and so on will be the same, although lengths will not.

A homothetism is a fancy name for scaling. One chooses a centre (sometimes
called the “centre of similitude™) and a scale factor. Every point is then kept in the
same direction relative to the centre, but its distance from the centre is scaled by the
scale factor. Like translations, homothetisms preserve orientation, angles, and ratios
of lengths. However, lengths are scaled by the scale factor. The result below allows
one to find the centre of a homothetism.

Theorem 7.1. Let S and T be two similar figures which have the same orientation,
but are not the same size. Then there is a homothetism that maps Sto T.

Proof. Pick a point A in S and its corresponding point A’ in T. Now pick a second
point B in S, not on AA/, and its corresponding point in B3. Now if AA’ and BB’ are

31f no such B exists, then make some arbitrary construction in Sand the corresponding construction in T to produce
suchaB.
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parallel then AA’B’B would be a parallelogram, making AB = A’B’. But we assumed
that S and T are of different sizes, which would give a contradiction. Hence AA’
and BB’ meet at a point, which we will call P. Now consider the homothetism with
centre of similitude P and scale factor %. It will clearly map A to A’; will it map
B to B'? Yes, because AABP ||| AA'B'P by parallel lines. If we can show that this
homothetism maps the rest of S to T then we are done.

Let C be some arbitrary point in S. We aim to show that the homothetism maps
C to its corresponding point C’ in T. If C is A or B then we are done. If C lies on AB
then C is uniquely defined by % (with directed line segments). But homothetisms
preserve ratios of lengths, and % = % so C is mapped to C’. If C does not lie on
AB then C is uniquely defined by the directed angles /BAC and ZABC, and angles
are preserved by homothetisms. ]

The construction also suggests how the centre of similitude can be found in prac-
tice: take two pairs of corresponding points and find the intersection of the lines
between them. For example, any two circles of different sizes satisfy the require-
ments, so a homothetism can be found between them. The points of tangency of the
common tangent are corresponding points, since they have the same orientation rel-
ative to the centre. Hence the centre of similitude is the intersection of the common
tangents.

What happens if we have non-overlapping circles, and use the other pair of com-
mon tangents? It turns out that this point is also a centre of similitude. However,
this homothetism has a negative scale factor, which means that points are “sucked”
through the centre and pushed out the other side. This also rotates the figure by 180°,
although for a circle this isn’t visible. The theorem above in fact applies to situations
where the two figures have orientations that are out by 180°, in which case a negative
scale factor is used. In this case the figures may even by the same size (since the scale
factor is —1, not 1).

Exercise 7.4. Let ABC be a triangle. Use a homothetism to show that
(a) the medians of AABC are concurrent;
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(b) the point of concurrency (the centroid) divides the medians ina 2 : 1 ratio;

(c) the orthocentre H, the centroid G and the circumcentre O are collinear, with
HG : GO = 2: 1 (this line is known as the Euler line). Assume that H and O exist
(i.e. that the defining lines are concurrent).

Exercise 7.5 (x). On a plane let C be a circle, L be a line tangent to the circle C and
M be a point on L. Find the locus of all points P with the following property: there
exist two points Q,R on L such that M is the midpoint of QR and C is the inscribed
circle of triangle PQR.

7.4 Spiral similarities

An even more general transformation than a homothetism is a spiral similarity. A
spiral similarity combines the effects of a homothetism and a rotation: the plane is
not only scaled around a centre P by some factor r, it is also rotated around P by an
angle 6. A spiral similarity preserves pretty much the same things as homothetisms
i.e. ratio of lengths and angles. However, corresponding lines are no longer parallel,
but meet each other at an angle of 6. As for homothetisms, there is a result that makes
it possible to find a spiral similarity given two similar figures.

Theorem 7.2. Let S and T be two sets of points that are similar but have either
different orientation or different size (or both). Then there is a spiral similarity that
mapsStoT.

Proof. In the special case that S and T have the same orientation, there exists a ho-
mothetism, which is just a special case of a spiral similarity. So we assume that S and
T have different orientations. We also include the case where S and T are oriented
180° apart in the special case, as this is a homothetism with negative scale factor.

Choose two arbitrary points A and B in S, and their corresponding points A’ and
B’ in T. Let P be the intersection of AB and A’B’. Construct the circumcircles of
AAA'P and ABB'P, and let their second point of intersection be Q (Q exists because
of the assumptions).
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Now ZAQA’ = ZAPA’ = BPB' = BQB/, ZAA'Q = ZAPQ = /BPQ = /BB'Q and
similarly ZA’AQ = B'BQ. It follows that triangles AA’Q and BB'Q are directly sim-
ilar®. Now consider the spiral similarity with centre Q, angle AQA’ and scale factor
%3. 1t will map A to A’ by construction, and from the similar triangles it will map
B to B’. We can now proceed to show that S is mapped to T, as was done in the
corresponding theorem for homothetisms. O

Exercise 7.6. Squares are constructed outwards on the sides of triangle ABC. Let P,
Q and R be the centres of the squares opposite A, B and C respectively. Prove that
AP and QR are equal and perpendicular.

8 Miscellaneous problems

These problems all draw on the techniques in this book, but do not fit well into any
particular section. They are mostly very challenging problems designed to give you
practice.

Exercise 8.1 (x). ABCD is a square. P is a point inside the square with ZABP =
/BAP = 15°. Show that ACDP is equilateral.

Exercise 8.2 (x). A 6m tall statue stands on a pedestal, so that the foot of the statue
is 2m above your head height. Determine how far from the statue you should stand
so that it appears as large as possible in your vision.®

4Two triangles are directly similar if they are similar and have the same clockwise/anti-clockwise orientation.
51n other words, maximise the angle formed by the foot of the statue, your head and the top of the statue.
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Exercise 8.3 (x). In an acute angled triangle ABC the interior bisector of ZA inter-
sects BC at L and the circumcircle of AABC again at N. From point L perpendiculars
are drawn to AB and AC, the feet of these perpendiculars being K and M respectively.
Prove that the quadrilateral AKNM and the triangle ABC have equal areas.

Exercise 8.4 (x). ABC is a triangle. The internal bisector of the angle A meets the
circumcircle again at P. Q and R are similarly defined relative to B and C. Prove that

AP +BQ+CR > AB+BC+CA.

Exercise 8.5 (x). A circle of radius r is inscribed in a triangle ABC with area K. The
points of tangency with BC, CA and AC are X, Y and Z respectively. AX intersects
the circle again in X’. Prove that BC - AX - XX’ = 4rK.

Exercise 8.6 (x). A semicircle is drawn on one side of a straight line £. C and D
are points on the semicircle. The tangents at C and D meet ¢ again at B and A
respectively, with the centre of the semicircle between them. Let E be the point of
intersection of AC and BD, and F the point on ¢ such that EF is perpendicular to ¢.
Prove that EF bisects ZCFD.

Exercise 8.7 (x). In AABC, let D and E be points on the side BC such that Z/BAD =
ZCAE. If M and N are, respectively, the points of tangency with BC of the incircles
1 1
of AABD and AACE, show that B + MD = NG + NE'
Exercise 8.8 (x). Let P be a point inside AABC such that
ZAPB — ZACB = ZAPC — ZABC.

Let D, E be the incentres of AAPB, AAPC respectively. Show that AP, BD and CE
meet at a point.

9 Solutions

3.1 Using classical geometry to solve this problem would result in an enormous
number of different cases. However, directed angles hide all of that, and the
result appears with a few lines of basic calculation:

/AZC = L/AZO+ £L0OZC
= /AXO+ £0YC (concyclic points)
= /BXO+ £0YB (collinear points)
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= /BXO+ ZOXB (concyclic points)
= /BXO — /BXO (directed angles)
=0°,

and hence A, Z and C are collinear.

3.2 Note that PC subtends right angles at D and E, and hence is the diameter of a
circle passing through P, C, D and E. Similarly, P,A,F and E are concyclic.

/DEF = ZDEP + ZPEF
= /DCP + ZPAF
= /BCP — Z/BAP.

It follows that /DEF = 0° <= ZBCP = ZBAP. The first is a condition
for D,E,F to be collinear and the second is a condition for P to lie on the
circumcircle of AABC.

4.1 cot(A=+B) = LADBEL can he shown by substituting tan® = L5 into tan(A+
B) = % and simplifying. The expressions for sinAsinB and similar ex-
pressions can be proved simply by expanding the right hand side and cancelling
terms. The final three equations are derived by making suitable substitutions

into the previous three.
4.2 We first derive a general formula for tan(A+ B +C).

tan(A+B+C) =tan[(A+B)+C]
_ tan(A+B)+tanC
" 1-tan(A+B)tanC

tanA+tanB

1-tmAtng T aNC
tanA+tanB

1 - 1SaAms - 1anC
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tanA+tanB+ (1 —tanAtanB)tanC Q
" (1—tanAtanB) — (tanA +tanB)tanC
_ tanA+tanB +tanC —tanAtanBtanC 5
1—tanAtanB —tanBtanC — tanCtanA’

However, we know that tan(A+ B +C) = tan180° = 0, so the numerator must
be 0. The result follows.

4.3 Suppose that P lies on the arc BC, as in the diagram. Then OQPR is cyclic

with diameter OP, so applying the extended sine rule in AOQR gives QR = H 49

OPsinZBOC. Now /BOC is fixed and OP is the radius of the circle, also \
fixed. So QR is fixed if P lies on the arc BC. But sinZBOC = sin ZCOA = Wc

sin ZDOA =ssin ZDOB, so QR is constant wherever on the circle P may be.

(a) Firstly notice that since PAQB and PARC are parallelograms, BQ and CR
are parallel and equal (and in the same direction), so BCRQ is also a par-
allelogram. It follows that RQ || CB and hence AH L RQ. This shows that
H lies on one altitude of AAQR. If RX L AQ then it would lie on another
altitude we would be done.

Note that B, D, H and F are concyclic. Thus

/AHC = /DHF (opposite angles)
= /DBF (D, H, F, B concyclic)
= /CBA
= /CPA (A, B, C, P concyclic)
= /ARC (AP || RC,AR || PC)

5.1 This problem is fairly straight-forward as it consists almost entirely of angle and therefore A, H, R and C are concyclic. Thus
chasing. The only difficulty is that P can lie anywhere on the circumcircle,
which could give rise to multiple cases. We can get around this with directed ZAXR = ZXAR + ZARX
angles. This diagram is thus only for reference. D and F are the feet of the = /XAB+ Z/BAC + ZCAR + ZARH
altitudes from A and C in AABC. = /ZQAB+ ZFAC + ZACP + ZACH
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= /PBA+ ZABP + ZFAC + ZACF
= /AFC
=90°
and the result follows.
(b) This is just more angle chasing, using the fact that H, X, A and E are
concyclic (because of the right angles).
/AEX = ZAHX
= /AHR
= /ACR
= /PAC
= /PAE
from which it follows that XE || AP.
(Proposed for IMO 1996)
5.2 We use Ptolemy’s Inequality:
AP.BC+BP-CA>CP-AB
= AP +BP >CP (since AP = BP =CP).
Equality occurs if and only if ABPC is a cyclic quadrilateral.

5.3 Construct KL through E parallel to BC, with K and L on AB and AC respec-
tively.
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5.4
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5.6

From similar triangles AKE and ABD, we have KE =BD - %. Similarly, EL =
DC- %. But BD = DC, so KE = EL and hence AE is a median of AAKL.
Also, PE L KL (since KL || BC), so M, E and N are the pedal points of P in
triangle AKL. The Simpson Line theorem states that M, E and N are collinear if
and only if P lies on the circumcircle of AAKL. But the perpendicular bisector
of KL and the angle bisector of ZA both meet the circumcircle at the middle of
the arc KL, so P lies on the angle bisector of ZA.

(Crux Mathematicorum, 1990, 293)

If P is one of the midpoints, then the lengths of the tangents from P to the two
circles are equal. Since these lengths are the square roots of the power of P
with respect to these two circles, P must lie on the radical axis. Since this is
true for four midpoints, they are collinear because the radical axis is a straight
line.

Call the given circles "1 and ", and construct a third circle '3 which intersects
both M1 and I"2. The position of I3 is arbitrary, provided that the centres of the
three circles are not collinear. The radical axes of (I'1,I"2) and (I'1,I"3) can
be found by drawing lines through the intersection points. The intersection of
these two lines is the radical centre of the three circles. The desired radical axis
now passes through the radical centre and is perpendicular to the line of centres
of 1 and IM», which can easily be constructed.

We use directed angles and line segments, since P may lie either inside or
outside of the segment XY. It is also possible (but more tedious) to do the
proof with two cases. The diagram below shows the one case.

M

36



Label the circle with diameter AC as I 1, and the circle with diameter BD as I",.
The point Z lies on the radical axis of the two circles, so it has equal power with
respect to both. In particular, ZM - ZC = ZN - ZB, which prove that M, N, B and
C are concyclic. Call this circle 's. Now

/MND = ZMNB + ZBND
= /MCB+90°
= /MCA+ /AMC
=—-/CAM
= /ZMAD.

This proves that M,N,A and D are also concyclic; call this circle I"4. Finally,
we note that AM,DN and XY are the three radical axes formed between the
circles '1,I"2 and 4. These lines are not all parallel (AM || XY would require
that P = Z), so they must coincide at the radical centre of the circles.

(IMO 1995, problem 1)

6.1 Let D, E and F be the points of tangency of the incircle with BC,CA,AB and
let the excircle be tangent to the same sides at P, S and T respectively. Then
from common tangents,

2ES=2FT =ES+FT
=EC+CS+FB+BT
=DC+CP+DB+BP
=2BC.

Hence ES=FT =BC=y+z NowBP =BT =FT -BF = (y+z)-y=12.

Similarly, CP =vy.

37

6.2 Since the altitude AF passes through H and BC L AF, it follows that BC and
FM coincide. Let H’ be the reflection of H in BC. H’ is known to lie on the cir-
cumcircle of AABC, so R = H’O = /232 + 142, Hence BM = vVH'02 - 72 =
26 and BC = 2BM = 52.

~N [T

B\J]: M c

6.3 Clearly, Ag, Bp and Cg are in fact I, Ig and Ic, and we will refer to them as
such.

(i) We will show that |AI1AC| = 2| AIA4C]| (refer to the diagram on page 15,
where D is Az). Results for five other pairs of triangles follow similarly,
and adding them all up gives the desired result. Triangles I14C and I1A;C
have a common height, and bases Il and IA;. But these bases are the
radius and diameter of the circle with diameter 114, so the result follows.

(i) It suffices to show that |AC1BA1CB;| is at least twice |ABC|, which is
equivalent to showing that | ABCA1| + |ACAB;| +|AABC;| > |AABC].
Let Ay, B, and C, be the reflections of H in BC, CA and AB. These
points are known to lie on the circumcircle. When comparing the areas
of triangles BCA; and BCA,, we note that they share a common base but
the height of ABCA; is greater than or equal to that of ABCA,. Hence

|ABCAy| + | ACABy| + | AABCy| > | ABCA,| + | ACABy| + | AABC,|
=|ABCH| + |ACAH| + | AABH]
=|AABC|.

(IMO 1989 Question 2)
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6.4 LetBD =mand DC =n. Thenm+n=aand %:%:%. Hence

a ac

BD=m=—F=—".
1+2 btc

6.5 If r = 1, then AP = BP and so the locus is simply the perpendicular bisector.

Otherwise suppose r > 1 (the situation is symmetric if r < 1). Pick an arbitrary
P not on AB which satisfies the condition. Let the internal and external angle
bisectors of ZAPB meet AB at D1 and Dy respectively. Then by the angle
bisector theorem, £5t = £32 = r. Dy and D3 are the only two points on AB
that satisfy this, so they are %lxed independent of P. Also, /D1PD2 = 90°, so
P must lie on the circle with diameter D1D».

Conversely, suppose P lies on this circle. If P also lies on AB then P = Dj or
P = D, both of which satisfy the conditions. Otherwise let the internal and
external bisectors of ZPAB meet AB at E; and E; respectively. If A BP = % =
AE? < r then E lies closer to A than D1 and E lies further from A than Ds. But
thls means that ZE1PE» > 90°, which is a contradlctlon. Similarly, if §5 > r
then ZE;PE;, < 90°, again a contradiction. Thus A BP =r, and this circle is
precisely the locus of P.

This circle is known as an Apollonius circle.

6.6 Apply Menelaus to AACD cut by line BGE:

AG DB CE
Gb' BC EA- T ©1)
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6.

u

B D C

Similarly, one can apply it to AABD cut by BGE:
AG DC BF

GD CB FA

Finally, dividing (9.1) by (9.2) and doing some re-arranging (while being care-
ful with the sign conventions) gives Ceva’s Theorem.

=1 (9.2)

Without loss of generality, let BQ < CQ, giving the diagram below:

Suppose OQ L EF. Then EBQO and FCOQ are cyclic quadrilaterals, so
/BEO = 180° — ZBQO = ZCQO = ZCFO. But BO =CO, so ABEO =
ACFO. This gives EO = FO, making AEOF isosceles. But OQ L EF, so
EQ =QF.
Now suppose that QE = QF. Apply Menelaus to triangle AEF, cut by line
BQC:

EQ FC AB FC

1=5F cA'BE BE

Hence CF = BE. Also, BO =CO, so ABEO = ACFO and hence EO = FO.
Then AEOF is isosceles with EQ = QF, so OQ L EF.
(IMO 1994 question 2)
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6.8 Construct D on the extension of AC such that ZABD = ZABC. Note that AB is
then an angle bisector of ABDC. Also, /BDA = 2/ABC — Z/ABD = Z/ABD,
so triangle ABD is isosceles and AD = c¢. From the angle bisector theorem (or
from AABC ||| ABDC), we find that AD = &.

D

o

From Stewart’s Theorem, we get

(b+c)(c®+bec) = (%)Z-bJraZc

= (b+c)’hc=a%c?+a%he
= b(b+c) =a?,
as required.

6.9 Let the orthic triangle be A’B'C’. We use Euler’s Inequality twice, once on
AABC and once on AA’B'C’. The vertices of the orthic triangle lie on the
nine-point circle, so the circumradius of AA’B'C’ is R/2. Thus

(Proposed at IMO 1993)

6.10 The height of the triangle is 6, so the area is 121/3. Let the required length be
X, and consider the area as the sum of the areas of the triangles formed by Q
and the vertices.

The total area is thus 2v/3(1 4+ 2 +x). Solving the equation 12+/3 = 2/3(1 +
2+Xx) givesx = 3.

6.11 We know that s = x+y +z. Divide through by K, recalling that K =rs =rax =
rpy = rez.

6.12 We first check that sin is concave on [0°,180°]:

sinx+siny . /x+y X—y . (X+y
T7sm<—2 ) cos(—2 >§sm< 3 )

Thus

sina +sinB+siny < 3sin <%B+V) = 3sin60° = ¥

6.13 Suppose for a contradiction that these angles are all strictly greater than 30°.
Drop perpendiculars from P onto BC,CA,AB to meet at D,E,F respectively.
Then 2PF > PA, 2PD > PB and 2PE > PC. But then PA+PB+PC < 2(PD +
PE + PF), which contradicts the Erd6s-Mordell Theorem.

(IMO 1991, question 5)

7.1 (a) When combining two reflections, there are two cases.
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A A

N A

T,

A A

In the diagrams above, the first reflection maps A to A, and the second
maps A’ to A”.

(i) The lines of reflection are parallel, separated by a distance d. As
can be seen from the diagram, the combination of the reflections is
a translation by 2d, perpendicular to the lines of reflection (the di-
rection depends on the order in which the reflections are performed.
Conversely, any translation can be expressed as the combination of
two parallel reflections, suitably oriented, and with separation equal
to half the distance of the translation.

(if) The lines of reflection are not parallel, and intersect at some point
P with an angle of 6. From the diagram, it is now clear that any
other point is rotated by an angle of 26 around P, with the direction
depending on the order of the rotations. Conversely, any rotation
can be expressed as the combination of two reflections which pass
through the centre of the rotation, and with an angle between them of
half the rotation angle.

(b) Two translations trivially produce another translation, whose displacement
is the vector sum of the original displacements. When one or both of the
transformations is a rotation, express the transformations as pairs of reflec-
tions. We showed in part (a) that there is some freedom in the choice of
reflections. We will have four reflections which are applied in order, say
bobiaa;.® We can always choose the reflections such that a, and b are
the same. Identical reflections cancel out, so we are left with a;b, which
from (a) is equivalent to a rotation or translation.

(c

<

We can transform all the rotations and translations into pairs of reflections,
using part (a). We can then pair off these reflections and convert them back
into translations and rotations, possibly leaving one reflection at the end.
Now part (b) shows that we can reduce the sequence of translations and

SWe write sequence of transformations from right to left. This is because they are functions, so applying ab to a point
P actually means a(b(P)), with b being applied first.
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rotations to just one, which may be followed by a reflection. It remains to
show that a rotation followed by a reflection is equivalent to a translation
followed by a reflection. We do this by appending two identical (and hence
cancelling) reflections to the sequence, at an angle we will choose in a
moment. The sequence will now appear as ccb(rari) where rory is the
rotation, and c is the newly added reflection. We choose c so that cb forms
a rotation with angle exactly opposite to the angle of ror1. Now (cb)(rary)
is the combination of two rotations that forms some translation, say T (it is
atranslation, not a rotation, because of the choice of angle). Thus the entire
sequence is equivalent to cT i.e. a translation followed by a reflection.

7.

N

Reflect P in CA to obtain P; and reflect P in AB to obtain P,. Now PQ + QR +
RP = P1Q + QR + RP,. This sum will clearly be smallest when Py, Q, R and P,
lie in a straight line. So choose Q and R to be the intersections of P;P, with CA
and AB.

Py

7.3 Having two supplementary angles vertically opposite each other is not very
helpful. 1t would be more useful if we could get the angles to be either adjacent
(to create a straight line) or opposite angles of a quadrilateral (to make it cyclic).
One way to do this is to “pick up” triangle DOC and place DC on top of AB.

B
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More formally, construct O’ outside ABCD such that AAO’B = ADOC. Then
/AQ'B+ ZAOB = 180°, so AO'BO is cyclic. Also, OO’BC is a parallelogram
because O’B and OC are equal and parallel. Thus ZOBC = /BOO’ = /BAQ' =
/0DC.

(Canadian Mathematical Olympiad 1997)

7.4 (a) Let D,E and F be the midpoints of BC,CA and AB respectively. From the

Midpoint Theorem, ADEF ||| AABC and is half the size. It is also oriented
180° relative to AABC. Thus there is a homothetism that maps AABC to
ADEF, with scale factor —%. The centre of similitude must lie on AD, BE
and CF, and hence these lines are concurrent.

C

A F B

(b) The homothetism maps AG to DG with scale factor —3, s0 AG:GD =2:1.
The result follows similarly for the other two medians.

(c) The line DO is perpendicular to BC, and hence also to EF. Similarly
EO L FD and FO L DE, so O is the orthocentre of ADEF. Since the
homothetism maps AABC to ADEF, it will also map H to O. This proves
the collinearity, and the scale follows as in the previous section.
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7.5 Start with an arbitrary pair (Q,R) for which P exists, and construct the excircle

C, of APQR opposite P (see diagram).

A}
Xy

Y2

The incircle and excircle of APQR must be homothetic, and P is the centre
of the homothetism. Now let K be the point of tangency of C with L, and let
T be the point diametrically opposite K. The corresponding point to T on C»
must also be vertically above the centre in the diagram, i.e. it is N. But the line
through corresponding points must pass through the centre of the homothetism,
so P lieson NT.

From the solution to problem 6.1 (page 37), we have QK = RN, from which
it follows that N and K are symmetrically placed about M. But K and M are
fixed, so N must be fixed too.

We have now established that any solution P must lie on NT. It is also clear
that P must lie strictly beyond T. Conversely, suppose P’ is some point on NT
beyond T. Let L’ be a line through P’ and parallel to L, and consider moving
a point P along L/, finding Q and R on L such that C is the incircle of APQR.
When P moves far to the left, the midpoint of QR will be far to the right, and
vice versa. Since the midpoint shifts continuously, there is at least one point
where it is M. We have shown above that this P must be the intersection of NT
with L', namely P’, and hence P’ satisfies the desired properties. Therefore the
locus is the portion of NT that lies strictly beyond T.

(IMO 1992, question 4)
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7.6 Consider the spiral similarity with centre A, rotating clockwise (in the diagram)
by 45° and scaling by /2. 1t will map Q to C and R to X. Now consider the
spiral similarity with centre B that rotates anti-clockwise by 45° and scales by
V2. 1twill map A to X and P to C. These two similarities thus map AP and QR
to the same line. They both scale by the same amount (1/2) and the difference
of their angles is 90°, so AP and QR must be equal and perpendicular.

X

8.1 Construct Q inside the square with ACDQ equilateral. We aim to show that
P=Q.

A B

Now ZQDC = 60°, so ZQDA = 30°. But QD = AD, so AAQD is isosceles
and thus Z/DAQ = 75°. This makes /BAQ = 15°, and similarly Z/ABQ = 15°.
But then triangles ABP and ABQ have two common angles and a common side,
so they are congruent. Both P and Q lie on the same side of AB (the inside
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of the square), so P and Q must be the same. Triangle CDQ is equilateral by
construction, so ACDP is equilateral.

8.2 Construct a circle of radius 5m, with centre 5m above your head height and 4m
from the statue. This circle will pass through the head and foot of the statue.

If your head lies on the circle you will have some constant viewing angle 6;
with your head inside the circle the angle is larger, and with your head outside
the circle it is smaller. But the circle is tangent to the line representing head-
height, so the best angle is when your head is at this point of tangency. So you
should stand 4m from the statue.

8.

w

Firstly note that AALK = AALM. Hence AKLM is a kite and so KM L AL;
thus |AKNM| = %KM -AN. Since ABNC is cyclic, AABL ||| AANC and hence
AN -AL = AB-AC. Also, AL is the diameter of the circumcircle of AAKM, so
% = sina. Substituting these into the above gives

1 KM-AB-AC
AKNMI = 5=
:%-AB-AC-sin(x
= | AABC|
A
B C
N
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(IMO 1987 Question 2)
8.4 Let D be the point where the angle bisector from A cuts BC.

A

P

Since /BAD = ZPAC and Z/DBA = ZCPA we have ABAD|||APAC. Thus
% = A2. From exercise 6.4 we have BD = (2. It follows that AP = 2£¢.pC,
But PB = PC and so from the triangle inequality, 2PC > BC <= PC > §.
Therefore AP > b‘“TC

Similarly BQ > 52 and CR > %”. Adding these inequalities gives the desired
result.
(Australian Mathematics Olympiad 1985)

8.5 Firstly note that AX - AX” is the power of A with respect to the incircle, so it is
equal to AZ2=x2. Thus a-AX - XX’ =a-AXZ—ax.

A

X
We can calculate a- AX 2 using Stewart’s Theorem:
BC(AX?+BX -XC) = AC2-BX +AB?.CX
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8.

(2]

a(AX2+yz) =b%y+c%
a-AX?= (x+2)%y + (x+y)’2— (y+2)yz
=Xy + 2xyz+ 2y + X272+ 2xyz + Y22 — Y2 — 1y
=x2(y+12) + 4xyz
= ax®+ 4xyz.

Now we can calculate a- AX2 — ax2

a-AX?— ax® = 4xyz

s
= 4rK as desired.
(Arbelos May 1987)

This is a good example of a problem that becomes much easier with a good di-
agram (the diagram below is intentionally skewed). If AD and BC are extended
to meet at P, then it appears that P, E and F are collinear. This would be a
useful thing to know, so we attempt to prove it.

p

B oT A

Let T be the foot of the perpendicular from P to AB and let O be the centre of
the semicircle. AOCB|||APTB, so $8 = B9, similarly 24 = 29, We want
to prove that PT, AC and BD are concurrent, which by the converse of Ceva’s
Theorem would be true if

PC BT AD _
CB TA DP
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Firstly, PC = PD (equal tangents to the semicircle), and we can substitute the
ratios found above to change this to % . % = 1. However, this is true by the
angle bisector theorem (PD is an angle bisector because APCO = APDO). It
follows that E lies on the altitude from A, and F =T.

Now notice that PO subtends right angles at C, D and F, so PCFD is a cyclic
quad. Thus ZDFP = ZDCP and ZCFP = ZCDP, and since PC = PD it fol-
lows that ZDFP = ZCFP. Therefore EF bisects ZCFD.

(Proposed at IMO 1994)

The key to this problem is noticing that you can treat triangles ABD and ACE
as completely separate, and ignore AABC. The only things these two triangles
have in common is the angle at A and the height from A. Let these quantities
be 6 and h respectively. If we can express g + 5 in terms of € and h then
we are done.

Let us rename D to C so that we are working with AABC and can use the usual
notation.
1 1

1
MB T MC z

1
=+
y

=—— (Heron’s Formula)

(Proposed at IMO 1993)

8.8 Construct Q so that /BAQ = ZPAC and ZABQ = ZAPC. Then by construction,

AABQ||| AAPC. Now in AAPB and AACQ:
e /BAP = /BAC — ZPAC = ZQAC
51

AC

AC _ — AP
AQ = ACABJAP = AB*
Hence AAPB||| AACQ. Now /CBQ = /APC — /ABC = /APB — /ACB =
/BCQ, so ABCQ is isosceles. It follows that
AC_AQ_AQ_AB
PC~ BQ CQ BP
A

AN

Q

Now from the angle bisector theorem, BD will cut AP in the ratio AB : BP, and
CE will cut AP in the ratio AC : CP. Since these ratios are the same, the three
lines will be concurrent.

(IMO 1996 Question 2)

10 Recommended further reading

Geometric inequalities often require techniques from the world of standard inequal-
ities. Inequalities for the Olympiad Enthusiast, by Graeme West (part of the same
series as this booklet) provides some good material in this field.

This booklet is well under 100 pages, and as such cannot do proper justice to the
rich field of classical geometry. A highly regarded and very readable reference is
Geometry Revisited, by Coxeter and Greitzer.

A good source of problems are the yearbooks of the South African training pro-
gram for the IMO (South Africa and the nth IMO, for n > 35). These contain problems

52



and solutions for all the problems used in the training problem, including many good THE SOUTH AFRICAN COMMITTEE FOR THE PAN AFRICAN AND
geometry problems. INTERNATIONAL MATHEMATICAL OLYMPIADS

Dr P Dankelmann (University of KwaZulu-Natal)

Dr S Hansraj (University of KwaZulu-Natal)

Mr D Hatton (University of Cape Town)

Professor N J H Heideman (University of Cape Town)
Professor D P Laurie (University of Stellenbosch)

Dr L R le Riche (University of Stellenbosch)
Professor P Maritz (University of Stellenbosch
Professor S Mabizela (Rhodes University)

Professor J Persens (University of the Western Cape)
Professor P Pillay (University of KwaZulu-Natal)
Professor J H Webb (University of Cape Town) - Convener

53 54



terug naar echt bestand

6.5 meetkundelemma’s

100



A Metric Relation and its Applications
Son Hong Ta

Lemma. Let v be a circle and let A and B be two arbitrary points on it. A circle

p touches v internally at T'. Denote by AE and BF' the tangent lines to p at E and

F, respectively. Then % = %.

Proof. Denote by A; and B the second intersections of T'A and T'B with p, respec-
tively. We know that A;B; is parallel to AB. Therefore,

(AE)2 AA-AT BBy BT _ (BF>2

TA,) ~— AT -A,T BT BT \TB
Hence,
AE _BF _ AE _TA _TA
TA, TB; BF TB, TB’
which completes the proof. O

To illustrate how this lemma works, let us consider some examples. The following
problem was proposed by Nguyen Minh Ha, in the Vietnamese Mathematics Mag-
azine, in 2007.

Problem 1. Let Q be the circumcircle of the triangle ABC and let D be the

tangency point of its incircle p(I) with the side BC. Let w be the circle internally
tangent to Q at 7', and to BC at D. Prove that £LATT = 90°.
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Solution. Let E and F be the tangency points of p(I) with sides CA and AB,
respectively. According to the lemma,

B _BD _BF
TC CD CE
Therefore triangles TBF and TCE are similar. It follows that {TFA = LTFEA,

hence the points A, I, E, F, T lie on the same circle. It follows that L AT =
AAFI = 90° which completes our proof. O

Problem 2. Let ABCD be a quadrilateral inscribed in a circle €. Let w be a circle
internally tangent to Q at T, and to DB and AC at E and F, respectively. Let P
be the intersection of EF and AB. Prove that T'P is the internal angle bisector of
the angle L AT B.

Solution. From our lemma, applied to circles 2, w and points A, B, we conclude

that % = %, thus it suffices to prove that

AP _ AP

BE PB’
Indeed, notice that { PEB = {AF P, and from the Law of Sines, applied to triangles
APF, BPE, we have

Aj B sin {AFP B sin { BEP B E
AF  sin{APF sinKBPE BE’
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Therefore g—g = ﬁ—g, which completes our solution. O

The third problem comes from the Moldovan Team Selection Test in 2007, which
can be found in [2] and [3].

Problem 3. Let ABC be a triangle and let € be its circumcircle. Circles w is
internally tangent to 2 at T, and to sides AB and AC' at P and @, respectively.
Let S be the intersection of AT and PQ. Prove that {SBA = £SCA.

Solution. Using our lemma, we have

BP BT _sin{BCT _sin{BAT _PS
CQ CT sindCBT sindCAT QS

MATHEMATICAL REFLECTIONS 2 (2008) 3



This fact implies that BPS and C'QS are similar triangles which in turn implies
that LSBA = £SCA. O

Problem 4. Consider a circle (O) and a chord AB. Let circles (O1), (O2) be
internally tangent to (O) and AB and let M and N their intersection. Prove that
M N passes through the midpoint of the arc AB which does not contain M and N.

Solution. Denote by P and @ the tangency points of the circle (O1) with (O) and
AB, respectively. Let R and S be the tangency points of circle (O2) with (O) and
AB, respectively. Let T be the middle point of the arc AB which does not contain
M and N.

Applying the above lemma to circles (O), (O1), and points A, B along with their
tangent lines AQ, BQ to (O1) we get % = %. This means that P(Q) passes through
T. Similarly, RS passes through T'. On the other hand, A PQA = LQT A+ LQAT =
APRA+ LART = £PRS, therefore, points P, ), R, S lie on a circle which we will
denote by (O3). We have that PQ is the radical axis of (O;) and (O3), RS is the
radical axis of (O2) and (Os3), and M N is the radical axis of (O;) and (Oz). So,
MN, PQ, and RS are concurrent at the radical center of the three circles. Hence,
we deduce that M N passes through 7', which is the midpoint of the arc AB that
does not contain M and N. ([

We continue with a problem from the MOSP Tests 2007 [4].
Problem 5. Let ABC be a triangle. Circle w passes through points B and C.
Circle w; is tangent internally to w and also to the sides AB and AC' at T, P, and

@, respectively. Let M be midpoint of arc BC' (containing 7T") of w. Prove that lines
PQ, BC, and MT are concurrent.
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Solution. Let K = PQNBC and let K’ = MT NBC. Applying Menelaos’ Theorem
in triangle ABC we obtain

KB QC PA_ | KB_BP

KB QA PB KC CQ°

/ \\\
/ A

\

On the other hand, M is the midpoint of arc BC' (containing T') of w so MT is the
K'B _ TB

external bisector of angle L BT'C, therefore 777 = 7:Z. Thus, we are left to prove
that % = %, which is true according to our lemma and we are done. O

The last problem was given in [5] and is also discussed and proved in [6]. Now, we
will present another solution for this nice problem.

Problem 6. Circles (O;) and (O2) are internally tangent to a given circle (O) at M
and N, respectively. Their internal common tangents intersect (O) at four points.
Let B and C be two of them such that B and C' lie on the same side with respect
to O103. Prove that BC is parallel to an external common tangent of (O;) and (O2).

Solution. Draw the internal common tangents GH, KL of (O1), (O2) such that
G and L lie on (O7) and K and H lie on (O3z). Let EF be the external common
tangent of (O1), (O2) such that E and B lie on the same side with respect to O10s.
Denote by P and @ the intersections of E'F with (O). We will prove that BC' is
parallel to PQ. Denote by A be the midpoint of the arc PQ which does not con-
tain M and N. Let AX and AY be the tangents at X and Y to the circles (Oy)
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and (O2). In the solution to Problem 4 we have proved that A, E, and M are
collinear; A, F, and N are collinear, and the quadrilateral M EF' N is cyclic. There-
fore, AX? = AE - AM = AF - AN = AY? ie. AX = AY (1).

Based on the lemma, ]X—)‘? = % = ]g—g On the other hand, by the Ptolemy’s

Theorem, MA-BC = MB - AC = MC - AB, therefore
AX  -BC=BG-AC =CL-AB.

Similarly,
AY -BC =BH - -AC+CK - AB.

Thus AC - (BH — BG) = AB - (CL — CK), i.e. AC-GH = AB- KL, which implies
AC = AB. Hence, A is the midpoint of the arc BC' of the circle (O). This means
that BC' is parallel to PQ and our solution is complete. O
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1. Construction of the symmedian.

Let ABC be a triangle and I its circumcircle. Let the tangent to I at B and C meet at D. Then
AD coincides with a symmedian of AABC. (The symmedian is the reflection of the median
across the angle bisector, all through the same vertex.)

We give three proofs. The first proof is a straightforward computation using Sine Law. The
second proof uses similar triangles. The third proof uses projective geometry.

First proof. Let the reflection of AD across the angle bisector of ZBAC meet BC at M’'. Then

BM'  AM'SREBAM iy /BAM' sin /ABD _ sin /CADsin /ABD _CD AD _

M'C ™~ AM/SRLCANT ™ “in JACD sinZCAM' — sin ZACDsin ZBAD ~ AD BD

Therefore, AM’ is the median, and thus AD is the symmedian. O

Second proof. Let O be the circumcenter of ABC and let w be the circle centered at D with radius
DB. Let lines AB and AC meet w at P and @, respectively. Since /PBQ = ZDQC + /BAC =
%(ABDC + £ZDOC) = 90°, we see that PQ is a diameter of w and hence passes through D.
Since ZABC = ZAQP and LZACB = ZAPQ, we see that triangles ABC and AQP are similar.
If M is the midpoint of BC, noting that D is the midpoint of @QP, the similarity implies that
/BAM = ZQAD, from which the result follows. Ol

Third proof. Let the tangent of T" at A meet line BC at E. Then F is the pole of AD (since the
polar of A is AE and the pole of D is BC). Let BC meet AD at F. Then point B,C, E, F are
harmonic. This means that line AB, AC, AE, AF are harmonic. Consider the reflections of the
four line across the angle bisector of ZBAC. Their images must be harmonic too. It’s easy to
check that AF maps onto a line parallel to BC'. Since BC must meet these four lines at harmonic
points, it follows that the reflection of AF must pass through the midpoint of BC. Therefore,
AF is a symmedian. O

'Updated July 26, 2008
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Related problems:

(i)
(i)

(iii)

(Poland 2000) Let ABC be a triangle with AC' = BC', and P a point inside the triangle such
that ZPAB = ZPBC. If M is the midpoint of AB, then show that ZAPM+/BPC = 180°.

(IMO Shortlist 2003) Three distinct points A, B, C' are fixed on a line in this order. Let T’
be a circle passing through A and C whose center does not lie on the line AC'. Denote by
P the intersection of the tangents to I' at A and C. Suppose I' meets the segment PB at
Q. Prove that the intersection of the bisector of ZAQC and the line AC does not depend
on the choice of T'.

(Vietnam TST 2001) In the plane, two circles intersect at A and B, and a common tangent
intersects the circles at P and (). Let the tangents at P and @ to the circumcircle of triangle
APQ intersect at S, and let H be the reflection of B across the line PQ. Prove that the
points A, S, and H are collinear.

(USA TST 2007) Triangle ABC'is inscribed in circle w. The tangent lines to w at B and C
meet at T'. Point S lies on ray BC such that AS 1L AT. Points By and Cy lies on ray ST
(with C7 in between Bj and S) such that B1yT = BT = CT. Prove that triangles ABC
and AB,Cy are similar to each other.

(USA 2008) Let ABC be an acute, scalene triangle, and let M, N, and P be the midpoints
of BC, C'A, and AB, respectively. Let the perpendicular bisectors of AB and AC intersect
ray AM in points D and E respectively, and let lines BD and CE intersect in point F,
inside of triangle ABC. Prove that points A, N, F', and P all lie on one circle.

2. Diameter of the incircle.

Let the incircle of triangle ABC' touch side BC at D, and let DE be a diameter of the circle. If
line AFE meets BC at F', then BD = CF.

Proof. Consider the dilation with center A that carries the incircle to an excircle. The diameter
DE of the incircle must be mapped to the diameter of the excircle that is perpendicular to BC'
It follows that E must get mapped to the point of tangency between the excircle and BC'. Since
the image of F must lie on the line AF, it must be F. That is, the excircle is tangent to BC' at
F. Then, it follows easily that BD = C'F. Ol

Related problems:

(i)

(IMO Shortlist 2005) In a triangle ABC satisfying AB+ BC = 3AC the incircle has centre [
and touches the sides AB and BC at D and E, respectively. Let K and L be the symmetric
points of D and F with respect to I. Prove that the quadrilateral ACK L is cyclic.



IMO Training 2007 Lemmas in Euclidean Geometry Yufei Zhao

(ii) (IMO 1992) In the plane let C be a circle, ¢ a line tangent to the circle C, and M a point on
¢. Find the locus of all points P with the following property: there exists two points @, R
on ¢ such that M is the midpoint of QR and C is the inscribed circle of triangle PQR.

(iii) (USAMO 1999) Let ABCD be an isosceles trapezoid with AB || CD. The inscribed circle
w of triangle BC'D meets CD at E. Let F be a point on the (internal) angle bisector of
ZDAC such that EF 1 CD. Let the circumscribed circle of triangle ACF meet line CD
at C and G. Prove that the triangle AFG is isosceles.

(iv) (USAMO 2001) Let ABC be a triangle and let w be its incircle. Denote by D; and E; the
points where w is tangent to sides BC and AC, respectively. Denote by Dy and E5 the points
on sides BC and AC, respectively, such that C Dy = BD; and CEy; = AFE7, and denote by
P the point of intersection of segments ADs and BFEs. Circle w intersects segment ADs at
two points, the closer of which to the vertex A is denoted by ). Prove that AQ = Dy P.

(v) (Tournament of Towns 2003 Fall) Triangle ABC has orthocenter H, incenter I and circum-
center O. Let K be the point where the incircle touches BC. If 1O is parallel to BC, then
prove that AQ is parallel to HK.

(vi) (IMO 2008) Let ABCD be a convex quadrilateral with |BA| # |BC|. Denote the incircles
of triangles ABC and ADC' by w; and ws respectively. Suppose that there exists a circle w
tangent to the ray BA beyond A and to the ray BC beyond C, which is also tangent to the
lines AD and CD. Prove that the common external tangents of w; and wo intersect on w.

3. Dude, where’s my spiral center?

Let AB and C'D be two segments, and let lines AC' and BD meet at X. Let the circumcircles of
ABX and CDX meet again at O. Then O is the center of the spiral similarity that carries AB
to CD.

Proof. Since ABOX and CDXO are cyclic, we have ZOBD = ZOAC and ZOCA = Z0ODB. It
follows that triangles AOC and BOD are similar. The result is immediate. O

Remember that spiral similarities always come in pairs: if there is a spiral similarity that carries
AB to CD, then there is one that carries AC to BD.

Related problems:
(i) (IMO Shortlist 2006) Let ABCDE be a convex pentagon such that

LBAC = LCAD = LDAFE and LOBA =/4DCA = ZLEDA.

Diagonals BD and CFE meet at P. Prove that line AP bisects side C'D.
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(i)

(iii)

(v)

(vii)

(viii)

(China 1992) Convex quadrilateral ABCD is inscribed in circle w with center O. Diagonals
AC and BD meet at P. The circumcircles of triangles ABP and CDP meet at P and Q.
Assume that points O, P, and @ are distinct. Prove that ZOQP = 90°.

Let ABCD be a quadrilateral. Let diagonals AC and BD meet at P. Let O7 and Oy be
the circumcenters of APD and BPC. Let M, N and O be the midpoints of AC, BD and
010. Show that O is the circumcenter of M PN.

(USAMO 2006) Let ABCD be a quadrilateral, and let E and F' be points on sides AD and
BC, respectively, such that AE/ED = BF/FC. Ray F'E meets rays BA and CD at S and
T, respectively. Prove that the circumcircles of triangles SAE, SBF, TCF, and TDE pass
through a common point.

(IMO 2005) Let ABCD be a given convex quadrilateral with sides BC' and AD equal in
length and not parallel. Let F and F' be interior points of the sides BC' and AD respectively
such that BE = DF. The lines AC and BD meet at P, the lines BD and EF meet at @,
the lines FF and AC meet at R. Consider all the triangles PQR as E and F vary. Show
that the circumcircles of these triangles have a common point other than P.

(IMO Shortlist 2002) Circles S1 and Sy intersect at points P and . Distinct points A; and
B; (not at P or @) are selected on Sy. The lines A; P and B; P meet Sy again at Az and
By respectively, and the lines A1 B; and A2Bs meet at C. Prove that, as A; and Bj vary,
the circumcentres of triangles A; AsC' all lie on one fixed circle.

(USA TST 2006) In acute triangle ABC', segments AD, BE, and CF are its altitudes, and
H is its orthocenter. Circle w, centered at O, passes through A and H and intersects sides
AB and AC again at Q and P (other than A), respectively. The circumcircle of triangle
OPQ is tangent to segment BC at R. Prove that CR/BR = ED/FD.

(IMO Shortlist 2006) Points Ay, By and C are chosen on sides BC, C A, and AB of a triangle
ABC, respectively. The circumcircles of triangles AB1C1, BC1 A1, and C'A; By intersect the
circumcircle of triangle ABC' again at points As, Bo, and Co, respectively (As # A, By # B,
and Cy # (). Points As, Bs, and C3 are symmetric to Ay, By, C7 with respect to the
midpoints of sides BC, C A, and AB, respectively. Prove that triangles As BoC5 and A3 B3C's
are similar.

4. Arc midpoints are equidistant to vertices and in/excenters

Let ABC be a triangle, I its incenter, and I4, Ig, I¢ its excenters. On the circumcircle of ABC,
let M be the midpoint of the arc BC not containing A and let N be the midpoint of the arc BC
containing A. Then MB = MC = MI = MIy and NB=NC = NIg = NlI¢.

Proof. Straightforward angle-chasing (do it yourself!). Another perspective is to consider the
circumcircle of ABC' as the nine-point-circle of I4Iglc. O

Related problems:

(i)
(i)

(APMO 2007) Let ABC be an acute angled triangle with ZBAC = 60° and AB > AC. Let [
be the incenter, and H the orthocenter of the triangle ABC'. Prove that 2£ZAHI = 3/ABC.

(IMO 2006) Let ABC be a triangle with incentre I. A point P in the interior of the triangle
satisfies /PBA+ /PCA = /PBC + ZPCB. Show that AP > AI, and that equality holds
if and only if P = 1.



IMO Training 2007 Lemmas in Euclidean Geometry Yufei Zhao

(iii) (Romanian TST 1996) Let ABCD be a cyclic quadrilateral and let M be the set of incenters
and excenters of the triangles BCD,CDA, DAB, ABC (16 points in total). Prove that there
are two sets IC and L of four parallel lines each, such that every line in UL contains exactly
four points of M.

. I is the midpoint of the touch-chord of the mixtilinear incircles

Let ABC be a triangle and I its incenter. Let I' be the circle tangent to sides AB, AC, as well
as the circumcircle of ABC. Let I' touch AB and AC at X and Y, respectively. Then [ is the
midpoint of XY

Proof. Let the point of tangency between the two circles be T. Extend T'X and TY to meet the
circumcircle of ABC' again at P and @ respectively. Note that P and @ are the midpoint of the
arcs AB and AC. Apply Pascal’s theorem to BACPT (@ and we see that X,I,Y are collinear.
Since I lies on the angle bisector of /X AY and AX = AY, I must be the midpoint of XY. [

Related problems:

(i) (IMO 1978) In triangle ABC, AB = AC'. A circle is tangent internally to the circumcircle
of triangle ABC and also to sides AB, AC at P, ), respectively. Prove that the midpoint of
segment P(Q is the center of the incircle of triangle ABC.
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(ii) Let ABC be a triangle. Circle w is tangent to AB and AC, and internally tangent to the
circumcircle of triangle ABC. The circumcircle and w are tangent at P. Let I be the
incircle of triangle ABC'. Line PI meets the circumcircle of ABC at P and ). Prove that

BQ = CQ.
6. More curvilinear incircles.

(A generalization of the previous lemma) Let ABC be a triangle, I its incenter and D a point on
BC'. Consider the circle that is tangent to the circumcircle of ABC but is also tangent to DC,
DA at E, F respectively. Then F, F' and [ are collinear.

A

Proof. There is a “computational” proof using Casey’s theorem? and transversal theorem®. You
can try to work that out yourself. Here, we show a clever but difficult synthetic proof (commu-
nicated to me via Oleg Golberg).

Denote (2 the circumcircle of ABC and I' the circle tangent tangent to the circumcircle of ABC
and lines DC, DA. Let Q and I' touch at K. Let M be the midpoint of arc BC' on ) not
containing K. Then K, E, M are collinear (think: dilation with center K carrying I" to ). Also,
A, I, M are collinear, and M1 = MC.

Let line EI meet I' again at F’. It suffices to show that AF” is tangent to I'.
Note that /KF'E is subtended by KE in T and ZK AM is subtended by KM in Q. Since KE

and KM are homothetic with center K, we have /KF'E = /K AM, implying that A, K,I', F’
are concyclic.

We have /BCM = /CBM = /CKM. So AMCE ~ AMKC. Hence MC? = ME - MK.
Since MC = MI, we have MI? = ME - MK, implying that AMIE ~ AMKI. Therefore,

2Casey’s theorem, also known as Generalized Ptolemy Theorem, states that if there are four circles I'y,I'2, '3, 's
(could be degenerated into a point) all touching a circle I' such that their tangency points follow that order around the
circle, then

t12t34 + tasztia = t13toa,

where t12 is the length of the common tangent between I'; and I'; (if I'; and I'; on the same side of I, then take their
common external tangent, else take their common internal tangent.) I think the converse is also true—if both equations
hold, then there is some circle tangent to all four circles.

3The transversal theorem is a criterion for collinearity. It states that if A, B, C' are three collinear points, and P is
a point not on the line ABC, and A’, B’, C' are arbitrary points on lines PA, PB, PC respectively, then A’, B, C’ are

collinear if and only if

AP BP CP

. A- AB - —
ap "¢ mp 4B TP
where the lengths are directed. In my opinion, it’s much easier to remember the proof than to memorize this huge formula.
The simplest derivation is based on relationships between the areas of [PAB], [PA'B’], etc.

BC 0,
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/KEI = LZAIK = ZAF'K (since A, K, I, F’ are concyclic). Therefore, AF’ is tangent to Q and
the proof is complete. O

Related problems:

(i)

(iii)

(vi)

(Bulgaria 2005) Consider two circles ki, k2 touching externally at point 7. A line touches
ko at point X and intersects ki at points A and B. Let S be the second intersection point
of k1 with the line XT'. On the arc T'S not containing A and B is chosen a point C' . Let
CY be the tangent line to ko with Y € kg , such that the segment CY does not intersect
the segment ST . If I = XY NSC . Prove that:

(a) the points C,T,Y, I are concyclic.
(b) I is the excenter of triangle ABC with respect to the side BC.

(Sawayama-Thébault*) Let ABC be a triangle with incenter I. Let D a point on side BC.
Let P be the center of the circle that touches segments AD, DC, and the circumcircle
of ABC, and let @ be the center of the circle that touches segments AD, BD, and the
circumcircle of ABC. Show that P, @, I are collinear.

Let P be a quadrilateral inscribed in a circle €2, and let @ be the quadrilateral formed by
the centers of the fourcircles internally touching O and each of the two diagonals of P. Show
that the incenters of the four triangles having for sides the sides and diagonals of P form a
rectangle R inscribed in Q.

(Romania 1997) Let ABC be a triangle with circumcircle 2, and D a point on the side BC'.
Show that the circle tangent to 2, AD and BD, and the circle tangent to 2, AD and DC,
are tangent to each other if and only if ZBAD = ZC'AD.

(Romania TST 2006) Let ABC be an acute triangle with AB # AC. Let D be the foot
of the altitude from A and w the circumcircle of the triangle. Let w; be the circle tangent
to AD, BD and w. Let wy be the circle tangent to AD, CD and w. Let ¢ be the interior
common tangent to both w; and ws, different from C'D. Prove that ¢ passes through the
midpoint of BC' if and only if 2BC = AB + AC.

(AMM 10368) For each point O on diameter AB of a circle, perform the following construc-
tion. Let the perpendicular to AB at O meet the circle at point P. Inscribe circles in the
figures bounded by the circle and the lines AB and OP. Let R and S be the points at which
the two incircles to the curvilinear triangles AOP and BOP are tangent to the diameter
AB. Show that ZRPS is independent of the position of O.

7. Concurrent lines from the incircle.

Let the incircle of ABC touch sides BC,CA, AB at D, E, F respectively. Let I be the incenter
of ABC' and M be the midpoint of BC'. Then the lines EF, DI and AM are concurrent.

Proof. Let lines DI and EF meet at N. Construct a line through N parallel to BC, and let it
meet sides AB and AC at P and @, respectively. We need to show that A, N, M are collinear,
so it suffices to show that N is the midpoint of PQ). We present two ways to finish this off, one
using Simson’s line, and the other using spiral similarities.

4A bit of history: this problem was posed by French geometer Victor Thébault (1882-1960) in the American
Mathematical Monthly in 1938 (Problem 2887, 45 (1938) 482-483) and it remained unsolved until 1973. How-
ever, in 2003, Jean-Louis Ayme discovered that this problem was independently proposed and solved by instruc-
tor Y. Sawayama of the Central Military School of Tokyo in 1905! For more discussion, see Ayme’s paper at
http://forumgeom. fau.edu/FG2003volume3/FG200325. pdf
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T

Simson line method: Consider the triangle AP(Q. The projections of the point I onto the three
sides of APQ are D, N, F', which are collinear, I must lie on the circumcircle of APQ by Simson’s
theorem. But since A is an angle bisector, PI = QI, thus PN = QN.

Spiral similarity method: Note that P, N, I, F are concyclic, so ZEFI = ZQPI. Similarly,
/PQI = ZFFEI. So triangles PI(Q) and FIFE are similar. Since FI = EI, we have PI = QI, and
thus PN = QN. (c.f. Lemma 3) O

Related problems:

(i) (China 1999) In triangle ABC, AB # AC. Let D be the midpoint of side BC, and let E be
a point on median AD. Let F be the foot of perpendicular from F to side BC, and let P
be a point on segment EF. Let M and N be the feet of perpendiculars from P to sides AB
and AC, respectively. Prove that M, E, and N are collinear if and only if /Z/BAP = ZPAC.

(ii) (IMO Shortlist 2005) The median AM of a triangle ABC intersects its incircle w at K and
L. The lines through K and L parallel to BC intersect w again at X and Y. The lines AX
and AY intersect BC at P and Q. Prove that BP = CQ.

8. More circles around the incircle.

Let I be the incenter of triangle ABC|, and let its incircle touch sides BC, AC, AB at D, E and
F, respectively. Let line CI meet EF at T. Then T, I, D, B, F are concyclic. Consequent results
include: ZBTC = 90°, and T lies on the line connecting the midpoints of AB and BC.

An easier way to remember the third part of the lemma is: for a triangle ABC, draw a midline,
an angle bisector, and a touch-chord, each generated from different vertex, then the three lines
are concurrent.

Proof. Showing that I,T, E, B are concyclic is simply angle chasing (e.g. show that ZBIC =
/BFE). The second part follows from /BTC = /BTI = /BFI = 90°. For the third part, note
that if M is the midpoint of BC', then M is the midpoint of an hypotenuse of the right triangle
BTC. So MT = MC. Then ZMTC = £ZMCT = LZACT, so MT is parallel to AC, and so MT

is a midline of the triangle. O
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Related problems:

(i) Let ABC be an acute triangle whose incircle touches sides AC and AB at E and F', respec-
tively. Let the angle bisectors of ZABC and ZACB meet EF at X and Y, respectively,
and let the midpoint of BC be Z. Show that XY Z is equilateral if and only if LA = 60°.

(ii) (IMO Shortlist 2004) For a given triangle ABC, let X be a variable point on the line BC'
such that C' lies between B and X and the incircles of the triangles ABX and AC'X intersect
at two distinct points P and ). Prove that the line PQ passes through a point independent
of X.

(iii) Let points A and B lie on the circle T', and let C be a point inside the circle. Suppose that
w is a circle tangent to segments AC, BC and I'. Let w touch AC and I" at P and ). Show
that the circumcircle of APQ passes through the incenter of ABC.

9. Reflections of the orthocenter lie on the circumcircle.

Let H be the orthocenter of triangle ABC. Let the reflection of H across the BC be X and the
reflection of H across the midpoint of BC' be Y. Then X and Y both lie on the circumcircle of
ABC. Moreover, AY is a diameter of the circumcircle.

A

N
Y

X

Proof. Trivial. Angle chasing. O

Related problems:

(i) Prove the existence of the nine-point circle. (Given a triangle, the nine-point circle is the
circle that passes through the three midpoints of sides, the three feet of altitudes, and the
three midpoints between the orthocenter and the vertices).

(ii) Let ABC be a triangle, and P a point on its circumcircle. Show that the reflections of P
across the three sides of ABC lie on a lie that passes through the orthocenter of ABC.

(iii) (IMO Shortlist 2005) Let ABC be an acute-angled triangle with AB # AC, let H be its
orthocentre and M the midpoint of BC. Points D on AB and E on AC are such that
AE = AD and D, H, E are collinear. Prove that HM is orthogonal to the common chord
of the circumcircles of triangles ABC' and ADE.

(iv) (USA TST 2005) Let A; A2 A3 be an acute triangle, and let O and H be its circumcenter and
orthocenter, respectively. For 1 < i < 3, points P; and @; lie on lines OA; and A;11A; 2
(where A;+3 = A;), respectively, such that OP,H(Q); is a parallelogram. Prove that

0Q1  0Q2  0Q3
> 3.
OP + OP, + OP; — 3
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(v) (China TST quizzes 2006) Let w be the circumcircle of triangle ABC, and let P be a point
inside the triangle. Rays AP, BP,CP meet w at A1, B1, Cq, respectively. Let Ao, By, Cs be
the images of Ay, By, C1 under reflection about the midpoints of BC, C A, AB, respectively.
Show that the orthocenter of ABC lies on the circumcircle of A5 ByCs.

10. O and H are isogonal conjugates.

Let ABC be a triangle, with circumcenter O, orthocenter H, and incenter I. Then AI is the
angle bisector of ZHAQO.

Proof. Trivial. O

Related problems:

(i) (Crux) Points O and H are the circumcenter and orthocenter of acute triangle ABC, re-
spectively. The perpendicular bisector of segment AH meets sides AB and AC' at D and
E, respectively. Prove that ZDOA = ZFEOA.

(ii) Show that TH = IO if and only if one of LA, /B, ZC' is 60°.

10
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1 Cross Ratio. Harmonic Conjugates. Perspectivity. Projetivity

Definition 1. Let A, B, C, and D be colinear points. Theoss raticof the pairs of point$A, B) and
(C,D)is
AC AD
Z(A,B;C,D) = : . 1
ABEDIT 58 o8 @

Leta, b, ¢, d be four concurrentlines. For the
given linesp; and p, let us denote, = an p;,

Bi=bnp,C=cnp,Di=dnp,fori=1, 2. A 2
Then
Cil B D
%(A1,B1;C1,D1) = Z(A2,B2iCa.D2).  (2) R alE B
Thus it is meaningful to define the cross ratio
of the pairs of concurrent points as 0,
%’(a, b; C,d) :,@(Al,Bl;C]_,Dl). (3)
Assume that point®y, O, A, B, C, D belong O1
to acircle. Then
D
%(OlA, Oj_B;OlC,OlD)
A
= ,@(OQA, OzB;OzC,OzD). (4) B
C

Hence it is meaningful to define the cross-ratio for cocypbmts as

%(A, B; C, D) = %(O]_A, O]_B; O]_C, O]_D). (5)



2 Olympiad Training Materials, www.imomath.com

Assume that the pointg, B, C, D are colin-
ear or cocyclic. Let an inversion with centér
mapsA, B, C, D into A%, B*, C*, D*. Then

2%(A,B;C,D) = Z(A*,B*:C*,D*).  (6)

Definition 2. Assume that A, B, C, and D are cocyclic or colinear pointsrgaf points(A, B) and
(C,D) are harmonic conjugate$ Z(A,B;C,D) = —1. We also write77 (A, B;C,D) when we want
to say that(A,B) and(C,D) are harmonic conjugates to each other.

Definition 3. Let each of{ and b be either line or circle.Perspectivitywith respect to the point S
%, is the mapping ofil— |, such that

(i) If either |y or I, is a circle than it contains S;
(i) every point A € |1 is mapped to the point A= OA; Nl>.

According to the previous statements perspectivity presethe cross ratio and hence the hal
monic conjugates.

Definition 4. Let each of{ and b be either line or circle.Projectivityis any mapping fromylto I,
that can be represented as a finite composition of perspgesv

Theorem 1. Assume that the points A, B, C3,0and D, are either colinear or cocyclic. If the
equationZ(A,B;C,D1) = Z(A,B;C,D>) is satisfied, then P= D». In other words, a projectivity
with three fixed points is the identity.

Theorem 2. If the points A, B, C, D are mutually discjoint ané(A,B;C,D) = #(B,A;C,D) then
A (A,B;C,D).

2 Desargue’s Theorem

The trianglesA;B,C; andA;B,C, areperspective with respect to a centéthe linesA;A,, B1Bo,
andC,C, are concurrent. They aperspective with respect to an axishe pointsK = B1C; N B,Cy,
L=ACiNAC,, M = A1B; N AB; are colinear.

Theorem 3 (Desargue).Two triangles are perspective with respect to a center if anly if they
are perspective with respect to a point.

3 Theorems of Pappus and Pascal

Theorem 4 (Pappus). The points A, Ay, Az belong to the line a, and the pointg ,B,, B3 belong
to the line b. Assume that B, NAsB1 = C3, A1B3NAzB1 = Cy, AoB3NA3zB, =C,. Then G, G, G
are colinear.

Proof. DenoteC’2 =C1C3NA3B1, D =A1B,NA3B;, E = AB1NA3By, F =anhb. Our goal is to
prove that the pointS; andC; are identical. Consider the sequence of projectivities:

A3B;1DC, % FB1B,Bs 2 AsEB,C; ¥ A3B;DC,.

We have got the projective transformation of the &8, that fixes the pointés, B;, D, and maps
C, to C,,. Since the projective mapping with three fixed points is thetity we havec, = C;. O
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Ar Ay As F>

Theorem 5 (Pascal).Assume that the points AAz, Ag, B1, B, B3 belong to a circle. The pointin
intersections of AB, with AoB1, A1Bs with AzB1, A>B3 with AgB> lie on a line.

Proof. The pointsC), D, andE as in the proof of the Pappus theorem. Consider the sequénc:
perspectivities
AzB1DC, % A3B1B,B3 %2 ASEB,Cy 2 A3B1DC,.

In the same way as above we conclude Gat C5. [

4 Pole. Polar. Theorems of Brianchon and Brokard

Definition 5. Given a circle KO,r), let A* be the image of the pointA O under the inversion with
respect to k. The line a passing through #@nd perpendicular to OA is called tigolar of A with
respect to k. Conversely A is called thele of a with respect to k.

Theorem 6. Given a circle KO,r), let and a and b be the polars of A and B with respect to k. Tt
A e bifandonly if Be a.

Proof. A€ bif and only if ZAB*O = 90°. AnalogouslyB € a if and only if /ZBA*O = 90°, and it
reamins to notice that according to the basic propertiesvafrsion we have’ AB*O = ZBA"O. [J

Definition 6. Points A and B are calledonjugatedvith respect to the circle k if one of them lies or
a polar of the other.

Theorem 7. If the line determined by two conjugated points A and B itetsKO,r) at C and D,
then 7 (A,B;C,D). Conversely if7Z(A,B;C,D), where CD € k then A and B are conjugated with
respect to k.

Proof. Let C; andD; be the intersection points @A with k. Since the inversion preserves the
cross-ratio andZ(Cy,D1; A A*) = #(Cq1,D1; A", A) we have

%(C]_,Dl;A,A*). (7)

Let p be the line that contain and intersectk atC andD. LetE = CC,NDD4, F =CD; NDC;.
SinceC; D1 is the diameter ok we haveCiF L D1E andD1F LC1E, henceF is the orthocenter of
the triangleC;D1E. LetB=EFNCD andA* = EFNC;D;. Since

C;D1AA* SCDABSD1CAA
have.# (C1,D1; A, A*) and.# (C,D; A, B). (7) now implies two facts:

1° From 2 (Cy,D1;A,A%) and 5 (Cy,D1; A, A*) we getA* = A*, henceA* € EF. However,
sinceEF 1.C,D1, the lineEF = ais the polar ofA.

2° For the pointB which belongs to the polar & we haves# (C,D;A,B). This completes the
proof. ]

Theorem 8 (Brianchon’s theorem). Assume that the hexagonA&AzA1AsAs is circumscribed
about the circle k. The lines;A4, AcAs, and AAg intersect at a point.
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Proof. We will use the convention in which the points will be denobgdcapital latin letters, and
their repsective polars with the corresponding lowercagers.

Denote byM;, i = 1,2,...,6, the points of tangency &A1 with k. Sincemy = A/A;1, we
haveM; € a;, M; € a1, hencegy = M;_1M;.

Letb; = AjAj13, ] =1,2,3. ThenBj = ajNaj 3 = Mj_1Mj N M;;3Mj 4. We have to prove
that there exists a poim such thatP € by, by, bs, or analogously, that there is a lieesuch that
B1,B2,B3 € p. In other words we have to prove that the poiBisB,, B are colinear. However this
immediately follows from the Pascal’s theorem appliettdVisMsM4MgM,. O

From the previous proof we see that the Brianchon’s theoseabiained from the Pascal’s by
replacing all the points with their polars and all lines bgitk poles.

Theorem 9 (Brokard). The quadrilateral ABCD is inscribed in the circle k with cenD. Let
E =ABNCD, F=ADNBC, G=ACNBD. Then O is the orthocenter of the triangle EFG.

Proof. We will prove thatEGis a polar ofF. Let
X =EGNBCandY = EGNAD. Then we also
have

ADY F =BCXF % DAYF,
which implies the relations?’(A,D;Y,F) and
' (B,C;X,F). According to the properties of
polar we have that the poin¥ andY lie on a
polar of the point~, henceEG is a polar of the B\ X JC
pointF.

SinceEG is a polar ofF, we haveEG1OF. Analogously we hav&G1OE, thusO is the
orthocenter oANEFG. [J

5 Problems

1. Given a quadrilateréBCD, let P = ABNCD, Q =ADNBC, R=ACNPQ, S=BDNPQ.
Prove thatZ’(P,Q;R,S).

2. Givenatriangl&BCand a poiniM onBC, letN be the point of the lin8C such that MAN =
90°. Prove that7’(B,C; M, N) if and only if AM is the bisector of the angléBAC.

3. LetA andB be two points and le€ be the point of the linéB. Using just a ruler find a point
D on the lineAB such that’# (A, B;C, D).

4. LetA, B, C be the diagonal points of the quadrilatePEDRS or equivalentlyA = PQN RS
B=QRNSP,C=PRNQS If only the pointsA, B, C, S, are given using just a ruler construci
the pointsP, Q, R.

5. Assume that the incircle @akABCtouches the sideBC, AC, andABatD, E, andF. LetM be
the point such that the circle incscibed inABCM touchesBC at D, and the sideBM and
CM atP andQ. Prove that the lineEF, PQ, BC are concurrent.

6. Given a triangléABC, let D andE be the points oC such thaBD = DE = EC. The linep
intersectAB, AD, AE, AC atK, L, M, N, respectively. Prove th&N > 3LM.

7. The pointM; belongs to the sid&B of the quadrilaterahBCD. Let M, be the projection of
M; to the lineBC from D, M3 projection ofM, to CD from A, My projection ofM3 to DA from
B, Ms projection ofM4 to ABfrom C, etc. Prove thaili3 = M.
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8.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

(butterfly theorem) Pointgl andN belong to the circlé. Let P be the midpoint of the chord
MN, and letABandCD (A andC are on the same side BIN) be arbitrary chords d passing
throughP. Prove that line#\D andBC intersectVIN at points that are equidistant frafn

Given a trianglBC, let D andE be the points of the sidesB andAC respectively such that
DE||BC. LetP be an interior point of the trianglaDE. Assume that the lineBP andCP
intersectDE atF andG respectively. The circumcircles dfPDG and APFE intersect aP
andQ. Prove that the pointg, P, andQ are colinear.

(IMO 1997 shortlist) LeA1A2Az be a non-isosceles triangle with the incentdretCi, i = 1,
2, 3, be the smaller circle throughtangent to bot\ A 1 andAjA . 2> (summation of indeces
is done modulus 3). La®;, i =1, 2, 3, be the other intersection point@f ; andC;, ». Prove
that the circumcenters of the trianglegB1 |, AoB>l, AzBsl are colinear.

Given a trianglABC and a poinfT, let P andQ be the feet of perpendiculars fromto the
linesABandAC, respectively. LeRandSbe the feet of perpendiculars frofito TC andT B,
respectively. Prove that the intersectiorRRandQSbelongs tdBC.

Given a trianglABC and a pointM, a line passing througl intersectsAB, BC, andCA at
Cy1, A1, andBy, respectively. The lineAM, BM, andCM intersect the circumcircle oAABC
repsectively ai,, By, andC,. Prove that the lines; Az, B1B,, andC;C; intersect in a point
that belongs to the circumcircle afABC.

LetP andQ isogonaly conjugated points and assume th&P,P; and AQ1Q,Qs are their

pedal triangles, respectively. L&§ = P.Q3NP3Q2, Xo = PLQ3 N P3Q1, X3 = PIQ2NPQ1.
Prove that the point&;, X, X3 belong to the lind>Q.

If the pointsA andM are conjugated with respect kp then the circle with diametekM is
orthogonal tck.

From a poinA in the exterior of a circlé two tangentAM andAN are drawn. Assume that
K andL are two points ok such thatA,K, L are colinear. Prove th&lN bisects the segment

PQ.

The pointisogonaly conjugated to the centroid is calledlemuarpoint. The lines connected
the vertices with the Lemuan point are cal®gnmediansAssume that the tangents frddn
andC to the circumcircld™ of AABC intersect at the poir®. Prove thatAP is a symmedian
of AABC.

Given a triangl&BC, assume that the incircle touches the siHEsSCA, AB at the pointM,
N, P, respectively. Prove th&M, BN, andCP intersect in a point.

LetABCDbe a quadrilateral circumscribed about a circle. MetN, P, andQ be the points of
tangency of the incircle with the sidéd3, BC, CD, andDA respectively. Prove that the lines
AC, BD, MP, andNQ intersect in a point.

LetABCDbe a cyclic quadrilateral whose diagonAlS andBD intersect a; extensions of
the sidesABandCD atE; the tangents to the circumcircle frofandD atK; and the tangents
to the circumcircle aB andC atL. Prove that the points, K, O, andL lie on a line.

LetABCD be a cyclic quadrilateral. The linesB andCD intersect at the poinE, and the
diagonalsAC andBD at the pointF. The circumcircle of the triangleAAFD and ABFC
intersect again d. Prove tha EHF = 90°.
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6 Solutions

1. LetT = ACNBD. Consider the sequence of the perspectivities

PQRS%BDT S%QPRS
Since the perspectivity preserves the cross-t#i® Q; R, S) = Z(Q,P;R,S) we obtain that
#(P,Q;R,S).
2. Leta = Z/BAC, B = ZCBA y= ZACBand¢ = /BAM. Using the sine theorem chABM
andAACM we get

BM BMAM sing  siny
MC AMCM sinB sin(a —¢)’
Similarly using the sine theorem adhABN and AACN we get
BN BNAN  sin(90°—¢) siny
NC ANCN sin(180 —B) sin(90° +a —¢)
Combining the previous two equations we get
BM BN __ tang
MC NC tana—¢)
Hence|Z(B,C;M,N)| = 1 is equivalent to tagg = tan(a — ¢ ), i.e. top = a /2. SinceB#C

andM # N, the relation/#Z(B,C;M,N)| = 1 is equivalent toZ(B,C;M,N) = —1, and the
statement is now shown.

3. The motivation is the problem 1. Choose a p#nbutsideAB and pointL on AK different
from A andK. LetM = BLNCK andN = BKNAM. Now let us construct a poirld as
D = ABNLN. From the problem 1 we indeed hav€(A,B;C,D).

4. Let us denot® = ASNBC. According to the problem 1 we hav#’(R,S;A,D). Now we
construct the poinD = ASNBC. We have the pointé, D, andS, hence according to the
previous problem we can construct a poiisuch that7#’(A,D; S R). Now we construct
P =BSNCRandQ = CSNBR, which solves the problem.

5. Itis well known (and is easy to prove using Ceva’s theortira) the linesAD, BE, andCF
intersect at a poir (called a Gergonne point @tABC) Let X = BCNEF. As in the problem
1 we have#’(B,C; D, X). If we denoteX’ = BCNPQ we analogously have?’(B,C; D, X’),
henceX = X'.

6. Let us denote =KL, y=LM, z=MN. We have to prove that+y-+ z > 3y, or equivalently
X+z>2y. SinceZ(K,N;L,M) =% (B,C;D,E), we have

X X+Yy

y+z'  z

2l 2l

|
B &l

NI =

QUL
||

=

implying 4xz= (X+Y)(y+ 2).
If it werey > (x+ z)/2 we would have

X+ >§x+}z—2}
Y= 3XT3%7 4

and analogously+z > 2{/xzzzas well agx+Y)(y+z) > 4xzwhich is a contradiction. Hence
the assumptiogy > (X+ z) /2 was false so we hawe< (x-+2)/2.

Let us analyze the case of equalityyH= (x+2)/2, then &z= (X+Y)(X+2) = (3x+2)(X+
3z) /4, which is equivalent t¢x — z)2 = 0. Hence the equality holdsxf=y = z. We leave to
the reader to prove that=y = zis satisfied if and only ifp || BC.

(X4 X4 X+ 2Z) > 2/XXXZ



Milivoje Luki¢: Projective Geometry 7

7.

10.

LetE = ABNCD, F = ADNBC. Consider the sequence of perspectivities
ABEM, >FBCM, 5DECM; %DAFM,; -EABM. (8)

According to the conditions given in the problem this seaaeof perspectivites has two
be applied three more times to arrive to the pdhis. Notice that the given sequence ol
perspectivities mapAto E, E to B, andB to A. Clearly if we apply (8) three times the points
A, B, andE will be fixed while M1 will be mapped tdVl13. ThusM; = Mas.

LetX’ be the point symmetric t¥ with respect tdP. Notice that

ZM,N;X,P) = Z(M,N;RPY) (from MNXP %MNAC >MNPY)
= Z(N,M;P,X’) (the reflection with the centd? preserves
the ratio, hence it preserves the cross-ratio)
1

— _ S/
= ZNMXP) =2Z(M,N; X", P),

where the last equality follows from the basic propertieshef cross ratio. It follows that
X=X

Letd = DQNBP, K = EQNCP. If we prove thatlK || DE this would imply that the triangles
BDJ andCEK are perspective with the respect to a center, hence witleceps an axis as
well (according to Desargue’s theorem) which immediateiplies thatA, P, Q are colinear
(we encourage the reader to verify this fact).

Now we will prove thatIK||DE. Let us denot& = DENPQ. Applying the Menelaus theorem
on the trianglddT Q and the linePF we get

NBTE
i .

Similarly from the trianglee T Qand the linePG:

EKOPTE
KGPTGE

Dividing the last two equalities and usiyl - TG=FT - TE (T is on the radical axis of the
circumcircles ofADPG and AFPE), we get

55 EX
QK
ThusJK || DE, g.e.d.

Apply the inversion with the respect ko We leave to the reader to draw the inverse pictur
Notice that the condition thatis the incentar now reads that the circumcird¢sy’, ;| are of
the same radii. Indeed R is the radius of the circle of inversion andhe distance between
| andXY then the radius of the circumcircle #fIX*Y* is equal toR?/r. Now we use the
following statement that is very easy to prove: "lkgt ko, k3 be three circles such that all
pass through the same polntout no two of them are mutually tangent. Then the centers
these circles are colinear if and only if there exists anotbenmon pointl # | of these three
circles.”

In the inverse picture this transforms into proving thatlthesA; B3, A5B5, andA;B; intersect
at a point.



11.

12.

13.
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In order to prove this it is enough to show that the correspansides of the triangle&]A5A%
andB;B;B; are parallel (then these triangles would be perspectivenegpect to the infinitely
far line). Afterwards the Desargue’s theorem would implgittthe triangles are perspective
with respect to a center. L&} be the incenter oA’ A" ,l, and letQ; be the foot of the
perpendicular fronh to P’ , P’ ,. Itis easy to prove that

1A, =2Q1Q; = —PiP;.
Also since the circles A’ ;I are of the same radii, we ha#P; || B1B3, henceAjA; || BiB.

We will prove that the intersectiofiof PRandQSlies on the lineBC. Notice that the points
P, Q, R, Sbelong to the circle with cent&T. Consider the six point, S R, T, P, Q that lie
on a circle. Using Pascal’s theorem with respect to the dragr

we get that the point8, C, andX = PRN QSare colinear.

First solution, using projective mappingket A3 = AMNBC andB3; = BMNAC. Let X be
the other intersection point of the lig A, with the circumcirclek of AABC. Let X’ be the
other intersection point of the lir&; B, with k. Consider the sequence of perspectivities

ABCX % A3BCA 5 ABCB; 2 ABCX

which has three fixed poings B, C, henceX = X’. Analogously the lin€,C, containsX and
the problem is completely solved.

Second solution, using Pascal’s theoressume that the linéy A, intersect the circumcircle
of the trianlgeABCat A, andX. Let XB, NAC = B]. Let us apply the Pascal’s theorem on thi
pointsA, B, C, Ay, By, X according the diagram:

Bo Ay C

It follows that the pointsA;, B}, andM are colinear. Henc8| € A;M. According to the
definition of the poinB; we haveB] € AChenceB] = AiMNAC= B;. The conclusion is that
the pointsX, By, By are colinear. Analogously we prove that the poXi&£,, C, are colinear,
hence the lineg; Az, B1B,, C1C; intersect aX that belongs to the circumcircle of the triangle
ABC.

It is well known (from the theory of pedal triangles) thpdal triangles corresponding to
the isogonally conjugated points have the common circwigiso callegedal circleof the
pointsP andQ. The center of that circle which is at the same time the mialpai PQ will

be denoted byR. LetP; = PPLN Q1R andP, = PRN Q2R (the pointsP; andP; belong to the
pedal circle of the poinP, as point on the same diametergasandQ, respectively). Using
the Pascal’s theorem on the poi@s, P, P, Q2, Py, P; in the order shown by the diagram
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Py 24 Q1

we get that the pointB, R, X; are colinear oX; € PQ. Analogously the pointX,, X3 belong
to the linePQ.

14. Letus recall the statement according to which the cirdenvariant under the inversion with
respect to the circliif and only if | = kor| L k.

Since the poinM belongs to the polar of the poiAtwith respect tck we have/MA*A = 90°
whereA* = ¢y (A). ThereforeA* € | wherel is the circle with the radiudAM. Analogously
M* € 1. However fromA € | we getA* € |*; A* €| yieldsA € |I* (the inversion is inverse to
itself) hencey (A*) = A). Similarly we getM € I* andM* € |*. Notice that the circlesand
I* have the four common poinfs A*, M, M*, which is exactly two too much. Hené¢e= |*
and according to the statement mentioned at the beginningpweludel =k or | 1 k. The
casd = k can be easily eliminated, because the cifdlas the diametekM, andAM can’t be
the diameter ok becausé andM are conjugated to each other.

Thusl 1k, g.e.d.
15. LetJ=KLNMN, R=1NMN, X, =1 NAM. SinceMN is the polar ofA fromJ € MN we get

A (K,L;J,A). FromKLJA % PQRX, we also have#’ (P,Q;R, X, ). This implies thaR is the
midpoint of PQ.

16. LetQ be the intersection point of the liné$ andBC. Let Q' be the point oBC such that the
ray AQ is isogonal to the raaQin the triangleABC. This exactly means thatQ’AC= ZBAQ

i /BAQ = ZQAC.
For an arbitrary poinX of the segmenBC, the sine theorem applied to trianglBaX and
XACyields

BX BXAX sinZBAXsinZACX sinZACXsinZBAX  ABsinZBAX
XC AXXC sinZABXsinZXAC sinZABXsinZXAC ACsinZXAC

Applying this toX = Q andX = Q' and multiplying together afterwards we get

BQBQ ABsin/BAQABsIn/BAQ  AB?

QCQC ACsinZQACACsSInZQAC AC? ©)

Hence if we proveBQ/QC = AB?/AC? we would immediately havBQ /Q'C = 1, making
Q' the midpoint ofBC. Then the lineAQ is isogonaly conjugated to the median, implying th
required statement.

SinceP belongs to the polars @& andC, then the point8 andC belong to the polar of the
point P, and we conclude that the polar Bfis preciselyBC. Consider the intersectidd of
the lineBC with the tangent to the circumcircle At Since the poinD belongs to the polars
of AandP, AP has to be the polar d. Hences#(B,C; D, Q). Let us now calculate the ratio
BD/DC. Since the triangleABD andCAD are similar we hav8D/AD = AD/CD = AB/AC.
This impliesBD/CD = (BD/AD)(AD/CD) = AB?/AC?. The relation#(B,C; D, Q) implies
BQ/QC = BD/DC = AB?/AC?, which proves the statement.

17. The statement follows from the Brianchon’s theoremiapgtb APBMCN

18. Applying the Brianchon’s theorem to the hexagdBCPDwe get that the lind1P contains
the intersection oAB andCD. Analogously, applying the Brianchon’s theoremABNCDQ
we get thalNQ contains the same point.
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The Brokard’s theorem claims that the polafFo&= ADNBC is the linef = EQ. Since the
polar of the point on the circle is equal to the tangent at ploatit we know thakK = and,
wherea andd are polars of the point& andD. Thusk = AD. SinceF € AD = k, we have
K € f as well. Analogously we can prove tHat f, hence the pointg, O, K, L all belong to
f.

LetG = ADNBC. Letk be the circumcircle oABCD. Denote byk; andk, respectively the
circumcircles ofAADF and ABCF. Notice thatAD is the radical axis of the circldsandky;
BCthe radical axis ok andky; andFH the radical axis ok; andk,. According to the famous
theorem these three radical axes intersect at one @oiit other words we have shown that
the points~, G, H are colinear.

Without loss of generality assume thatis betweenG andH (alternatively, we could use
the oriented angles). Using the inscribed quadrilatek&l5H andBCFH, we get/DHF =
/DAF = /DACand/FHC = /FBC= /DBC, hence/sDHC = /DHF + /FHC = Z/DAC+
/DBC=2/DAC= /DOC. Thusthe point®, C, H, andO lie on a circle. Similarly we prove
that the point#\, B, H, O lie on a circle.

Denote byks andk, respectively the circles circumscribed about the quaeridsABHOand
DCHO. Notice that the linéAB is the radical axis of the circldsandks. Simlarly CD and
OH, respectively, are those of the pairs of circl&sky) and(ks,ks). Thus these lines have
to intersect at one point, and that has toEheThis proves that the points, H, andE are
colinear.

According to the Brocard’s theorem we havél 1. OE, which according t&-H = GH and
OE =HE in turnimplies thaGH L HE, g.e.d.
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1 Cross Ratio. Harmonic Conjugates. Perspectivity. Projetivity

Definition 1. Let A, B, C, and D be colinear points. Theoss raticof the pairs of point$A, B) and
(C,D)is
AC AD
Z(A,B;C,D) = : . 1
ABEDIT 58 o8 @

Leta, b, ¢, d be four concurrentlines. For the
given linesp; and p, let us denote, = an p;,

Bi=bnp,C=cnp,Di=dnp,fori=1, 2. A 2
Then
Cil B D
%(A1,B1;C1,D1) = Z(A2,B2iCa.D2).  (2) R alE B
Thus it is meaningful to define the cross ratio
of the pairs of concurrent points as 0,
%’(a, b; C,d) :,@(Al,Bl;C]_,Dl). (3)
Assume that point®y, O, A, B, C, D belong O1
to acircle. Then
D
%(OlA, Oj_B;OlC,OlD)
A
= ,@(OQA, OzB;OzC,OzD). (4) B
C

Hence it is meaningful to define the cross-ratio for cocypbmts as

%(A, B; C, D) = %(O]_A, O]_B; O]_C, O]_D). (5)
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Assume that the pointg, B, C, D are colin-
ear or cocyclic. Let an inversion with centér
mapsA, B, C, D into A%, B*, C*, D*. Then

2%(A,B;C,D) = Z(A*,B*:C*,D*).  (6)

Definition 2. Assume that A, B, C, and D are cocyclic or colinear pointsrgaf points(A, B) and
(C,D) are harmonic conjugate$ Z(A,B;C,D) = —1. We also write77 (A, B;C,D) when we want
to say that(A,B) and(C,D) are harmonic conjugates to each other.

Definition 3. Let each of{ and b be either line or circle.Perspectivitywith respect to the point S
%, is the mapping ofil— |, such that

(i) If either |y or I, is a circle than it contains S;
(i) every point A € |1 is mapped to the point A= OA; Nl>.

According to the previous statements perspectivity presethe cross ratio and hence the hal
monic conjugates.

Definition 4. Let each of{ and b be either line or circle.Projectivityis any mapping fromylto I,
that can be represented as a finite composition of perspgesv

Theorem 1. Assume that the points A, B, C3,0and D, are either colinear or cocyclic. If the
equationZ(A,B;C,D1) = Z(A,B;C,D>) is satisfied, then P= D». In other words, a projectivity
with three fixed points is the identity.

Theorem 2. If the points A, B, C, D are mutually discjoint ané(A,B;C,D) = #(B,A;C,D) then
A (A,B;C,D).

2 Desargue’s Theorem

The trianglesA;B,C; andA;B,C, areperspective with respect to a centéthe linesA;A,, B1Bo,
andC,C, are concurrent. They aperspective with respect to an axishe pointsK = B1C; N B,Cy,
L=ACiNAC,, M = A1B; N AB; are colinear.

Theorem 3 (Desargue).Two triangles are perspective with respect to a center if anly if they
are perspective with respect to a point.

3 Theorems of Pappus and Pascal

Theorem 4 (Pappus). The points A, Ay, Az belong to the line a, and the pointg ,B,, B3 belong
to the line b. Assume that B, NAsB1 = C3, A1B3NAzB1 = Cy, AoB3NA3zB, =C,. Then G, G, G
are colinear.

Proof. DenoteC’2 =C1C3NA3B1, D =A1B,NA3B;, E = AB1NA3By, F =anhb. Our goal is to
prove that the pointS; andC; are identical. Consider the sequence of projectivities:

A3B;1DC, % FB1B,Bs 2 AsEB,C; ¥ A3B;DC,.

We have got the projective transformation of the &8, that fixes the pointés, B;, D, and maps
C, to C,,. Since the projective mapping with three fixed points is thetity we havec, = C;. O
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Theorem 5 (Pascal).Assume that the points AAz, Ag, B1, B, B3 belong to a circle. The pointin
intersections of AB, with AoB1, A1Bs with AzB1, A>B3 with AgB> lie on a line.

Proof. The pointsC), D, andE as in the proof of the Pappus theorem. Consider the sequénc:
perspectivities
AzB1DC, % A3B1B,B3 %2 ASEB,Cy 2 A3B1DC,.

In the same way as above we conclude Gat C5. [

4 Pole. Polar. Theorems of Brianchon and Brokard

Definition 5. Given a circle KO,r), let A* be the image of the pointA O under the inversion with
respect to k. The line a passing through #@nd perpendicular to OA is called tigolar of A with
respect to k. Conversely A is called thele of a with respect to k.

Theorem 6. Given a circle KO,r), let and a and b be the polars of A and B with respect to k. Tt
A e bifandonly if Be a.

Proof. A€ bif and only if ZAB*O = 90°. AnalogouslyB € a if and only if /ZBA*O = 90°, and it
reamins to notice that according to the basic propertiesvafrsion we have’ AB*O = ZBA"O. [J

Definition 6. Points A and B are calledonjugatedvith respect to the circle k if one of them lies or
a polar of the other.

Theorem 7. If the line determined by two conjugated points A and B itetsKO,r) at C and D,
then 7 (A,B;C,D). Conversely if7Z(A,B;C,D), where CD € k then A and B are conjugated with
respect to k.

Proof. Let C; andD; be the intersection points @A with k. Since the inversion preserves the
cross-ratio andZ(Cy,D1; A A*) = #(Cq1,D1; A", A) we have

%(C]_,Dl;A,A*). (7)

Let p be the line that contain and intersectk atC andD. LetE = CC,NDD4, F =CD; NDC;.
SinceC; D1 is the diameter ok we haveCiF L D1E andD1F LC1E, henceF is the orthocenter of
the triangleC;D1E. LetB=EFNCD andA* = EFNC;D;. Since

C;D1AA* SCDABSD1CAA
have.# (C1,D1; A, A*) and.# (C,D; A, B). (7) now implies two facts:

1° From 2 (Cy,D1;A,A%) and 5 (Cy,D1; A, A*) we getA* = A*, henceA* € EF. However,
sinceEF 1.C,D1, the lineEF = ais the polar ofA.

2° For the pointB which belongs to the polar & we haves# (C,D;A,B). This completes the
proof. ]

Theorem 8 (Brianchon’s theorem). Assume that the hexagonA&AzA1AsAs is circumscribed
about the circle k. The lines;A4, AcAs, and AAg intersect at a point.
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Proof. We will use the convention in which the points will be denobgdcapital latin letters, and
their repsective polars with the corresponding lowercagers.

Denote byM;, i = 1,2,...,6, the points of tangency &A1 with k. Sincemy = A/A;1, we
haveM; € a;, M; € a1, hencegy = M;_1M;.

Letb; = AjAj13, ] =1,2,3. ThenBj = ajNaj 3 = Mj_1Mj N M;;3Mj 4. We have to prove
that there exists a poim such thatP € by, by, bs, or analogously, that there is a lieesuch that
B1,B2,B3 € p. In other words we have to prove that the poiBisB,, B are colinear. However this
immediately follows from the Pascal’s theorem appliettdVisMsM4MgM,. O

From the previous proof we see that the Brianchon’s theoseabiained from the Pascal’s by
replacing all the points with their polars and all lines bgitk poles.

Theorem 9 (Brokard). The quadrilateral ABCD is inscribed in the circle k with cenD. Let
E =ABNCD, F=ADNBC, G=ACNBD. Then O is the orthocenter of the triangle EFG.

Proof. We will prove thatEGis a polar ofF. Let
X =EGNBCandY = EGNAD. Then we also
have

ADY F =BCXF % DAYF,
which implies the relations?’(A,D;Y,F) and
' (B,C;X,F). According to the properties of
polar we have that the poin¥ andY lie on a
polar of the point~, henceEG is a polar of the B\ X JC
pointF.

SinceEG is a polar ofF, we haveEG1OF. Analogously we hav&G1OE, thusO is the
orthocenter oANEFG. [J

5 Problems

1. Given a quadrilateréBCD, let P = ABNCD, Q =ADNBC, R=ACNPQ, S=BDNPQ.
Prove thatZ’(P,Q;R,S).

2. Givenatriangl&BCand a poiniM onBC, letN be the point of the lin8C such that MAN =
90°. Prove that7’(B,C; M, N) if and only if AM is the bisector of the angléBAC.

3. LetA andB be two points and le€ be the point of the linéB. Using just a ruler find a point
D on the lineAB such that’# (A, B;C, D).

4. LetA, B, C be the diagonal points of the quadrilatePEDRS or equivalentlyA = PQN RS
B=QRNSP,C=PRNQS If only the pointsA, B, C, S, are given using just a ruler construci
the pointsP, Q, R.

5. Assume that the incircle @akABCtouches the sideBC, AC, andABatD, E, andF. LetM be
the point such that the circle incscibed inABCM touchesBC at D, and the sideBM and
CM atP andQ. Prove that the lineEF, PQ, BC are concurrent.

6. Given a triangléABC, let D andE be the points oC such thaBD = DE = EC. The linep
intersectAB, AD, AE, AC atK, L, M, N, respectively. Prove th&N > 3LM.

7. The pointM; belongs to the sid&B of the quadrilaterahBCD. Let M, be the projection of
M; to the lineBC from D, M3 projection ofM, to CD from A, My projection ofM3 to DA from
B, Ms projection ofM4 to ABfrom C, etc. Prove thaili3 = M.
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8.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

(butterfly theorem) Pointgl andN belong to the circlé. Let P be the midpoint of the chord
MN, and letABandCD (A andC are on the same side BIN) be arbitrary chords d passing
throughP. Prove that line#\D andBC intersectVIN at points that are equidistant frafn

Given a trianglBC, let D andE be the points of the sidesB andAC respectively such that
DE||BC. LetP be an interior point of the trianglaDE. Assume that the lineBP andCP
intersectDE atF andG respectively. The circumcircles dfPDG and APFE intersect aP
andQ. Prove that the pointg, P, andQ are colinear.

(IMO 1997 shortlist) LeA1A2Az be a non-isosceles triangle with the incentdretCi, i = 1,
2, 3, be the smaller circle throughtangent to bot\ A 1 andAjA . 2> (summation of indeces
is done modulus 3). La®;, i =1, 2, 3, be the other intersection point@f ; andC;, ». Prove
that the circumcenters of the trianglegB1 |, AoB>l, AzBsl are colinear.

Given a trianglABC and a poinfT, let P andQ be the feet of perpendiculars fromto the
linesABandAC, respectively. LeRandSbe the feet of perpendiculars frofito TC andT B,
respectively. Prove that the intersectiorRRandQSbelongs tdBC.

Given a trianglABC and a pointM, a line passing througl intersectsAB, BC, andCA at
Cy1, A1, andBy, respectively. The lineAM, BM, andCM intersect the circumcircle oAABC
repsectively ai,, By, andC,. Prove that the lines; Az, B1B,, andC;C; intersect in a point
that belongs to the circumcircle afABC.

LetP andQ isogonaly conjugated points and assume th&P,P; and AQ1Q,Qs are their

pedal triangles, respectively. L&§ = P.Q3NP3Q2, Xo = PLQ3 N P3Q1, X3 = PIQ2NPQ1.
Prove that the point&;, X, X3 belong to the lind>Q.

If the pointsA andM are conjugated with respect kp then the circle with diametekM is
orthogonal tck.

From a poinA in the exterior of a circlé two tangentAM andAN are drawn. Assume that
K andL are two points ok such thatA,K, L are colinear. Prove th&lN bisects the segment

PQ.

The pointisogonaly conjugated to the centroid is calledlemuarpoint. The lines connected
the vertices with the Lemuan point are cal®gnmediansAssume that the tangents frddn
andC to the circumcircld™ of AABC intersect at the poir®. Prove thatAP is a symmedian
of AABC.

Given a triangl&BC, assume that the incircle touches the siHEsSCA, AB at the pointM,
N, P, respectively. Prove th&M, BN, andCP intersect in a point.

LetABCDbe a quadrilateral circumscribed about a circle. MetN, P, andQ be the points of
tangency of the incircle with the sidéd3, BC, CD, andDA respectively. Prove that the lines
AC, BD, MP, andNQ intersect in a point.

LetABCDbe a cyclic quadrilateral whose diagonAlS andBD intersect a; extensions of
the sidesABandCD atE; the tangents to the circumcircle frofandD atK; and the tangents
to the circumcircle aB andC atL. Prove that the points, K, O, andL lie on a line.

LetABCD be a cyclic quadrilateral. The linesB andCD intersect at the poinE, and the
diagonalsAC andBD at the pointF. The circumcircle of the triangleAAFD and ABFC
intersect again d. Prove tha EHF = 90°.
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6 Solutions

1. LetT = ACNBD. Consider the sequence of the perspectivities

PQRS%BDT S%QPRS
Since the perspectivity preserves the cross-t#i® Q; R, S) = Z(Q,P;R,S) we obtain that
#(P,Q;R,S).
2. Leta = Z/BAC, B = ZCBA y= ZACBand¢ = /BAM. Using the sine theorem chABM
andAACM we get

BM BMAM sing  siny
MC AMCM sinB sin(a —¢)’
Similarly using the sine theorem adhABN and AACN we get
BN BNAN  sin(90°—¢) siny
NC ANCN sin(180 —B) sin(90° +a —¢)
Combining the previous two equations we get
BM BN __ tang
MC NC tana—¢)
Hence|Z(B,C;M,N)| = 1 is equivalent to tagg = tan(a — ¢ ), i.e. top = a /2. SinceB#C

andM # N, the relation/#Z(B,C;M,N)| = 1 is equivalent toZ(B,C;M,N) = —1, and the
statement is now shown.

3. The motivation is the problem 1. Choose a p#nbutsideAB and pointL on AK different
from A andK. LetM = BLNCK andN = BKNAM. Now let us construct a poirld as
D = ABNLN. From the problem 1 we indeed hav€(A,B;C,D).

4. Let us denot® = ASNBC. According to the problem 1 we hav#’(R,S;A,D). Now we
construct the poinD = ASNBC. We have the pointé, D, andS, hence according to the
previous problem we can construct a poiisuch that7#’(A,D; S R). Now we construct
P =BSNCRandQ = CSNBR, which solves the problem.

5. Itis well known (and is easy to prove using Ceva’s theortira) the linesAD, BE, andCF
intersect at a poir (called a Gergonne point @tABC) Let X = BCNEF. As in the problem
1 we have#’(B,C; D, X). If we denoteX’ = BCNPQ we analogously have?’(B,C; D, X’),
henceX = X'.

6. Let us denote =KL, y=LM, z=MN. We have to prove that+y-+ z > 3y, or equivalently
X+z>2y. SinceZ(K,N;L,M) =% (B,C;D,E), we have

X X+Yy

y+z'  z

2l 2l

|
B &l

NI =

QUL
||

=

implying 4xz= (X+Y)(y+ 2).
If it werey > (x+ z)/2 we would have

X+ >§x+}z—2}
Y= 3XT3%7 4

and analogously+z > 2{/xzzzas well agx+Y)(y+z) > 4xzwhich is a contradiction. Hence
the assumptiogy > (X+ z) /2 was false so we hawe< (x-+2)/2.

Let us analyze the case of equalityyH= (x+2)/2, then &z= (X+Y)(X+2) = (3x+2)(X+
3z) /4, which is equivalent t¢x — z)2 = 0. Hence the equality holdsxf=y = z. We leave to
the reader to prove that=y = zis satisfied if and only ifp || BC.

(X4 X4 X+ 2Z) > 2/XXXZ
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LetE = ABNCD, F = ADNBC. Consider the sequence of perspectivities
ABEM, >FBCM, 5DECM; %DAFM,; -EABM. (8)

According to the conditions given in the problem this seaaeof perspectivites has two
be applied three more times to arrive to the pdhis. Notice that the given sequence ol
perspectivities mapAto E, E to B, andB to A. Clearly if we apply (8) three times the points
A, B, andE will be fixed while M1 will be mapped tdVl13. ThusM; = Mas.

LetX’ be the point symmetric t¥ with respect tdP. Notice that

ZM,N;X,P) = Z(M,N;RPY) (from MNXP %MNAC >MNPY)
= Z(N,M;P,X’) (the reflection with the centd? preserves
the ratio, hence it preserves the cross-ratio)
1

— _ S/
= ZNMXP) =2Z(M,N; X", P),

where the last equality follows from the basic propertieshef cross ratio. It follows that
X=X

Letd = DQNBP, K = EQNCP. If we prove thatlK || DE this would imply that the triangles
BDJ andCEK are perspective with the respect to a center, hence witleceps an axis as
well (according to Desargue’s theorem) which immediateiplies thatA, P, Q are colinear
(we encourage the reader to verify this fact).

Now we will prove thatIK||DE. Let us denot& = DENPQ. Applying the Menelaus theorem
on the trianglddT Q and the linePF we get

NBTE
i .

Similarly from the trianglee T Qand the linePG:

EKOPTE
KGPTGE

Dividing the last two equalities and usiyl - TG=FT - TE (T is on the radical axis of the
circumcircles ofADPG and AFPE), we get

55 EX
QK
ThusJK || DE, g.e.d.

Apply the inversion with the respect ko We leave to the reader to draw the inverse pictur
Notice that the condition thatis the incentar now reads that the circumcird¢sy’, ;| are of
the same radii. Indeed R is the radius of the circle of inversion andhe distance between
| andXY then the radius of the circumcircle #fIX*Y* is equal toR?/r. Now we use the
following statement that is very easy to prove: "lkgt ko, k3 be three circles such that all
pass through the same polntout no two of them are mutually tangent. Then the centers
these circles are colinear if and only if there exists anotbenmon pointl # | of these three
circles.”

In the inverse picture this transforms into proving thatlthesA; B3, A5B5, andA;B; intersect
at a point.



11.

12.

13.
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In order to prove this it is enough to show that the correspansides of the triangle&]A5A%
andB;B;B; are parallel (then these triangles would be perspectivenegpect to the infinitely
far line). Afterwards the Desargue’s theorem would implgittthe triangles are perspective
with respect to a center. L&} be the incenter oA’ A" ,l, and letQ; be the foot of the
perpendicular fronh to P’ , P’ ,. Itis easy to prove that

1A, =2Q1Q; = —PiP;.
Also since the circles A’ ;I are of the same radii, we ha#P; || B1B3, henceAjA; || BiB.

We will prove that the intersectiofiof PRandQSlies on the lineBC. Notice that the points
P, Q, R, Sbelong to the circle with cent&T. Consider the six point, S R, T, P, Q that lie
on a circle. Using Pascal’s theorem with respect to the dragr

we get that the point8, C, andX = PRN QSare colinear.

First solution, using projective mappingket A3 = AMNBC andB3; = BMNAC. Let X be
the other intersection point of the lig A, with the circumcirclek of AABC. Let X’ be the
other intersection point of the lir&; B, with k. Consider the sequence of perspectivities

ABCX % A3BCA 5 ABCB; 2 ABCX

which has three fixed poings B, C, henceX = X’. Analogously the lin€,C, containsX and
the problem is completely solved.

Second solution, using Pascal’s theoressume that the linéy A, intersect the circumcircle
of the trianlgeABCat A, andX. Let XB, NAC = B]. Let us apply the Pascal’s theorem on thi
pointsA, B, C, Ay, By, X according the diagram:

Bo Ay C

It follows that the pointsA;, B}, andM are colinear. Henc8| € A;M. According to the
definition of the poinB; we haveB] € AChenceB] = AiMNAC= B;. The conclusion is that
the pointsX, By, By are colinear. Analogously we prove that the poXi&£,, C, are colinear,
hence the lineg; Az, B1B,, C1C; intersect aX that belongs to the circumcircle of the triangle
ABC.

It is well known (from the theory of pedal triangles) thpdal triangles corresponding to
the isogonally conjugated points have the common circwigiso callegedal circleof the
pointsP andQ. The center of that circle which is at the same time the mialpai PQ will

be denoted byR. LetP; = PPLN Q1R andP, = PRN Q2R (the pointsP; andP; belong to the
pedal circle of the poinP, as point on the same diametergasandQ, respectively). Using
the Pascal’s theorem on the poi@s, P, P, Q2, Py, P; in the order shown by the diagram
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Py 24 Q1

we get that the pointB, R, X; are colinear oX; € PQ. Analogously the pointX,, X3 belong
to the linePQ.

14. Letus recall the statement according to which the cirdenvariant under the inversion with
respect to the circliif and only if | = kor| L k.

Since the poinM belongs to the polar of the poiAtwith respect tck we have/MA*A = 90°
whereA* = ¢y (A). ThereforeA* € | wherel is the circle with the radiudAM. Analogously
M* € 1. However fromA € | we getA* € |*; A* €| yieldsA € |I* (the inversion is inverse to
itself) hencey (A*) = A). Similarly we getM € I* andM* € |*. Notice that the circlesand
I* have the four common poinfs A*, M, M*, which is exactly two too much. Hené¢e= |*
and according to the statement mentioned at the beginningpweludel =k or | 1 k. The
casd = k can be easily eliminated, because the cifdlas the diametekM, andAM can’t be
the diameter ok becausé andM are conjugated to each other.

Thusl 1k, g.e.d.
15. LetJ=KLNMN, R=1NMN, X, =1 NAM. SinceMN is the polar ofA fromJ € MN we get

A (K,L;J,A). FromKLJA % PQRX, we also have#’ (P,Q;R, X, ). This implies thaR is the
midpoint of PQ.

16. LetQ be the intersection point of the liné$ andBC. Let Q' be the point oBC such that the
ray AQ is isogonal to the raaQin the triangleABC. This exactly means thatQ’AC= ZBAQ

i /BAQ = ZQAC.
For an arbitrary poinX of the segmenBC, the sine theorem applied to trianglBaX and
XACyields

BX BXAX sinZBAXsinZACX sinZACXsinZBAX  ABsinZBAX
XC AXXC sinZABXsinZXAC sinZABXsinZXAC ACsinZXAC

Applying this toX = Q andX = Q' and multiplying together afterwards we get

BQBQ ABsin/BAQABsIn/BAQ  AB?

QCQC ACsinZQACACsSInZQAC AC? ©)

Hence if we proveBQ/QC = AB?/AC? we would immediately havBQ /Q'C = 1, making
Q' the midpoint ofBC. Then the lineAQ is isogonaly conjugated to the median, implying th
required statement.

SinceP belongs to the polars @& andC, then the point8 andC belong to the polar of the
point P, and we conclude that the polar Bfis preciselyBC. Consider the intersectidd of
the lineBC with the tangent to the circumcircle At Since the poinD belongs to the polars
of AandP, AP has to be the polar d. Hences#(B,C; D, Q). Let us now calculate the ratio
BD/DC. Since the triangleABD andCAD are similar we hav8D/AD = AD/CD = AB/AC.
This impliesBD/CD = (BD/AD)(AD/CD) = AB?/AC?. The relation#(B,C; D, Q) implies
BQ/QC = BD/DC = AB?/AC?, which proves the statement.

17. The statement follows from the Brianchon’s theoremiapgtb APBMCN

18. Applying the Brianchon’s theorem to the hexagdBCPDwe get that the lind1P contains
the intersection oAB andCD. Analogously, applying the Brianchon’s theoremABNCDQ
we get thalNQ contains the same point.
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19.

20.
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The Brokard’s theorem claims that the polafFo&= ADNBC is the linef = EQ. Since the
polar of the point on the circle is equal to the tangent at ploatit we know thakK = and,
wherea andd are polars of the point& andD. Thusk = AD. SinceF € AD = k, we have
K € f as well. Analogously we can prove tHat f, hence the pointg, O, K, L all belong to
f.

LetG = ADNBC. Letk be the circumcircle oABCD. Denote byk; andk, respectively the
circumcircles ofAADF and ABCF. Notice thatAD is the radical axis of the circldsandky;
BCthe radical axis ok andky; andFH the radical axis ok; andk,. According to the famous
theorem these three radical axes intersect at one @oiit other words we have shown that
the points~, G, H are colinear.

Without loss of generality assume thatis betweenG andH (alternatively, we could use
the oriented angles). Using the inscribed quadrilatek&l5H andBCFH, we get/DHF =
/DAF = /DACand/FHC = /FBC= /DBC, hence/sDHC = /DHF + /FHC = Z/DAC+
/DBC=2/DAC= /DOC. Thusthe point®, C, H, andO lie on a circle. Similarly we prove
that the point#\, B, H, O lie on a circle.

Denote byks andk, respectively the circles circumscribed about the quaeridsABHOand
DCHO. Notice that the linéAB is the radical axis of the circldsandks. Simlarly CD and
OH, respectively, are those of the pairs of circl&sky) and(ks,ks). Thus these lines have
to intersect at one point, and that has toEheThis proves that the points, H, andE are
colinear.

According to the Brocard’s theorem we havél 1. OE, which according t&-H = GH and
OE =HE in turnimplies thaGH L HE, g.e.d.
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